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Abstract 

 

 The research aims to study (1) the social and economic features of small investors on 
un-smoked rubber sheet production (2) the production system on un-smoked rubber sheet of 
small investors (3) costs and returns on un-smoked rubber sheet production of small investors 
and (4) problems and threats of the production system on un-smoked rubber sheet of small 
investors. The data is comprised of 2 parts, which are the primary and secondary data. The  
primary data was collected from 3 investors according to the production sizes; small, medium  
and large in Rattaphum District, Songkhla Province. The personnel interview was compiled 
through the structured questionnaires. The descriptive statistics is applied for the data analysis.   
 The results are summarized as details. The investors are male and household leaders. 
The age is in the workforce range. They are Buddhists, bachelor degree and secondary level 
educated. The respondents are married status. The household members are 3-5 people. The 
business operation is sole proprietorship. The investors have experienced in un-smoked  rubber 
sheet production well. Previously, they traded field latex as middlemen. Once they foresee the 
business future of un-smoked rubber sheet, they turn to be un-smoked  rubber sheet producers, 
then. The raw material suppliers are rubber farmers and local collectors. The workforce is 2-4 
people due to machinery application. The daily wage is 200-250 baht per head. The production 
procedures are described as following. The respondents receive field latex, filter, pour into the 
latex container or vTakongw, add water and diluted formic acid, stir well, and wait for latex to 
be coagulated in the sheet form for 30-45 minutes. The wet sheets like tofu will be transferred 
to roll into the automatic rubber roll machine with 5 rollers. The thickness is about 3-4 
millimeters. The un-smoked rubber sheet will be air-dried for 2 days and further wind-dried for 
2 days before selling.      
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 In fact, the costs of un-smoked rubber sheet production faced by the small investors 
are described as details. The large investors face the production cost of un-smoked rubber sheet 
production at 95.36 baht a kilogram. The fixed cost is 0.36 baht a kilogram while the variable 
cost is 95.00 baht a kilogram. The small investors face the production cost of un-smoked rubber 
sheet production at 92.34 baht a kilogram. The fixed cost is 0.79 baht a kilogram while the 
variable cost is 91.55 baht a kilogram. The medium investors face the total production cost at 
89.90 baht a kilogram. The total fixed cost is 0.47 baht a kilogram while the variable cost is 
89.43 baht a kilogram. The small, medium, and large investors earn net profits from the 
production at 6.63, 9.07, and 3.61 baht a kilogram respectively. The break-even quantities are 
6,625.03, 7,699.08, and 26,877.58 kilograms a year respectively. If the prices of un-smoked 
rubber sheet and field latex increase 30%, all sizes of investors earn higher net profits. On the 
other hand, if the prices of un-smoked rubber sheet and field latex decrease 30%, all sizes of 
investors earn less return.        
 Problems and threats on un-smoked rubber sheet production of the small investors are 
described as details. All types of the investors encounter the problem regarding the damp 
rubber sheets in the high level during the rainy season. The problems regarding the higher price 
of field latex is offered to the medium and large investors. In addition, high interest rate and 
water shortage are found with the large investors. However, the other problems, which are rated 
in the moderate level, are unstable rubber price, and far ramps. Finally, the problems, which are 
rated in the low level, are the fact that the investors are unskilled in un-smoked rubber sheet 
production and not well informed of un-smoked rubber sheet information in order to plan the 
production properly. 
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 1  � 3 �����&���8,98+�:�����������+� �(��	)� ��25��&�&�5+�:	)�7:2�! 2545 ��
�:9�
'� �&�	
�������������9��	
:	5�,��<)���2��:2����*�� ��&��
�	
��
��25��5+��(*�������� 7+&
:+���+����+	�������:�
�:'(�5�':9����� �9������*'�<)� ���*� �9 ��=:��-���'����4��:> 7+&
8+�:?	@A>�����*�B �<���
��-:=8+-�<*��(*�,� � -9���:���-	�'��+,���������	�'���<)� ��� -9 �
�! 2551 '(��)��(*�+,���������	)�-'� 16,718,145 ��2 (�4�
	�5��	����, 2553) ��4<��+���! 2551 
���������+���9��&�
�	
�C�-���������4�4������D��&�-�	���'���� 7+&�=���  �2�8+ -9
�=:��-���'����4��:>��9'(������+�+��9��+& 20-30 ( �'��'����������, 2551) 8,98+�:���
�4��:> 7+&8,97���,���������&+���������9����G��'��:��(* �9���-�	
���8+�:���+9��4��:> 
�?�5���@>�	��+2�5�<���
��C��	�����	��(*�2�8+ -9���������	
+�+� :	)�7:2�! 2551- ��4<��+���! 
2552 7+&����	)���
�:9�'����������+����*'HIJ�:	5 ���'�@�5�':9���������<�'���<)�
:�'+���	
 ����������*'��	
:	5�,��<)���2��:2����*����,2 ��&�	
���� 100 
�� :2����+��	' ������ 
'�4=���� 2553 

���7���,�����������'�	)����:������'7���,���
����782���
 -+	������5�5����
��(���� 7+&��K
�5
�5'�)�����������5���� �7:2+&��9���97+95 �K�&����)�������'�������
782���
 ������*':	)�7:2����)�������'����� �� �2:&�� 8�'�)�� 8�'��� �'�*��)�����7�K�:	5�K
���'��-�(�
�95���9� -9��
�782�
�� �����9��	���(���(�
  2-3 ��	)� �����9��	���(���� 1 ��	)� +9���)�� 
�����8<*� ��+��7�9�����'2 -94,�7��7��'���	� ��&'�@ 1 5	� ����	)����'�8<*��59 :9-+	��� 
-��� :94=�
9���(� 5-6 5	� 7+95�5
�5'������782���
�����:�'�9���	
L�)���� �-',2
9��  �
:��
+ -��� �����?� 7:2���8+�:���������:�����9��&�
�C�-� �-+��B �9�� ������2� ���
782���
�(*���:���8+�:��9'(�=@?��:*�� ��� '(�5�'��!����)��,� '(��*������� �782���� �5�'-��
���782�����'2��9'�:���� L<*����:����'2�2�� -9�5�'����	� ����8+�:����	)��( ���*�����
���:���:9������5�'�&�5� 7+&�5���K5 ����8+�:7+&������-�2��  ��@&�(*���:����&
������������:2�����9������ ���*����������&�'���=@?���������2��9����+���	)���9
��&�'����
����782���
�=@?��:*�����*� -9�����	
L�)� ��&�	
:*�� 
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����(*���:����&8+�:���782���
 -9'(�=@?���,��	)� �&:9��'(:9��=� ����8+�:�,��<)� 
���*������&:9��'(�5�'+&��(�� ��	)�:�����8+�: ���*� -9���782���
�(*8+�:��9'(�����5�'-��
�(*�'*����'� '(��*��������9�� 7+&�&:9�� �9�5+� ������K
�	������*��(*�&+��5�'��!����)� �782�
��� L<*��'�*���(�
�	
������-�2���)��������	)� ���:�����'��4�(*�&���-�2��8+8+�:��9�	��(���
�'2:9��82����&
5����7���,� �2�8+ -9 ��C��=
	����:���-	�'����-�2��8+8+�:������� �
�,�7

�)�������'���<)� ���:���'(�5�'�&�5� �������-�2��8+8+�:��9�����	��(  +����4,�
����	�������(�
����2��9����+�� ���:����(*��+(*�����������7+&������782���
'���
����
����)�������'(����5�'���(*�'2-5��+	
'�������782���
�(��+� �'252� �
���25��������782�
��
�&�,��52��)�������'���K:�' 

����9�',+������&',+L�)�����)������� 7+&���782���
 @ :+���+��������� ����?�
-�� -�2 �	�-5	����+�:	)�7:2�! 2545 4<��! 2553 (����	����:+���+��������� ����?�-�� -�2, 
2553)  �
52��25� -�2���782���
�&'(�����,��52��)�������7�
�=��25��5+� �&'(��(���25��9��
�(*�)��������&'(�����,��52����782���
 7+& �5	��(* 1 '�4=���� 2553 �������782���
�,��52�
�����)�������4<� 12.87 
��:2����+��	' �95��5�'7:�:2�������)������� 7+&���782���
�()��� 
��
��-:= -9�	�+��=�����2���+K��-K�8+����� ����8+�:���782���
 7+&:	���� ����G=�������
7���,��)���������
����782���
'���<)� ����D��& �����?��	:?,'� �	�-5	����+� L<*���
���)��(*
�<���'(��)��(*�+,�������� ����5� 83,312 ��2 ���:����9��+& 80 ���-�2�� ��,�7

�)������� 
7+&�9��+& 20 ���-�2�� ��,����782���
 (����	��������=�������&->�������5���� ����?�  
�	:?,'�, 2553) �25��	�+��=�����2���(*�	
L�)��)�������'�7���,���
����782���
�	)� 8,95��	���9
:�5���
�9�',+ ���)��(*�
52�'(����5��	)�-'� 7 ��� 

����<������*���&

���8+�:���782���
����	�+��=�����2�� : ��@(�<��� ����?�    
�	:?,'� �	�-5	����+��() �<�'(�<)����*�:�
���4�'52� +	��@&�?���	��'7+&�������� ���8,9+��=�
8+�:���782���
����2�� ��
���2����   �&

���8+�:���782���
'(+	��@&���������������2���� 
:9��=�7+&8+:�
7�����8+�:���782���
:2����+��	'����	�+��=�����2��'(�2���2��� 7+&���
��&��
G=�������782���
����	�+��=�����2��'(�C�-�7+&�=�������2����  ���>�5�'�,9�(*��9
������5��	�  ���52��&��
���&����>:2��	�+��=�����2�� ����8+�:���782���
 -9'(
��&���G�?��7+&������&����>�,��=�:2��� 
 
1.2 ����������������	������ 

����<������*���&

���8+�:���782���
����	�+��=�����2�� : ��@(�<��� ����?�     
�	:?,'� �	�-5	����+� '(5	:4=��&���>�(*����	� �	��() 
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1.2.1 ���*��<���+	��@&����	��'7+&������������	�+��=�8+�:���782���
����2��            
 �����?��	:?,'� �	�-5	����+� 

1.2.2 ���*��<����&

���8+�:���782���
����	�+��=�����2��  �����?��	:?,'� 
�	�-5	����+� 

1.2.3 ���*��<���:9��=�7+&8+:�
7�����8+�:���782���
����	�+��=�����2��  �
����?��	:?,'� �	�-5	����+� 

1.2.4 ���*��<����C�-�7+&�=���������&

���8+�:���782���
����	�+��=����
�2�� �����?��	:?,'�  �	�-5	����+� 
 
1.3 ���!������	������ 

 �����<����&

���8+�:���782���
����	�+��=�����2�� : ��@(�<��� ����?��	:?,'�  
�	�-5	����+� 8,95��	���9���-����
��: �9����)��(*�<��� :	5��2���(*��
���@(�<���  ���)�-� 7+&
�&�&�5+������K
�9�',+�	��() 

1.3.1 ��)��(*�<��� ��� ����?��	:?,'� �	�-5	����+� ���*�����'(���:�����5�5�
��������9��+& 80 ���-�2��8+8+�: ��,��)������� (����	��������=�������&->�������5���� 
����?��	:?,'�, 2553) 7+&������:�5���
�9�',+ ��&�	
��)��(*�
52� '(�	�+��=�����2��7���,�
�)���������
����782���
����5� 7 ��� 

1.3.2 :	5��2���(*��
���@(�<��� ��� �	�+��=�8+�:���782���
����2��  �����?��	:?,'�
�	�-5	����+� ���8,95��	��+�����@(�<���7

���&�� (Purposive Selection)  ����5�  3 ��� ����(*
'(�	)�-'� 7 ��� (L<*���
��9�',+�(*8,95��	�:�5���
 ��&�	
��)��(*) �	��()  

1) �����+K�����5� 1 ���  '(���'�@���8+�:���782���
�9���52�  500 782�:2�5	� 
2) �����+������5� 1 ��� '(���'�@���8+�:���782���
 501] 1,000 782�:2� 5	� 
3)  ���� -�2����5� 1 ��� '(���'�@���8+�:���782���
'���52� 1,000 782�:2�

5	�  
1.3.3 ���)�-��(*�<��� 8,95��	����-����
��:�59�	��()   

1)  ����<����&

���8+�:���782���
 8,95��	���9���&��K��C��	������9� ��&
5����
8+�: 7+&8+8+�: (Input - Process - Output) ���'(���+&��(���	��() 

1.1) �C��	������9� -'��4<�����5
�5'�)������������5�5� ���'�@�5�'
:9������)������� -  ����	
L�)��)������������5�5� ] ����	���K
�)������� 

1.2) ���8+�:���782���
 -'��4<� ���8+�:���782���
 ��������)������� ���
:5��)����� �2:&�� ���8�'�)���	
�)������� ����+��� �9�)�����7+&���8�'�)����� ��)����� 
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����5��H����� ����	
:	5782���� ���+9���95��)���&��� ����(�782�����95�����*���(�-��
 
�(���(�
 7+&�(����:�'+���	
  ���8<*�782���� -97-9� 

1.3) 8+8+�: -'��4<�8+8+�:���782���
 �����K
�	������782���
 ������
������-�2�� 

2) ����<���:9��=�7+&8+:�
7�����8+�:���782���
 8,95��	���9��	)�:9��=�8	�
7�� 7+&:9��=����(* :9��=��(*��
�������7+&:9��=��(*�'2��
������� ����'2���8+:�
7�� �
�25��(*��
��������(*7���?��'����H����� �25�����<����C�-��=����� ����8+�:���782�
��
����	�+��=�����2�� 8,95��	� �9'�:�5	��&�	
�C�-���
� 3 �&�	
 ����C�-��&�	
'�� ���
�+�� 7+&�9��   

1.3.4 8,95��	���������K
�5
�5'�9�',+��'?,'� (Primary Data ) �&-52������� G	�5��' 
2553 ] ����� �='?��	�G> 2554 
 
1.4 ���#�$������	%�&	��'%(��� 

���>�5�'�,9�(*��9�������<��� ���	)��() ���52��&��
���&����>:2��	�+��=�8+�:���
782���
 8,9�(*�� ���9�'����G=����8+�:���782���
 ���*�����8,95��	���9�<������+&��(��:2��B �(*
�2��� �����&

���8+�:���782���
�59�2���9��+&��(�� :+��4<��C�-�7+&�=��������8+�:
���782���
  ��9�'�	)���9����7�&���*���
���&����> ����8+�:���782���
 L<*���'��4�����
��
�7�5��� ������&�=�:> �9��9���� �����������G=����8+�:���782���
��2���	*���� 
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����� 2 
�	��������!���	� 

 
  ���:�5���
������ �
��() 8,95��	���9�5
�5'7+&��(�
��(��
��5�'7+&���5��	� �
��&��K�:2��B �(*'(8,9�<����597+95'���&��
 ���*� �9��
����
7�5��� �����<��� 7+&7�5���
 ����*���(*������5��	� ������7�����:�5���
�����������
� 3 �25��	��() 

2.1 ���>�5�'�,9�(*��(*�5�9���	
�&

���8+�:���782���
 
2.2 �d�e(�(*��(*�5�9���	
:9��=������������:�> 
2.3 ���5��	��(*��(*�5�9��  

 
2.1   ������	
�)(���!������(����������	�*+���	�,*&�%�� 

���>�5�'�,9�(*��(*�5�9���	
�&

���8+�:���782���
 ��&��
�95� �	)�:�����8+�:���
782���
 7+& '�:�����=@?�����782���
 

2.1.1 ��-�����	�*+���	�,*&�%��  
���8+�:���782���
�=@?���(�	)� '(-+	�����2��B ��� ������ -9�&��� �(�782���� -9


��  �9�)��7+&�)����� -94,��25� L<*�'(5�G(���7+&�	)�:�����8+�:�	��() (�	�:����>  ��������, 
2551) 

1) ����	���K
�)������� ?���&�(*����	
�)��������&:9���&�����2� -9'(��*������
�5� �94	��(*'(f��g��&�5� 7+&�h���	���*������������ ��)����� 49��)�����'(��*��������&��� -9

,���(���K5�<)�7+&�����)�������� �'�*��5
�5'�)�����+� �24	�7+95 -9�����������782��	��( 
����&��*�75�+9�'?����� ��2� �5�'�9�� ����� ���)�7
��(��(� �&��� -9����������
,���K5�<)� 

2) ��������)����� �'�*��:�(�'7+&����5�'�&����=���@>:2��B ��(�
�9��7+95  -9
�����)������95�����*������+5��
��> 40 7+& 60 ���*����������*��������� ���5������*��
����L9���	�����	)�  -9����
��> 40 �59�9��
� �
��> 60 �59�9��+2�� -+	�����	)� -9:5��)������(*
������(�
�9��7+95 �2:&���(*�&���  ����'�@ :&��+& 3 +�:� ������8�'�)���	
�)����� ����:�'
�)���&���+� �:&���(* �2�)������597+95:&��+& 2 +�:� �&��9�	:���25�8�'�&-52���)������	
�)��
 ��	:���25� 3 :2� 2 

3) ������ -9���7�K�:	5 �:�(�'����(*�&8�' -9�)������	
:	5 ��� �9���H��>'��
(85%-90%) 10 L(L( + �)�� 600 L(L( -��� �9�����&'�@ 1 �9��7�� :2��)�� 2 ��&�k���'�9� �25�
���L	+H,��� '(�	:�����8�'��� ���L	+H,��� 98% 12 L(L( + �)�� 1,200 L(L( -+	�����	)��2���(*�&�� 
15 L(L( �)������(*8�'�)��7+95+���8�'�)����� �:&�� -9 �9 
����5��)����� �:&�� 1-2 ��(*�5
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����&��)��59����)������&+���<)��,98�5�)��  7+95�2��B ���)�������:�'�5�'��5���:&����� �9
 
���+����'� 6 ��(*�5 -9�)�����8�'��9��	
�)��������	*5 ��� �9 
����)������()�&����H���<)� 
 -9 �9 
����5��H�� -9-'�7+95�2��B �9��H�����L<*�H������()�&��
��()����	)��(:2��� ��)�
�59��&'�@ 30-45 ���(�)������&�	
:	57+&��'��4������5���9 7:2�2���(*�&������+����5� 
�5�����)��-+2��59�=�:&�����*��&�5� ����������7�2����������:&�� 

4) ������782���� ��)��(*L<*��& �9 �������782�����5���
��:l&����)� -����:l&
�����(:�,�95���&�
�)����+��
 �2��5��7�2�����5��&+9���:l& -9�&��� ����5��5��5��95�
'��-��� �9�'9�+':�'4�	� ����5���
�5�G(����	)�:9��(*�&���782���� -9�5���' �5��5� -9
782����-����&'�@ 1 �L�:��':� 

5)  �����9�����*���(� +9��782���� -9�&��� 7+95���782������9�����*���(���(�

��&'�@ 3 ��	)���� -9782����-����&'�@ 3-4 '�++��':� 7+95�<������9�����*���(���� 1 ��	)� 
7+95�����+9���)������=2'+��� ���2�-���4	��)�� 49�-��������782��95����H��>'�� �5�7�2�)����� 
��&'�@ 30 ���( 49� �9���L	+H,����&:9��7�2����59��&'�@ 3 �	*5�'� 7+&7�2 -9�)���25'782�
����95� ���*�+9���)�������� ���782�����(*+9�������8<*� ��(*�2'�'2'(f=m�+&��� ����&�	*�782�
����&��K��)�������&'�@ 6 �	*5�'� �<���K
�5'�5'���782��������59
���5 ����������(*
�����42������9�&�5� +	��@&������782��=@?���( 782�����&:9���&��� �'2'(������

�)�����-����-�(�5���)'�'�*����2���,:9���'2'(��*������-����=��2����� ����)����782�:9��
�����
'(�5�'-���D+(*� 2.8 ] 3.2 '�++��':� ���)����7-9� � �(���782�����'*����'� �(��(�5�	�:+��
782� 

2.1.2  
	��.	���/0	1�	�,*&�%�� 
'�:�����=@?�����782���
��
�'�:�����(*��5�5������'��4������n�
	:����*� -9

��'��4������'�����(*:+���������7+&��9����:��:�''�:����L<*�7
2���
� 4 �	)��	��() (�	�G�
:�� ����=@, 2545) 

$�-���� 1  
1) 782����'(�5�'�&���7+&�������H�������:+��782� 
2) '(�5�'��)� �782�����'2���� 1.5 ����>�LK�:> 
3) '(�5�'���-�=2��( 7+&'(+�������2��	�:+��782� 
4) 782����
�� '(�5�'-�����782�����'2���� 3 '�++��':� 
5)  ���)����7-9� � '(�(�5��'*����'�:+��782� +	��@&�(�-+������-����-+���
 �2�� �'2'(�(�+)��-�������2����� 
6) '(�)��-�	��D+(*�:2�782� 800 ] 1,200 ��	' 
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7) 782������
��,��(*�-+(*�'8��89� �����59�� 38 ] 46 �L�:��':� �5�'��5 80 ] 90 
 �L�:��':� 

$�-���� 2 
1) 782����'(�5�'�&���:+��782� -��� ���'(��*������7+&H���������,2 �
 782������9
9���+K��9�� 
2) '(�5�'��)� �782�����'2���� 2 ����>�LK�:> 
3) �5�'���-�=2��( 7+&+�������2��	� 
4) 782����
��7+&'(�5�'-�����782�����'2���� 4 '�++��':� 
5) ���)����7-9�'(�(�'*����'�:+��782� +	��@&�(�2���9���+)��-������'(����2�����
 ��9
9���+K��9�� 
6) '(�)��-�	��D+(*�:2�782� 1,000 ] 1,200 ��	' 
7) 782������
��,��(*�-+(*�'8��89� �����59�� 38 ] 46 �L�:��':�  �5�'��5 80-90 
 �L�:��':� 

$�-���� 3 
1) 782����'(�5�'�&��� -��� ���'(��*������7+&H���������,2 �782������9
 
9���+K��9�� 
2) '(�5�'��)� �782�����'2���� 3 ����>�LK�:> 
3) �5�'���-�=2��( 7+&+�������2��	� 
4) 782�����2���9��-�� 7+&'(�5�'-�����782�����'2���� 4 '�++��':� 
5) ���)����7-9�'(�(�+)���2���9���<
 �'2���2� ���2��(*�5� 
6) '(�)��-�	��D+(*�:2�782��'2���� 1,500 ��	' 
7) 782������
��,��(*�-+(*�'8��89� �����59�� 38 ] 46 �L�:��':��5�'��5 80-90 
 �L�:��':� 

$�-���� 4 
1) 782����'(�5�'�&��� -��� ���'(��*������7+&H���������,2 �782������9
 
9���+K��9�� 
2) '(�5�'��)� �782�����'2���� 4.5 ����>�LK�:> 
3) �5�'���-�=2��( 7+&+�������2��	� 
4) 782�����2���9��-�� 7+&'(�5�'-�����782�����'2���� 4 '�++��':� 
5) ���)����7-9�'(�(�+)���2���9���<
 �'2���2� �2 
6) '(�)��-�	��D+(*�:2�782��'2���� 1,500 ��	' 
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7) 782������
��,��(*�-+(*�'8��89� �����59�� 38 ] 46 �L�:��':�  �5�'��5 80-90 
 �L�:��':�  

 
2.2   �234����!������(������(����5��	�!6�3.6	����   

�'
,�@>  ��������&:�&�,+ (2537) ��9���7����&�?����:9��=����8+�:�����
� 2 
+	��@&-+	�B ��� :9��=�8	�7��7+&:9��=����(* �	
:9��=��(*��
�������7+&:9��=��(*�'2��
�����
�� 7+&���5�����&->�����������:�>��� �9����9�',+:9��=����8+�: ���'(���+&��(���	��() 

2.2.1 �(����*��,�� ,+��(��������� 
1) :9��=�8	�7�� (Variable Cost) ��
�:9��=�-����2� �9�2�� ����8+�:�(*����&

���*'�<)�-���+�+��K��9 �	)��()�<)���,2�	
���:	���� ����8,98+�:��
�����	� :9��=�8	�7���<)���,2�	

���'�@���8+�: �+2�5��� 49�8+�:'��:9��=� ��25��()�K�&'���95� 49�8+�:�9��:9��=� ��25��()�K
�&�9���95�  ����8+�:���782���
:9��=�8	�7����97�2 �2� �9�2�� ����L�)��)������� �2��)����� 
�2��HHh� �2�7����� �2��)����&��  ��
�:9� -���5'�2� �9�2�� �7:2+&�������	��+2�5��9��95��	� 
�K�&��9:9��=�8	�7���	)�-'� (Total Variable Cost: TVC) ������8+�: 

2) :9��=����(* (Fixed Cost) -'��4<� :9��=�-����2� �9�2�� ����8+�:�(*������� 
���'(�C��	����(* ���&
5����8+�: 7+&:9��=��(*�()�&�����<)���'� �'252��C��	����(*�	��+2�5�&4,�
 �9-����'2�K:�' -����+2�5��952� ���&
5����8+�:8+8+�:����-�<*��(*'(�C��	����(*�	)� �'252�
8,98+�:�&8+�:'��-����9��-����'28+�:�+� 8,98+�:�K�&:9����(��2� �9�2�� ��25��() �����5��(*���(*
����5�-�<*���'� �&�'2��+(*��7�+�:�'���'�@���8+�: :9��=����(*�&�����<)��	
��&
5����
8+�: ��&�&�	)���2��	)� 7+&8,98+�:�'2��'��4�5
�='�������'	���9 ��&�&�	)��	��+2�5 :9��=�
���(*�	)�-'� (Total Fixed Cost : TFC) -���9�������5
�5'�2� �9�2��:2��B ���:9��=����(*�=�
��������9��95��	� :	5��2���2� �9�2���(*��
�:9��=����(* ��97�2 �2����*�'���� �2�?��(�(*��� �2� �9�(*��� 
�2�����
()������,9�(*8,�:���	
�C��	����(* ���&
5����8+�: ��
�:9� 
  -�����:9��=�8	�7���	)�-'� (TVC) '��5'�	
:9��=����(*�	)�-'� (TFC)�(*
�����<)������&
5����8+�: �K�&��9:9��=��	)�-'� (Total Cost :TC) 

2.2.2   �(�������!�7�!����%,+��(�������'
&!�7�!����% 
1) :9��=��(*��
������� (Cash Cost) ��
�:9��=�-����2� �9�2���(*�����<)�7+&8,98+�:��9

�2�������� ������L�)�7+&�	�-��C��	����8+�::2��B '� �9 ���&
5����8+�: :9��=��(*��
�����
�������<)���9�	)� ��25����:9��=�8	�7��7+&:9��=����(* :9��=��(*��
������� ��25����:9��=�
8	�7�� ����8+�:���782���
 ��2� �2� �9�2�� ����L�)��)������� �2��)����� �2��)��'	����)���+�� 
�2�7�����
���25����8+�: �2�����
()������,9�&�&�	)�?�� � 1 �! -��� 1 d�,��+8+�: �2�L2�'7L'
����*���	�� ����*��'���(*����������8+�: ��
�:9� 
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 �25�:9��=��(*��
������� ��25����:9��=����(* ��2� �2�?��(�(*����(*8,98+�::9��
�2�� -9�	
�	� �2���2��(*��� �2�����
()������,9�(*8,�:���	
�C��	����(* �2�
���=��	�������*���	������*��'��
�(*��������<)�7'9�&�'2'(���8+�: �2�?��(7+&�2���&�	�:2��B 

2) :9��=��(*�'2��
������� (Non-Cash Cost) ��
�:9��=�-����2� �9�2���(*�����<)����
��� �9�C��	����8+�::2��B ���&
5����8+�:7:2��
��2� �9�2���(*8,98+�:�'2��9�2�������� L<*�
�� 
��	)�'(�����(��:9��=������()52�:9��=����
	� :9��=��(*�'2��
��������()�&�����<)���9�	)� ��25����
:9��=�8	�7�� 7+&:9��=����(* :9��=��(*�'2��
������� ��25����:9��=�8	�7�� ����8+�:���
782���
 ��2� �2��)������� ���@(�(*8,98+�: �9�)�����������5����:	5��� �2�7����� ����
��	5
�(* �9 ��	)�:��:2��B �����&
5����8+�: �2���(������ ���� �9�����=�-'=��5(�� L<*�������
:9��=�8	�7���	)�-'��(*��
��������,@�95��	:������
()�����f����'��	��>:�'�&�&�5+����  
5	n�	�����8+�: L<*� ��(*�()-'��4<� 1 �! 
 �25�:9��=��(*�'2��
������� ��25����:9��=����(* ��2��2����*�'��������*���	�� 
����*��'���(* �9 ����8+�: �2���(���������-�	
�����=��(* �9 ����L�)�����*���	������*��'�� �2� �9
�(*��� 

2.2.3 �	���!��	�8��	�!6�3.6	����#%�5$(.	��(�
)+�(�����	�*+�� 
 �'
,�@> ��������&:�&�,+ (2537) ��9��=����5�����&->�����������:�>��� �9�9�',+
:9��=����8+�: L<*�'(���+&��(���	��() 

1) �����9�=�G� (Net Return) ��������9������8+�:�-���:9��=�8	�7���	)�-'� 
�����9������8+�:�K���8+�,@�&-52������8+8+�:�	
8+8+�: 

2) ������=�G� (Net Profit) -'��4<� �����9������8+�:�-���:9��=��	)�-'� L<*���
�  
���5�����&->�����������:�>�(*�����@�52�-��+��=�������8+�:��7+95�&��9�����-�������=� 
����& ��25����:9��=��&�5'�2� �9�2�� ����8+�:�=���2�� �	)��(*��
�������7+&�'2��
�������  
 Paul and Philip (1996) ��9��=����5�����&->�=��=9'�=� (Break Even Point ) � 2 
��&��K� ���  

1) 8+8+�:�=9'�=� (Break-Even Yield)  L<*���
�����<����5�'�	'�	�G>�&-52�� 
���'�@���8+�: :9��=����8+�:  7+&8+����� ���*� -9���
4<����'�@���8+�:��2��� �(*�����9
������8+�:��2��	
�2� �9�2�� ����8+�:�	)�-'����( 

2)  �����=9'�=� (Break-Even Price)  L<*���
�����<����5�'�	'�	�G>�&-52������ 
���'�@���8+�: :9��=����8+�:  7+&8+����� ���*� -9���
4<������(*��2���  �(*�����9������8+�:
��2��	
�2� �9�2�� ����8+�:�	)�-'����( 
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���-���9����'����	��() 
       TR   =  TC 
       (P*Q)  =  TVC + TFC 
       (P*Q)  =  (AVC * Q)  + TFC 
   (P*Q) ] (AVC * Q)  =  TFC 
   Q(P-AVC)    =  TFC 
       Q   =  TFC / ( P ] AVC )  
 ����(*  
  Q   =  ���'�@�(*8+�:��9 @ �=��=9'�=� '(-�25���
����+��	':2��! 
  P    =  ���� '(-�25���
�
��:2����+��	' 
  TFC  =  :9��=����(*�	)�-'� ����8+�: '(-�25���
�
��:2��! 
  AVC =  :9��=�8	�7���D+(*� ����8+�: '(-�25���
�
��:2����+��	' 
     
2.3 �	���������!������(�� 

���5��	��(*��(*�5�9���	
����<�����	)��() 8,95��	���9�5
�5'�9�',+�=:��?,'� L<*���
����5��	��(*
��(*�5�9���	
���8+�:���782���
 ���'(���+&��(���	��() 

�
���+ $&	��	��9 (2543) ��9�<������*�����5�����&->����������������������	��� 
���8+�:���782��-��@>����=��5����
2��)���9'����	� �	�-5	����+����'(5	:4=��&���>���*�
�<��� (1) �?�����8+�:7+&���:+��������������&������ (2) 5�����&->�������������
�-��@>����=��5����
2��)���9'����	� �	�-5	����+�  (3) 5�����&->:9��=�7+&8+:�
7�����
����������������	������8+�:���782�����-��@>����=��5����
2��)���9'����	� �	�-5	�
���+� ���5�����&->��� �9:9��=�7+&8+:�
7����
������� �������(�
��(�
�����9�=�G����
���������&-52�� 2 ����+������ ��@(�(*�	�+��=��2���9��������7���,����782��'�5	�'�
 -9
�-��@> �5
�5'�)�������������:���'�7���,� (��@('(�������) �	
��@(�(*����'������	

L�)����782���
������:���'�7���,� (��@(�'2'(�������)  

8+����<����
52� ���:���8,98+�:��������25� -�2��
����:�������2��'(�25����
�����+K� �'2'(����5'�+=2'���*����8+�:���782���
���:�� ���:����25� -�2�'2��'��4��9��
�������� 7+&L�)��=���@>�(*'('�:������9 �(��	)����'5�G(���8+�:�'2�	��'	� ��� -9���782���
�(*
8+�:��9'(�=@?��:*�� :+��������������&���������7����9  2 �25� ��� :+�� ���&���7+&
:2����&��� :+�� ���&��� ��&��
�<)��95�8,9��� �����5�5���� 7+&��
�8,9L�)�L<*���
��2��9�
��� ��&�	
:2��B �	� :	)�7:2 �2��9���2 �2��9� �-',2
9�� �2��9� ��'��� 7+&8,9�2���� �?��:+��'(
+	��@&���:+��8,9L�)� �25�:+���������:2����&��� ����(*8+�:��9��'��4���-�2����
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:2����&�����9 2 5�G( ��� ���-�2�� -98,9 �9���:�� -������-�2��82��:+���������+��K��9  :+��
�������+����7����
� 2 +	��@& ��� :+���(*:	)��<)����*������5�':9�����8,98+�: ��97�2:+��
+25�-�9��������> 7+&:+���	5+�+	'����> 7+&:+�����*������5�':9�����8,9
���?� ��97�2 
:+����5���>� +����� :+��+25�-�9��:��(�5 7+&���
  L<*�:+���	)� 2 +	��@& '(�5�'�	'�	�G>
�	� �����+�*���-5����������:+�� �:+��-�<*��K�&�2�8+��&�
:2�:+����*� B �95�   

�����������������-��@>� �
52�'(���7
2�7��-�9��(* 7+&�5�'�	
8����
�59
�-'�&�'7+&�	���� ����n�
	:������
���:�'-�9��(*�(*��9�	
'�
-'�� ��������������(*82��'�
4��52���&�
8+�����K� ��&�	
-�<*� �'�*��,8+�������������G=����7+95 �-��@>� '(����������
8+�:'���<)����*��B ��� -9���:���'(��������*'�<)� ��2�����K:�'����������G=��������-��@>�	�
��&�
�C�-� �-+���9�� ��2� ���7�+��)���&��� 7+&7-+2��'9HI� ���7�+������=�
-'=��5(���(*�& �9 �������������� �'�����	��'2'(�5�'�,9��(*�5�	
�-��@> ���7�+��=���@> �
�����*���� ��
�:9�  ���5�����&->���������������������:+���&�&�5+� 20 �! �
52��	:��
8+:�
7�� �������������9��+& 10.32 �(*�	:���9��+& 8 ��9',+�2��C��=
	��=�G������������
��
����� 582,732.84 
�� 7+&�	:���25��&-52��8+��9:2��=��������������2��	
 1.009 ��=���9
52���@('(�������'(�=@�2�������������52���@(�'2'(������� 
   ��/8���0	 �(���&�� (2545) ��9�<������*�� ����<���:9��=�7+&8+:�
7�����������
782���
 ��	�-5	��='�� ���'(5	:4=��&���>���*� (1) �<���:9��=����������782���
 ��	�-5	�
�='�� (2) �<���8+:�
7�����������782���
 ��	�-5	��='�� (3) �<����C�-�7+&�=�����
�������5�������� ��	�-5	��='�� �,�7

���5��	���
����5��	���������5��+=2':	5��2�� 
���:�����5�5���������(*8+�:���782���
 �����?�:2�� B ����5� 132 ��� �������	'?��@> 
�4�:��(* �9 ����5�����&->��97�2 �2��D+(*� �5�'4(* �9��+& ����9�',+���
	��(�(*5�����&->��� :9��=�
���(*  :9��=�8	�7���&�&�5+�����=� ',+�2��C��=
	��=�G� �	:��8+:�
7������������ 
�=��=9'�=� 7+&�����=9'�=�:2�-�25� 
   8+���5��	��
52� :9��=�7+&8+:�
7��:2���2��@(�9��7�������(����7+&���782� '(
:9��=� 87,931.10 
�� ��
�:9��=����(* 20,165.85  
�� 7+&:9��=�8	�7�� 67,765.25 
�� ',+�2�
�C��=
	��=�G�8+:�
7�� -1,027.29 
�� �&�&�5+�����=��'�*� 16 �! 3 �����  26 5	� ���'�@��� 
@ �=��=9'�=� 4,243.78 ���+��	' �	:��8+:�
7�������������9��+& 7.28 �����=9'�=�:2�
���+��	' 17.99 
�� :9��=�7+&8+:�
7��:2���2��@(���:�����(����7+&���782���� '(:9��=� 
49,322.19 
�� ��
�:9��=����(* 20,836.36 
�� 7+&:9��=�8	�7�� 28,485.83 
�� ',+�2��C��=
	�
�=�G����8+:�
7�� 12,440.00 
�� �	:��8+:�
7�������������9��+& 15.13 �&�&�5+����
�=��'�*� 10 �! 10 ����� 6 5	� ���'�@��� @ �=��=9'�=� 2,380.41 ���+��	' �����=9'�=�:2����+��	' 
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10.09 
�� �C�-�����������5�������� ����C�-����� �C�-�7����� �C�-�������&�+,� 
7+&�C�-���*�B 
 1��9���	 1�$��/ (2545) ��9�<������*��7�5������8+�:���782���
���*��	����=@?�� 
 �����?��	:?,'� �	�-5	����+� ���'(5	:4=��&���>���*��<��� (1) +	��@&���8+�:���782���
 (2) 
7�5����	����=@?����� �+=2'�(*�������<�����&��
�95���9�����5���� 255 �� 7�����
�	
�9����(���� 278 �� 7+&�	�5��������� 6 �� ����*��'���(* �9 �����<������-�	
��K
�9�',+
��97�2 7

��
4�' 2 �=� L<*� �94�'��9�����5����-�<*��=� 7+&�(�-�<*��=� �94�'7����� 
�������()�K��
�7

�	'?��@>�(* �9�	'?��@>�	�5������ ������5�����&->�9�',+��� �9�2��5�'4(* 
�2��9��+& �2��D+(*� 7+&�2��25��
(*���
�'�:�������-�	
�9�',+�������	'?��@>������5�����&->
�������	��+=2'��
�-'5�-',2:�'��&��K��(*����	� 
   8+����<����
52� �25� -�2��9�����5�7+&7�������
������� '(���= 30-59 �! �25�
7�����'(���=��,2 ��25� 30-49 �! ����<����	)�����+=2''(�&�	
����<��� �&�	
��&4'�<��� 
���-�	
�5�'����-K�:2�:	57���(*'(8+:2��=@?��������782��	)�����+=2''(�5�'�-K���,2 ��&�	

����+����2���(�5�	
�5�'�,9 �����+,��������7+&���8+�:���782��	)�����+=2'�K'(�5�'�,9
�&�	
����+����2���(�5�	� 
 ��9�����5��+2�54<��C�-� ����8+�:���52� ��
��C�-��9��7����� �+2�5��� 7�����
'(�	��&�9��7+&'(+	��@&�=����	��'2�<���&���>��2�����K:�' ��9�����5��25� -�2�K'(�5�'�<�
�� � ��=@?��������:���� ���-�	
7�5�������	����=@?�����782� �	�5�������+2�552�
�5�'(����	�f���
�' -97�2 ��5�5���� ���f���
�'�	)�:9�������2��:2����*�� 7+&�=���	)��'�*�
���K���)����f���
�'7+95:9��'(���:��:�'8+��2��:2����*����2��	� �������()��5�5�����5���9
�5':	5�	���
��+=2' ���*��&��9'(������:2�������� 7+&�5
�='���8+�:������� 
 ���%��%��  ��!+�6 (2546) ��9�<������*�� 8+�����������7+&�	��'�(*����������
��+(*��7�+�7+&�,�7

������8+8+�:�������������782���
��
��)�������  �:��
+���'
�	��� ��*�����?�'&�	� �	�-5	��:,+ ���'(5	:4=��&���>�	��() (1) ���*��<�����(*�5�	
+	��@&���
��������7+&�	��'�����5�5���������(*��+(*��7�+��,�7

������-�2��7

�)�������7+& 
���782���
 (2) ���*��<�������	�����5+�������:�����5�5��������52�'(8+ -9�?���5�'
��
���,2��+(*��7�+�������'����2���� (3) ���*��<����������(�
��(�
�&-52�������)������� 7+&
���782���
 L<*� �����<�����	)��()  �9���5�����&->�	)��������@�� 7+&�������'�@ ���*� -9���

4<����:	���� ����-�2��8+8+�:�������7+&���5��78�������':2��B �9�',+��'?,'���9������
����5��9�',+?�����' ��� �95�G(����+���:	5��2��7

���&�� ��� 4 -',2
9�� L<*���9��D��&
-',2
9���(*���:�����5�5������9��+(*���,�7

������8+8+�:������)�������  ����
�5
�5'�9�',+�	)� �97

��
4�'����������9�� ��������������:������	5����� ��������
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���8+�:������� ������9�������9 7+&�2� �9�2�� ���5�����&->�������@�� '(�������9�',+��'
?,'��(*��9'�5�����&->���*� -9��9�9�',+:��:�'5	:4=��&���> ��� �9�4�:����@�� ��2� �2��D+(*� �9��
+& ���7��7���5�'4(* ���5�����&->�������'�@ L<*� �9�4�:�����'��:��> ���5�����&->�5�'
7:�:2�������������7+&�	��'������:����2��7+&-+	������+(*��7�+��,�7

������
8+8+�:������� ��2� �����9 �����' ���8	�82�� ��
�:9� 

8+������5��	��
52� �5���������(*���:���4�������	)� �25� -�2��
��5��������
�����+K� +	��@&�����(�����<���
�7

��(����'���52�����9����(� ���-:=��������+(*��
�,�7

��������
��)��������	)�'(���-:=-+	� ��� �9��+& 95 �'2�-��*��7+&���������K���K5��
�
�C��	��(*'(8+'���(*�=� ���+�'�����5�'�5���K5 ��������&���� �9��+& 54 ����&:9�������9�	

�����	��(-+	���(�������K� ����'2:9������������
����782�7+&�� -97-9� �������()�	�'(�C��	�
��*�B ��97�2�5�'�&�5� ��'��4�������'� �9�2��������8+8+�:������ -9�����:7�2���:��� 
7+&7-+2��	
L�)��)���������,2 �+9�5�������*������'2:9�����2���+ ���'�@8+8+�:�)�������
7�+��(*���:�����(�����5'�	)����'����(�
��(�
�	
����9����(� ������-�2��8+8+�:�)�������
������:��� �:��
+���'�	����	)� '(7-+2����-�2����,2-+��7-2� �-',2
9������D��&�2��9�
���+��'(����5�'�� 
���+=2'�&�+��������������@���������)����� 7+&���5�����&->�5�'
7:�:2������2��D+(*��������782���
�	
�)�������  ��25� 4-5 �!�(*82��'����:������'������
782����*���� 7:2 � 6-7 �! �(*82��'����:�����+(*��'���
��������)����������-:=����5�'�'2
7:�:2���������'���	� �������782���
�D+(*� ��25��5+��	��+2�5�'27:�:2���	
�����)�������
�D+(*���2��'(�	�����	�����4�:� 7+&�&�-K���952����������
��C��	�-�<*��(*'(8+:2����:	���� �
�+���8+�:�)������� �������'2�-��*��7+95  ����������782���
�	)�'(�	)�:���(*�=2����7+& �9
�5+� ����8+�:'���52� ���:����(*������782���
�& �9�5+� � 1 5	����*�������������'8+�:
������� 10.03 �	*5�'�:2���	5�����  ��@&�(*�������)������� �9�5+���(�� 7.32 �	*5�'�:2�
��	5����� ���:����<�'(�5+� �����	�82����'��4��&��
���(�����' 

�
$	�  !�>����&	� (2548) ��9�<������*������	����=@?�����782���
�9������7+&
�)��-�	� ���'(5	:4=��&���>���*��<��� (1) ��&
5����8+�:���782���
������:���7+&�9�',+�(*
��(*�5�9�� (2) ��&
5�����	���5�G(���8+�:���782���
���5�G(�(�����95�+,��+�)��(� (3) �5�'
��
�����9��������� ����8+�:���782���
�95�5�G(������	�����95�7'2��'�> ���'(5�G(���5��	�
���*� -9����+9��:�'5	:4=��&���>�(*���-�� ��� ��&
5����8+�:���782���
������:���7+&
�9�',+�(*��(*�5�9�� �������<�������7+&�)��-�	�������782���
�(*8+�:������:���  ���:?��
:&5	�����D(���-�������5� 30 ��	5�����B +& 3 782� �<����	)�:�����8+�:���782���
 ����5�
7����� �5+��(* �9 �7:2+&�	)�:����������
4�' �	���: 7+&��
	��<���9�'��K
:	5��2������
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������5�����&->�9�',+ ��=�+���	
�	)�:��7+&5�G(���8+�:���782���
-��5+��D+(*� ����������
7��7:2+&�	)�:��-��5�'��'��4 ����������:2���:2��	*5�'� 
 ��&
5�����	���5�G(���8+�:���782���
���5�G(�(�����95�+,��+�)��(� �������<���
����+=2':	5��2�����:������ �978��������
7

�=2'�'
,�@> 6 L)�� �:�(�'����9����5���
�25�8�'�(*���-�� ������(�:�'5�G(���������:������782����'�������5	�����7+&�)��-�	�
�������<������'�:��)������������ ���*���	
��=��)��-�	�������782���
 -9��9:�''�:���� 
�<����5�'��
�����9��������� ����8+�:���782���
�95�5�G(����	�����95�7'2��'�> ���
�	��:�(�'�)������(*�-'�&�' ��9� 2 7+95���'��:�(�'��
�����9����5 ���'����	
+� �7'2��'�>�(*
���-�� 7+95���782����������5	�����7+&�)��-�	� 

8+����<����
52� L<*�7����
� 3 �	)�:��:�'����<����	��() 
   �	)�:���(* 1 ��&
5����8+�:���782���
������:���7+&�9�',+�(*��(*�5�9�� ����5�
���782���
�(*'(����7+&�)��-�	�82����@A>'�:�����	)� 1 '(�9��+& 5.6 7+&82����@A>'�:����
����	)� 2 4<� 4 '(��(���9��+& 10 L<*�'(���-:='�����)�������������(* �98+�:����9����5'(���'�:�
'�������� ��� -9'(���)����'��:�'���95� �<��2�8+ -9�)��-�	�������782���
����'�:���� 7+&
�������<�����&
5����8+�:���782���
:	)�7:2�	)�:�����*':9� ��������������4<��	)��=��9��
������8<*����782���
 ���:���:9�� �97������D+(*� 3.5 ��:2�5	� ���*��(*�&7���?���)�������
 -9��
����782���
�D+(*� 58 782�:2���	5�����:2�5	� :+��d�,��+8+�:��&'�@ 110 5	�:2��! 

�	)�:���(* 2 ��&
5�����	���5�G(���8+�:���782���
���5�G(�(�����95�+,��+�)��(�L<*�
��
��(*���'�n�
	:� ��C��=
	� 8+����<����
52� �5�+����'�@�)������������+�  -9'(�25�8�'
����)��������������� �)������� : �)���&��� : ������������
� 3,000 : 1,700 : 250 +
. L'. �&���
 -9�)��-�	�������782���
'(�2�:�'��@A>'�:�������-�� 7+&�5���	
��=�5�G(����(�������
�<��	)�782�����@&�(���(�
  -9'(�������782���(�
 (�59�� x ��5 x -��) �D+(*� 442.0, 825.0 7+& 
5.5 ''. :�'+���	
 ���-�	
�����	
��=�����������<��	)������9�95�5�G(���f������<��	)����782� 
��&'�@ 5 782� �K�&��� -9��9782������
�(*'(����:�''�:�������-�� 

�	)�:���(* 3 �5�'��
�����9��������� ����8+�:���782���
�95�5�G(������	�����95�
7'2��'�> 8+����<����
52� ���8+�:���782���
�95�5�G(���	�����95�7'2��'�>'(�5�'��
�����9 
49�-��'(������7

�2������&
���)��������7'2��'�>��2���-'�&�' 7+&�	��
52��������:	5
�����������<)��=������� ����������:	5'(�&�&��� �7:2+&�������'2��2��	� �<���� -9���782�
'(����7+&�,�����'27�2��� 7+&49����7

7'2��'�> -9�5
�='�������:	5��������,2 �
��
��:�(*�-'�&�' �&��� -9��9���782���
�(*'(����7+&�,����:�':9����� ���-�	
���8+�:���
782���
 -9��9����:�''�:�������-��7�&��� -9 �9����9����5���� (�59�� x ��5 x -��) 
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��
� 263.2  766.8 7+& 27.1 ''. :�'+���	
 7+&'(���������'�> (�59�� x ��5 x -��) ��
� 567.3, 
1,157.0 7+& 3.8 ''. :�'+���	
 
   $>��2%� 1��)+�� (2549) ��9�<������*�� ������(�
��(�
:9��=�7+&8+:�
7��������
�+,�������� �&-52�����8+�:7+&���-�2����
��)�������7+&�������782���
������:���8,9
�+,���� ��	�-5	������(G��'������'(5	:4=��&���>���*�����5@:9��=�7+&8+:�
7��
�&-52�����8+�:��
����782���
 7+&���-�2����
��)�������  ��	�-5	������(G��'��� L<*� �9
�9�',+ ����+=2':	5��2�����:���8,9�+,������������=2':�'�5�'�&�5��������5��	)�-'� 70 
��� ������5�����&->�9�',+�������@�� ���*� -9���
4<����>��&��
���:9��=� 7+&�d:����'
:9��=�������:��� 
 8+����<����
52�:9��=�����)�������7+&�������782���
��&��
�95�:9��=� �
����+,��2�����*'��(���� :9��=��2�
���=��	��� ��2��2��=k� �2�������	��	:�,��� :9��=� ����8+�:�)��
������D+(*�:2���2:2��!��2��	
 5,958 
�� �����
��2�7����� 3,375 
�� -����	:��8+:�
7��
������+��=���2��	
�9��+& 54.96 7+&:9��=����8+�:�������782���
�D+(*�:2���2:2��! ��2��	
 
6,882 
�� �����
��2�7����� 3,535 
�� -����	:��8+:�
7��������+��=��9��+& 49.49 �<�
��=���952����:����5�8+�:7+&���-�2����
��)������� ����&�	:��8+:�
7��������+��=��,�
�52����8+�:7+&���-�2����
��������782���
 ���'(�C�-��(*����	�������:���8,9�+,��������
��97�2 ���4,��������)������� 7+&��������=� 7����� 7+&�5�'�,9�9��5��������(*�5�	
������
�5�������� 

���9	� ���8	� (2549) ��9�<����?������������������������8+�:�����������
782��(*'(�����(������52��9��+& 15 7+&:*���52��9��+& 1 ���'(5	:4=��&���>���*��<��� (1) �?��
����������������������8+�:������� ����782� �(*'(�����(������52��9��+& 15 7+&:*���52��9��
+& 1 (2) �5�'7:�:2������?������������������������8+�:�����������782��(*'(�����(�
�����52��9��+& 15 7+&:*���52��9��+& 1  �7:2+&�	)�:�����8+�: (3) �5�':9������5�'
�25��-+��-�����	
��=����?���	����������8+�:�����������782��(*'(�����(������52��9��+& 
15 7+&:*���52��9��+& 1 �����&�����(* �9 ����5��	���	)��() ��� ������8+�:�����������782�
����-��@>����=��������5�����	*5��&���'(����5� 616 ������ ����+=2':	5��2���(* �9 �
���5��	���	)��()��9�������=2':	5��2��7

���&�� ����+����	�-5	� �?�� :9�(*'(���8+�:���'�� 
��� �:,+ :�	� �	�+=� 7+&���+� �5' 4 �	�-5	� ����+����=2'�������(*'(�����(������52��9��+& 15 
����5� 4 ������ 7+&�(*'(�����(�:*���52��9��+& 1 ����5� 4 ������ 7+95�������<����?�����
���������� ����8+�:���*�-����-:=�������,���(� �������*��'���(* �9 ����5��	���
�7


�	���:���@>7+&����	'?��@>7

'(������9��  
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8+����<����
52�'(�?����������������	��2� -9�����C�-� ����8+�:�(*��� -9����
�����(�7��:�'�	)�:�� '( 4 �	)�:�� ��� �	)�:������	
�)����� �	)�:�������� -9�)������	
:	5
��
�782� �	)�:���(�782���� 7+&�	)�:������
/�'��� ����(*������8+�:�����������782��(*'(
�����(������52��9��+& 15 '(�C�-� ��	)�:��:2��B ����	)�:������	
�)�����'(�C�-�����=���@>
�����)������'2'('�:������� -9�'2��'��47��:&����������)�������9 �	)�:�������� -9�)��
����	
:	5��
�782�'(�C�-����*���������782�����'2��2��	� �	)�:������(�782���� '(�C�-����
�?���������=��������*���(� ��� -9�����������<)� �	)�:������
/�'���'(�C�-�����=@-?,'� �
-9���
�'2���(*��� -9�����5�'�'2�'
,�@>������782� 

���9�#$�  ��&�,�(� (2550) ��9�<������*�� ���:�5���
����57+&H�������
�8�57+&
 ����)����782� ���'(5	:4=��&���>���*� (1) -�5�G(���:�5���
����57+&H�������
�8�57+&
 ����)����782� ������ �9��&'5+8+?�� (2) 7��� -9�-K���&
5����:�5���
����5 7+&
H�������
�8�57+& ����)����782��95�����*����'��5�:��>��9 (3) ��&�=�:>�	+�����<' �
���5��	��()�� �9 ������*���9  L<*�7
2����:�5���
�����
� 2 ��&
5������� ��&
5����7�� 
: ���:�5���
����5
�8�5���)����782�  �9���-����'�@��)��(*����=�?���������5���5�G(���
�	��+=2'�=�?��7

�2��(����*'��+(*���=@+	��@&����( ��&

�(7

 RGB ���?��
�8�5���)�
���782� ��&
5�����(*��� : ���:�5���
H������� ����)����782� ��� �9���7��
�=@+	��@&��2������9�7����,��2�� ���7�+�7

�	H ���(�
��(�
�2��(���7��'7+&�2��(
�=�?��?�� ���9�7����,��2�� ��&

�( HSV 

8+����<����
52� ���-����'�@��)��(*�=�?������5 �9����	��+=2'�(�=�?��7

�2��(�
���*'��+(*���=@+	��@&����( ��&

�(7

 RGB 8+����<����
52�  -9��&���G�?�����
:�5���
���?���9��
�4,�:9����&'�@ 100%  �9�5+���&'�@ 1.92 5����(:2�?�� �'�*�
���(�
��(�
�	
���:�5���
�95����:�����	�5�������9��������:����?����(�5�	� -9
��&���G�?��4,�:9����&'�@ 97.73%  �9�5+���&'�@ 2.45 5����(:2�?�� 7+&���:��� -9
��&���G�?��4,�:9����&'�@ 96.21%  �9�5+���&'�@ 2.62 5����(:2�?�� �'�*� �9���:�5���

�95����:��25'�	
��&����	'8	����:�5���
������782� �	�5�������9�����:� -9
��&���G�?��4,�:9����&'�@ 100% �������5��	)�-'�  �9�5+���&'�@ 1.91 5����(:2�782� 
���:��� -9��&���G�?��4,�:9����&'�@ 100%  �9�5+���&'�@ 2.13 5����(:2�782� '(
��&���G�?����2��	
���:�5���
7

�=2'7:2�5+��(* �9'���52� 

���7���=@+	��@&��2������9�7����,��2���95��-	�+,��L2 �9���-��2��5�'��9��,2�	�
�	
:9�7

���*�:�5���
H������� 8+����<����
52� ��'��4 -9��&���G�?�����7��
H�������4,�:9����&'�@ 70.07%  �9�5+���&'�@ 0.28 5����(:2�?�� �'�*� �9������5�G(���
7�+��	H �2��(���7��'7+&�2��(?�� ���9�7����,��2�� ��&

�( HSV �25'�95���� -9
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��&���G�?�����7��H�������4,�:9����&'�@ 91.09%  �9�5+���&'�@ 0.35 5����(:2�?��
7+95���5�G(����()'�������:�5���
H������� ����)����782� 8+����<����
52� -9
��&���G�?�����:�5���
4,�:9����&'�@ 100% ��� �9�5+���&'�@ 7.84 5����(:2�?�� �'�*�
���(�
��(�
�	
���:�5���
�95����:��25'�	
��&����	'8	����:�5���
������782� 
�	�5�������9��������:� -9��&���G�?�����:�5���
��9��&'�@ 100%  �9�5+���&'�@ 
4.47 5����(:2�782� 


/������ �������-�5� (2551) ��9�<������*�� ��� �9�)���9'����,����)��'&��9�5��
����
�25� -9����	
:	5���-�	
���8+�:���782� ���'(5	:4=��&���>���*� (1) �<������7���,��)��
'&��9�5�(*�-+����)����������'&��9�57�95  �9��
��)���9'����,-'	� (2) 5�����&->�=@?��������
782������� �9����	
:	5�(*:2���	� (3) 5�����&->�)����(�������8+�:���782� 5�G(�������������5��	�
������8+�:�)���9'����,-'	����:9����	
���'�@��� �)��:�+ �������>��L> 7+95-'	� -9��
�
7�+����+> ����	)�-'	�:2� -9��
��)���9' ����&-52�����-'	��&:�5�5	����'�@���7�K�+&+��
��9 �5�'��
�����2��7+&���'�@7�+����+> �'�*���9�)���9'����,7+95 �9��+������	
:	5���
������� ��������������782����(�
��(�
�	
�)���9'����,��(�
 �)���9'����,�+	*� 7+&���H��>
'�� �5�'��9'�9� 2.5 7+& 5% �����&�'�� �&�&�5+� �����	
:	5 �5�'����2�� �����5� �(�
7+&�=@?��������782�:�''�:��������4�
	�5��	���� ��'5���������:� ����	)��&
5�����&->�=@?���)����)� ��������������782� :�''�:�����)����)�����������=:��-���' 7+&
���'�=:��-���'  ��	��( �2��5�'��
����-�2�� (pH) �2��5�'���������(5��'( (Biochemical 
Oxygen Demand-BOD)  �2����'�@���7�K�7�5�+���	)�-'� (Suspended Solid-SS) 7+&�2� 
8+�5'��������(�>���:����7+&7�'�'��(����:���� (Total Kjeldahl Nitrogen-TKN) 

8+����<����
52�  ����-'	��	)��(*-�<*����'�@�)��:�+������-'	��)���9'���'�@
���*':9���� 10% Brix �'�*���)��=����-'	�'(�2� 4.0% �25����'�@7�+����+>���*'�<)� 10%  ����
-'	��	)��(*����
52����'�@����)���9'���*'�<)���
� 4.5% 7+&���'�@7�+����+>+��-+�� 0% 8+
�������
�	
����	
:	5������ �
52��)���9'����,-'	� �)���9'����,��(�' �)���9'����,�+	*� �(*'(
����>�LK�:>��� 4.5-5% '(�=@�'
	:��9�������� -9����	
:	5 ����5�7+&�(� �'27:�:2��������
H��>'���(*���:��� �9:�'��:� 7:249��5�'��9'�9� 2.0-2.5% �& �9�5+� �����	
:	5��
������2� 
����(*����5�7+&�(��&��*'�52�7+&782�����(*��9�&��5�<)� 782������
�(*��9�	)�-'��'�*���(�
�	

'�:���������'5���������:��9���5�'�&��� �)��-�	� �(7+&�5�'���-�=2� �
52� �'2'(�5�'
7:�:2���	������� �������(�5�	� ��98+���5�����&->�)����)��
52��)����)� ��	��(�5�'��
����-
�2�� ���'�@���L�����(*�=+����(�> �9 �����2���+����������(�> 7+&���'�@���7�K�7�5�+��
�	)�-'� '(�2��'282����@A>'�:�����)����)�����������=:��-���'7+&���'�=:��-���' ���59�
�	��(�9��8+�5'��������(�>���:����7+&7�'�'��(����:�����(*82����@A>'�:���� 
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 �����1�6� �	�1���� (2551) ��9�<������*�� ����<����	��?��G=�������8+�:�������
782� ��	�-5	�+����� ���'(5	:4=��&���>���*��<��� (1) ��&
5����8+�:7+&:9��=����8+�:
�������782� ��	�-5	�+����� (2) �	��?�����G=�������8+�:�������782�������:��� �
�	�-5	�+����� 7+& (3) �C�-�7+&�=����� ����8+�:�������782�����	�-5	�+����� �9�',+�(*
 �9 �����<�����&��
�95��9�',+��'?,'�7+&�9�',+�=:��?,'� ����(*�9�',+��'?,'���9������
�	'?��@>���:����+=2':	5��2������5� 6 ��� L<*�4,��+����=2''���2��7

���&��������:���8,9
�+,��������:	)�7:2�! 2537  ���)��(*�	�-5	�+�����  �����<����()��97
2��+=2':	5��2�������
� 2 
�+=2' ���8,9�+,�������������+K� (1-50 ��2) ����5� 3 ��� �����+�� (51-250 ��2) ����5� 3 ���  
              8+����<����
52���&
5����8+�:7+&:9��=� ����8+�:�������782� ��&
5����
8+�:������:����+=2':	5��2�� ��	�-5	�+������-'����	
���:��� �?����*�B �����&���
��� L<*���
���:�'���7�&�������4�
	�5��	���� ��'5���������:�  ��25�:9��=����8+�:���
���:����+=2':	5��2��?�� ��&�&�5+� 13 �! �
52� :9��=����8+�:���8,9�+,�������������+K� 
'(:9��=��5'�D+(*���2��	
 3,951.98 
��/��2/�! 7+&��2��	
 18.87 
��/���+��	' �@&�(*8,9�+,�
������������+�� '(:9��=��5'�D+(*���2��	
 4,104.36 
��/��2/�! 7+&��2��	
 18.96 
��/
���+��	' 
             �	��?�����G=�������8+�:�������782�L<*��,���8+:�
7��:2�:9��=��
52� �+=2'8,9
�+,�������������+K��&��98+8+�:�5'�D+(*���2��	
 1256.67 ���+��	':2���2 '(:9��=��5'�D+(*�
��2��	
 51,375.85 
��:2���2 '(�����9������8+�:���782���2��	
 76,947.56 
��:2���2 7+&'(
�	:���25�8+:�
7��:2�:9��=���2��	
 1.49 �@&�(*�+=2'8,9�+,�������������+��'(8+8+�:�5'
�D+(*���2��	
 1,298.32 ���+��	':2���2 '(:9��=��5'�D+(*���2��	
 53,356.80 
��:2���2 '(�����9���
���8+�:�������782���2��	
 78,759.83 
��:2���2 7+&'(�	:���25�8+:�
7��:2�:9��=���2��	
 
1.47   
                �C�-��(*����	� ����8+�:�������782�������:��� ��(��+���	
�5�''���9���(*��9�
 
��97�2 �H�m��-'9�5���� �C�-�:9������(�-�����*������5�'7-9�7+9� �=k�7+&�����'(����	�
�	:�,���'(����7�� �=��	
L�)������,2-2����+ �2����2���������-�2��'(����7�� 7+&7�������(�
����	�����5�'������  
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����� 3 
��9������ 

 
    �
��()���������(*�5�	
�9�',+7+&5�G(����5
�5'�9�',+ �5'�	)�5�G(���5�����&->�9�',+ 
���*� -9��9���:�
:�'5	:4=��&���>�(*���-���59������5��	� �	��() 
 
3.1 �(�
)+,+���9��	������
�(�
)+ 
 8,95��	���9�5
�5'�9�',+�(* �9 ����5�����&-> 2 �25� ��� �9�',+�=:��?,'� (Secondary 
Data) 7+&�9�',+��'?,'� (Primary Data)  

3.1.1 �(�
)+�����0)
� 
 �9�',+�=:��?,'� ��
��9�',+�(*'(8,9�<�����K
�5
�5'�597+95 ��2� ���8+�:���782���
 
'�:�����=@?�����782���
 �d�e(�(*��(*�5�9���	
:9��=������������:�>  7+&���5��	��(*
��(*�5�9�� L<*���
���������&�?�5��	����������5��	� 
��5�'5��	� ?������G> �������G> 
5����� ���������5������:2��B �����9�9��59����7-+2��9�',+:2��B ��97�2 -��'=��=@-���
-+� ���4�5(�=��� -9���'=��@&��������:�> '-�5����+	����+��������> :+�������
��
�9��9�',+���������2������:��>��K��(*��(*�5�9�� 
 3.1.2  �(�
)+�.
0)
�  
 ��
��9�',+��'?,'��(*��K
�5
�5'���?�����' (Field Survey) �������	'?��@>�	�
+��=�8+�:���782���
����2�� ���*� -9
��+=:�'5	:4=��&���>�������<����(*�&
=�59 8,95��	���9
���-����)��(*�(*�<��� :	5��2���(*��
���@(�<��� 5�G(�����K
�5
�5'�9�',+ 7+&���:�5���
�5�'
4,�:9�����7

��
4�' �59�	��() 

1) ��)��(*�<��� ��� ����?��	:?,'� �	�-5	����+� ���*�����'(���:�����5�5�
��������9��+& 80 ���-�2��8+8+�: ��,��)������� (����	��������=�������&->�������5���� 
����?��	:?,'�, 2553) 7+&������:�5���
�9�',+ ��&�	
��)��(*�
52� '(�	�+��=�����2��7���,�
�)���������
����782���
����5� 7 ��� 

2) :	5��2���(*��
���@(�<��� ��� �	�+��=�8+�:���782���
����2��  �����?��	:?,'�
�	�-5	����+� ���8,95��	��+�����@(�<���7

���&�� (Purposive Selection)  ����5�  3 ��� ����(*
'(�	)�-'� 7 ��� �	��()  

2.1) �����+K�����5� 1 ��� '(���'�@���8+�:���782���
�9���52� 500 782�:2�
5	�   
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2.2) �����+������5� 1 ��� '(���'�@���8+�:���782���
 501] 1,000 782�
:2�5	�  

2.3) ���� -�2����5� 1 ��� '(���'�@���8+�:���782���
'���52� 1,000  782� 
:2�5	�  

3) 5�G(�����K
�5
�5'�9�',+��'?,'� 8,95��	���K
�5
�5'�9�',+����+=2':	5��2�����
5�G(����	'?��@>���
=��+ (Personal Interview) L<*� �97

��
4�'����������9�� (Structured 
Questionnaire) L<*�7
2����4�'�����
� 4 �25�����	�����	��() (?��8�5��(* 1) 

�25��(* 1 �?���	*5������	��'7+&������������	�+��=�8+�:���782���
����2�� 
    �25��(* 2 �9�',+��(*�5�	
�&

���8+�:���782���
����	�+��=�����2�� 
    �25��(* 3 �9�',+��(*�5�	
:9��=����8+�:���782���
����	�+��=�����2�� 
    �25��(* 4 �9�',+�C�-� 7+&�=���������&

���8+�:���782���
����	�+��=�
����2�� 
 ���-�	
�C�-�7+&�=���������&

���8+�:���782���
 8,95��	� �9���4�'+	��@&L<*�
'�:�5	��&�	
����C�-� L<*�7
2������
� 3 �&�	
 ��� �C�-��&�	
'��  ����+�� 7+&�9�� 
  4) ���:�5���
�5�':���9�����)�-����7

��
4�' (Content Validity) 8,95��	�
���7

��
4�'�(*�2���<)� ��:�5���
�5�':���9�����)�-����8,9����=@5=�� ���*��9�-�7+&
:�5���
�9�
���2�����7

��
4�' 7+&����9�
���2���-+2��	)�'���	
��=�7

��
4�'
 -9'(�5�'�'
,�@>'����*��<)��2��������������
4�'�	
�+=2':	5��2���(*��
���@(�<������� 
 
3.2  ��9���!��	�8��(�
)+ 

�'�*���K
�5
�5'�9�',+��'?,'��(*��9�������	'?��@> 7+&��9:�5�����5�'4,�:9��
����9�',+��(�
�9��7+95 ����	)��<���9����9�',+�(*��9'�������5�����&->�������@����� �9�4�:�����
���@�� (Descriptive Statistics) ��97�2�2��	��25� (Ratio) �2��9��+& (Percentage) �2��D+(*�
(Mean) ��
�:9� �������8+���5�����&-> ��,�7

:���� 78�?�� �G�
�������-:=7+&8+���*�
5�����&->�9�',+ � 4 ��&��K��	��()  
 3.2.1 �?���	*5������	��'7+&������������	�+��=�8+�:���782���
����2�� ��2� 
��� ���= ����	
4������� �&�	
����<��� ����5��'���� ���	5����� +	��@&����������G=���� 
�����&��
���(� �����9�����	5����� 7-+2������=� 7+&?�5&-�()��� ��
�:9� 
 3.2.2 �&

���8+�:���782���
����	�+��=�����2�� ����������<���5�����&->  �
��&��K�:2��B �	�?���(* 3.1 
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�)�������  
 
 
             
-  
 
 
 
 
 
 
 
 
?���(* 3.1 ���
���5�����&->�&

���8+�:���782���
����	�+��=�����2�� 
 

3.2.3  ���5�����&->:9��=�7+&8+:�
7�����8+�:���782���
����	�+��=�����2�� 
8,95��	���9���7�����5�����&->�����
� 3 ��@( �	)��()���*������5�'8	�85�����������782���

7+&�)������� �	��()  

��/� 1  �4�����@>���� ��� �4�����@>���8+�:���782���
 ��&�&�5+� 1 �! 
�&-52������� �d������� �.�. 2552 4<� :=+��' �.�. 2553 
 ��/� 2   �4�����@>�'�*��������782���
 7+&�����)����������*'�<)� 30 % ���
�4�����@>���� 

��/� 3   �4�����@>�'�*��������782���
 7+&�����)�������+�+� 30 % ���
�4�����@>���� 
 ���5�����&->:9��=�7+&8+:�
7��'(��&��K��	��()  

1)  :9��=����8+�: 
    :9��=����8+�: ��� ����2���(*�����<)� ����8+�:���782���
 ��&��
�95� 

1.1)  :9��=����(*�5' (Total Fixed Cost : TFC) ���:9��=�-����2� �9�2�� ����
8+�:�(*����������'(�C��	����(* ���&
5����8+�: L<*�:9��=��25��()�&:9����(�����'��'252�8+�:
�9��-���8+�:'��-����'28+�:�+� L<*���'��47
2������9��
� 2 +	��@& ��� 

��������� 
��
��
���������

������
 

���������
 

- 7-+2��	
L�)� 
- ���'�@�)������� 

 5�G(����	
L�)� ���
���% DRC, ��� -9
���� 

- �,�7

7���,� � 
    8,9����)������� 
- �����K
�	����?��
�)�� ����� 

 
 

-  �	)�:�� 5�G(���8+�:  
���782���
 

-  ����*���	�� 7+&
������+�(���8+�:  

-  ����5�7������(* �9
 ����8+�: 

-  ���:�5�5	� �5
�='
���8+�:���782���
 
       
   

-  ���� ������782�
��
 �(*��9 

-  �=@?��������782�
��
 

-  ���'�@���782���
  
-  �����K
�	������782�
��
 

-  ������-�2�����782�
��
 

-  7-+2�������782���
 
- ��������	�
���
��
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(1) :9��=��(*��
������� ��
��2� �9�2���(*8,98+�:��9�2�������������
������� 
��2� �2���2���)��(* ����8+�:���782���
 �2�����
()������,9�(*8,�:���	
�C��	����(*  

 (2) :9��=����(*�(*�'2��
������� ��
��2� �9�2�����(*�(* ���:����'2��9�2��
�������
�:	5���� 7:2��
��2� �9�2���(*��9��������&�'�� ��2� �2����*�'��������*���	�� �=���@>�(*
 �9 ����8+�:���782���
 ��
�:9� 
      ���-��2����*�'������	��>��� ��9 �95�G(�������5@��
�7

��9�:��(Straight 
Line Method) L<*�'(�,:� ��������5@�	��() 
      Ds  =  (OC-SV)/L 
      Ds  =  �2����*�'����:2��!�(*������5�G(��9�:�� 
      OC =  ',+�2���	��>����'�*�L�)� 
      SV  =  ',+�2�L�� 
      L  =  ���=��� �9��������	��>��� 

1.2) :9��=�8	�7���5' (Total Variable Cost : TVC) ���:9��=� -��� �2� �9�2��
 ����8+�:�(*8	�7��:�'���'�@���8+�: -��'(���8+�:'��:9��=� ��25��()�&�,�7+&-��'(���
8+�:�9��:9��=��25��()�&:*�� L<*���'��47
2���9��
� 2 +	��@& ��� 
  (1) :9��=�8	�7���(*��
������� ��
��2� �9�2��8	�7���(*8,98+�:�2���������
�
������ ����L�)�-�����2��C��	����8+�: ��2� �2��)������� �2��HHh� �2��)��'	����)���+�� 7+&�2��9��
7����� ��
�:9� 

 (2) :9��=�8	�7���(*�'2��
������� ��
��2� �9�2��8	�7���(*��(*�5�9���	
�C��	�
���8+�:���:����-�����9'����'���9L�)�-����	�-�'��95������� �<�:9����&'�@�2����'���
�
:	5�����'�*����'�5�����&-> ��2� �2�7�������	5����� �2���(�������2� �9�2���(*��
������� 7+&
���*������2���(�������2� �9�2���(*��
�������:2����+��	':2�5	��(*8+�: '(���'�@�9��'��������
8+�:���782���
�=����� 8,95��	��<���9+&�59�������:9��=� ��25��	��+2�5 

 1.3) :9��=��	)�-'� (Total Cost : TC) ��
�:9��=�-����2� �9�2���	)�-'��(* �9 �
���8+�: ��9���8+�5'���:9��=����(*7+&:9��=�8	�7�� L<*������
�:9��=��(*��
�:	5����7+&�'2
��
�:	5���� -��� 
       TC  =    TFC  +  TVC 

 2) 8+:�
7��-��������9������8+�: 
  8+:�
7��-��������9������8+�: ��� ����5������(*���:�����9�	
���������
8+8+�: ���7����
� 
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 2.1) �����9������8+�: (Total Revenue : TR) ���8+�,@�&-52������8+8+�:�	

���'�@8+8+�:�5'�(*8+�:��9 -��� 

TR = P *    Q 
  2.2) �����9�=�G� (Net Return : NR) ��� �����9������8+�:�-���:9��=�8	�7�� 
-��� 

NR = TR  -  TVC 
 

 2.3) ������=�G� (Net Profit : NP) ��������9������8+�:�-���:9��=��	)�-'� 
-��� 

NP =   TR  - TC 
    3) ���5�����&->�=��=9'�=�  
 ���5�����&->�=��=9'�=� (Break Even Point) (Paul and Philip,1996) ������
5�����&-> � 2 ��&��K����  

3.1) 8+8+�:�=9'�=� (Break-Even Yield)  L<*���
�����<����5�'�	'�	�G>�&-52��  
���'�@���8+�: :9��=����8+�:  7+&8+����� ���*� -9���
4<����'�@���8+�:��2��� �(*�����9
������8+�:��2��	
�2� �9�2�� ����8+�:�	)�-'����( 

3.2) �����=9'�=� (Break-Even Price) L<*���
�����<����5�'�	'�	�G>�&-52�� 
���� ���'�@���8+�: :9��=����8+�:  7+&8+����� ���*� -9���
4<��������782���
�(*��2���  �(*
�����9������8+�:��2��	
�2� �9�2�� ����8+�:�	)�-'����( 
���-���9����'����	��() 
  TR   =  TC 
     (P*Q)  =  TVC + TFC 
     (P*Q)  =  (AVC * Q)  + TFC 
  (P*Q) ] (AVC *Q) =  TFC 
  Q(P-AVC)   =  TFC 
     Q   =  TFC / ( P ] AVC )  
 ����(*  
  Q   =  ���'�@���782���
�(*8+�:��9 @ �=��=9'�=� '(-�25���
����+��	':2��! 
  P    =  �������782���
 '(-�25���
�
��:2����+��	' 
  TFC  =  :9��=����(*�	)�-'� ����8+�:���782���
 '(-�25���
�
��:2��! 
    AVC =  :9��=�8	�7���D+(*� ����8+�:���782���
 '(-�25���
�
��:2����+��	' 
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  3.2.4 �C�-�7+&�=���������&

���8+�:���782���
����	�+��=�����2�� L<*�������
5�����&-> �7:2+&�9�� ���'�:�5	��&�	
����C�-� L<*�7
2������
� 3 �&�	
 ��� '��-����+�� 
-�9�� 7:2+&�9���(*������5�����&-> '(�	��() 

1) �C�-��9���?����� Hh� ����� 
2) �C�-��9��5	:4=��
�)������� 
3) �C�-��9��7����� 
4) �C�-��9�����
��-���	���� 
5) �C�-��9���������7+&
	��( 
6) �C�-��9����G��@,��?� 
7) �C�-��9�����:+��7+&������-�2�����782���
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����� 4 
*+�	������,+��0���	�*+ 

 
 �������<����&

���8+�:���782���
����	�+��=�����2�� : ��@(�<��� ����?�     
�	:?,'� �	�-5	����+� 8,95��	���97
2�8+����<��������
� 4 �25� -�2B �	��() 

4.1 +	��@&����	��' 7+&������������	�+��=�8+�:���782���
����2��  
4.2 �&

���8+�:���782���
����	�+��=�����2�� 
4.3 :9��=�7+&8+:�
7�� ����8+�:���782���
����	�+��=�����2�� 
4.4 �C�-�7+&�=���������&

���8+�:���782���
����	�+��=�����2�� 

 
4.1  +��3/��	�����
,+�!6�3.���������+����*+���	�,*&�%���	��&�� 
         ���������� �-	5�9��()��&��
�95�+	��@&����	��'+	��@&��������������8,9
+��=�8+�:���782���
����2�� 7+&�9�',+�
�)��:9����G=����8+�:���782���
 7:2+&�25�'(
���+&��(���	��() 
 4.1.1 +��3/��	�����
���*)(+����*+���	�,*&�%���	��&�� 
 +	��@&����	��'����	�+��=�8+�:���782���
����2�� '(�	��() (?��8�5��(* 2) 

1) ���  
8,9+��=�8+�:���782���
����2���	)� 3 ��� ��
������� 7+&��
�8,9������
��	5 �	�

���*��'�������8+�:���782���
��
����(��(*:9�� �97����� 7+&'(���
��-���	���� ����8+�: 

��-���	�����5�'��(*�� ����:	���� �52��'�*� ��(*:9��8+�:���782���
 7+&�'�*� ��(*:9������)��
�����  

2) ���=  
8,9+��=�8+�:���782���
����2��  3 ��� '(���= 31 �! 35 �! 7+& 52 �! :�'+���	
   L<*�

8,95��	�:	)��9��	���:52� ���=����	�+��=�8+�:���782���
�	)� 3 ��� '(���= ��25�5	�7����� 7+&'(
�5�'�	
8����
 :	)� � ���������� L<*���
��C��	�����	��(*�&��� -9G=�������8+�:���782���

��&�
�5�'�����K�  

3) ����	
4�������  
8,9+��=�8+�:���782���
����2���	)�-'��	
4��������=�G L<*��������	���:�
52� 

 ���)��(*�(*��9����5� '(�	)��='������(*�	
4���=�G����� 7+&�='������	
4����������+�' 7:2
�'2�
8,9+��=�8+�:�������2���(*�	
4����������+�'�+� ���*������='������(*�	
4�������
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���+�'���'���8+8+�: ��,��)�������'���52� ����&�&��9'(�5+� �������������'�������� 
��2� +&-'���25���9�7+&��� ��
�:9�  

4) �&�	
����<��� 
'( 2 ����(*'(����<����&�	
������:�(  7+& '( 1 ����(*�
����<����&�	


'	G�'�<����!�(* 6 L<*� ����8+�:���782���
8,9+��=�:9��'(�5�'�,9 ��&

8+�: �5�'��
�,9:2�
�?����*�75�+9�'�(*'(8+:2����8+�:���782���
 ��2�����K:�'8,9�(*�
����<����&�	
'	G�'�!�(* 6 
���	��5�'�,9�&

���8+�:���782���
��������(���,9�95�:	5����(*'(��&�
���@> ���	5�����'�
�2�� 7+95�<��������8+�:'���<)�   

5) ����5��'���� ���	5�����  
�	�+��=�8+�:���782���
�����+K�7+&�����+�� '(����5��'���� ���	5����� 5 

�� 7+& �	�+��=�8+�:���782���
���� -�2 '(����5��'���� ���	5����� 3 �� 7+&�	�+��=�
�	)� 3 ���� �'��7+95 �,2�'��7+&�'���� ���	5�����L<*�:2����,2 �5	������� 7+&'(�25��25� �
���8+�:���782���
������
��	5�95���2��	� ��2����2� �	�+��=�8+�:���782���
�����+K� '(+,� 
2 �� �25� ����8+�:���782���
 �25��	�+��=�8+�:���782���
�����+��7+&���� -�2 '(
?�����25� ����8+�:���782���
 

4.1.2  +��3/��	�!6�3.���������+����*+���	�,*&�%���	��&�� 
+	��@&���������������	�+��=�8+�:���782���
����2�� '(�	��() (?��8�5��(* 2) 

1) ���(����'�2�����8+�:���782���
 
�	�+��=�8+�:���782���
�����+K� '(���(� ����� ����5�������� �	�+��=�8+�:

���782���
�����+��'(���(� �9���� ����5�������� 7+&�	�+��=�8+�:���782���
���� -�2
'(���(��	
L�)��)��������2�:2������� L<*����(��(*�	�+��=�8+�:���782���
��&��
'��2��+95�
��
����(��(*'(��)��5�'�,9��	
��=� 7+&���)�-�=� ����8+�:���782���
 ��2� �������5�������� 
7+&8,9�	
L�)��)�������  L<*�'(5	:4=��
-+	� ����8+�:���782���
 �25����(��9���� �K'(�	��&
�5�'�,9 �G=�����(*�&�25� ����8+�:���782���
 �'252��&��
����L�)��)������� 7+&������782�
��
 ��
�:9� 

2)  ���(�-+	������	5����� 
�	�+��=�8+�:���782���
�	)� 3 ��� ��&��
���(�-+	� ��� G=����8+�:���782���
 

L<*�'(��(���	�+��=�8+�:���782���
���� -�2 1 ��� �(*��&��
���(��	
L�)��)��������2�:2�
�������5
�,2���8+�:���782���
 L<*�7���52������&��
���(�8+�:���782���
��
����(��(*���
�����9-+	������	5�����   

3) ���(���������	5����� 
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�	�+��=�8+�:���782���
�����+K� '(���(��9���9����������  7+&��
�8,97��
���>���
��-���25�:��
+��
����(����  �	�+��=�8+�:��������+��'(���(���� ����9����
�9�5��� �25��	�+��=����� -�2�'2'(���(����  L<*�7��� -9�-K�52�  �������G=����8+�:���782�
��
�����+K�7+&�+��  '(�5+� ������&��
���(������
������9����' -9�	
���
��	5 

4.1.3  �(�
)+!�>-���(����9������	�*+���	�,*&�%��������+�����	��&�� 
1)  ��&�
���@> ����8+�:���782���
 
�	�+��=�8+�:���782���
�����+K� '(��&�
���@> 20 �!  �����+�� '(

��&�
���@> 10 �! ���� -�2'(��&�
���@> 1 �! 7���52��	�+��=�����2�� '(��&�
���@>
�5�'�,9 ����8+�:���782���
��
���2���(�2���&���*'����������8+�:���782���
 

2)   ���-:=����	��(*�+���8+�:���782���
 
�	�+��=�8+�:���782���
�����+K�  �+���8+�:���782���
 ����&52���
����(� �

��	5�����7+&���'�:+���'252������)��������&�,��52��������782���
�K:�' ��&��
�	
�5�'
���*�52��������782���
�&�,� �����: �25��	�+��=�8+�:���782���
�����+�� 7+&���� -�2 
���-:=�+���8+�:���782���
��� '���-K������ �'�*��������782���
'(7�5��9'�,��52��)�������  
�&'(�25��-+�*�'������(*�,��<)� 

3)  7-+2��5�'�,9 ����8+�:���782���
 
�	�+��=�8+�:���782���
�����+K�'(�����(���,9�95�:���� '(���+��8��+��4,� ���

���8+�:���782���
 ���	5�����  �	�+��=�8+�:���782���
�����+��'(�����(���,9���8+�:���
782���
����+=2' �-��@> ���.  ��9��4�*� 7+& �	�+��=�8+�:���782���
���� -�2��(���,9���
������8+�:���782���
 �����?��	:?,'� L<*�8,95��	�:	)��9��	���:52� -�25�����������2���9��'(

�
���9�� ����7�&���7+& -9�5�'�,97�2�	�+��=�8+�:���782���
 ���)��(*�()   

4) ����+��=����*'7�� ����8+�:���782���
 
�	�+��=�8+�:���782���
�	)� 3 ��� �9�����=����:	5����	)�-'� ����+��=�

���*'7��8+�:���782���
   
5) ?�5&-�()����(*���'� �9 ����8+�:���782���
 
�	�+��=�8+�:���782���
�����+K��'2'(-�()��� �25��	�+��=�8+�:���782���


�����+�� 7+&���� -�2 '(-�()��� 3 7��
�� 7+& 5 7��
�� :�'+���	
  ���*���
��=�
-'=��5(�� ����8+�:���782���
 �'�*������)����������*'�,��<)����� 100 
�� L<*�:9��'(������
-'=��5(�����*'�<)����7:2�2������5� 2 ��2� L<*��	�+��=�8+�:���782���
�����+��7+&����
 -�2'(����,9�������7-+2������=��+=2'��'��	��> ��9��4�*� 7+&G�������@���> :�'+���	
 ���*�
��
������=� �����	
L�)��)������� �25��	�+��=�8+�:��������+K��'2'(����,9��' ����	�+��=���9
 -9�9�',+52� ���*�����8+�:���782���
'�:+�� �����	5��������:	5����2�� 7+95�'�*�'���-K�
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������������782���
�,��52��)������� ��&�	
�(*�,� �K'(����	
L�)��)������������:�7+&���*��

9�����*'�<)� �<�'(�����=��&�''����*��B 7+&��(���� ����-'=��5(�����*�8+�:���782���
 �
�C��=
	�   

6) �,�7

������������8+�:���782���
 
�	�+��=�8+�:���782���
�	)� 3 ��� ����������������8+�:���782���
��
���9����

����������(�5 L<*���������
4�'�-:=8+�
52� G=����8+�:���782���
'(���+&��(�� 7+&�	)�:��
�(*'(�����=�:9����(*�5�9����
�����5�'��7+&49�'(���+��=��25'�	� �&��
��C�-��5�'�'2���*� �
�	���9 ��2��	)�:������	
L�)��)������� :9��'(����	*��)��-�	��)������� 7+&����	*��)����������*�
��� % DRC L<*�-��'(����=���: ��	)�:���	��+2�5 �K�&��� -9G=�����,���(�������
�����5�'�� 
�	��	)��	�+��=�8+�:���782���
�<��'2���'�(*�&'(���+��=��25'���*���	��C�-��	��+2�5 

7)  ����25��-+�����?���	� ����8+�:���782���
 
����25��-+�����?���	� ����8+�:���782���
�	)� 3 �������8+�: �
52��'2'(�+� 

��������
4�'��9�-�9��(*����	��������=�������&->�������5����(���.) ����?��	:?,'� 
�	�-5	����+� �
52� ���. '(��� -9�5�'�,9 ����8+�:���782���
�	
�-��@> ���. 7+&�2�����'
 -9���:����5'�+=2'���*����8+�:���782��'�5	� 7+&����(�& -9�5�'�,97�2�	�+��=�8+�:���782�
��
 -��'(�5�'��&���>�	��+2�5 7:2�(*82��'� �	�+��=�����2���'2��97�9��5�'��&���> �B  
 
4.2   �����	�*+���	�,*&�%��������+�����	��&�� 

����������G=����8+�:���782���
�&:9��'(���>��&��
��)���� ����*�������=� 7����� 
5	:4=��
 ����*���	�� 7+&�5�'�,9 ����8+�: �5'4<��+�=�G> ����8+�:���*��&��� -9G=������&�

�5�'�����K�'(�����7+&:9���,9�	����7�9���C�-��D��&-�9���9��2���	��-:=���@> L<*�8+����<���
�&

���8+�:���782���
����	�+��=�����2�� � ����?��	:?,'� �	�-5	����+�'(�	��() (?���(* 4.1) 

 
?���(* 4.1 �&

���8+�:���782���
����	�+��=�����2��  �����?��	:?,'� �	�-5	����+�  
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4.2.1  +��3/��	���%�	��-�	�	��% 
 �)���������
�5	:4=��
-+	� ����8+�:���782���
 L<*��	�+��=�:9��'(�)������� -9
��(�����	
���+	�8+�: �7:25	� ���7:2+&�������8+�:'(7-+2��(*'� ���'�@�)������� ������    
% DRC ��� -9���� �,�7

7���,� �8,9����)������� 7+&�����K
�	����)������� ���*�8+�:���
782���
�	��() 

1) 7-+2��	
L�)� 
���*� -9'(�)���������(�����	
���+	����8+�: �7:2+&5	��	)� �	�+��=� �7:2+&

�������8+�: '(7-+2��(*'�����)������� �	��() 
1.1) �	�+��=�8+�:���782���
�����+K� �	
L�)��)�������������:����(*��,2


���5@ �+9��(���	
������8+�:���782���
 �5'�	
�)������� ���	5��������:	5��� L<*��&������
�	
L�)��(*������8+�:���782���
 ���'�@�)��������K'(����5���(����
9�� 7+&�'2��(����
9���'�*�
��(�
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���+	����8+�: ��2� �'�*�:9����'(���8+	� 
 ��25������ '(���' 4<� �d�?��' �)�������
�&'(�9�� �K�&'(���8+�:���782���
:�'����5��)���������2��(*'( �7:2+&5	� 

1.2)  �	�+��=�8+�:���782���
�����+�� �	
L�)��)�������������:���L<*�
��:	)��=��	
L�)� �+9�	
�5����������:��� 7+&
���=�����4��:>'��	�������8+�:���782�
��
 �5'�	
�)������� ���	5��������:	5��� 

1.3) �	�+��=�8+�:���782���
���� -�2 �	
L�)��)��������(*������8+�:���
782���
��(����2����(�5 L<*��&'(8,9�5
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�:9� 

2) ���'�@�)������� 
���'�@�)�������:9��'( -9��(�����	
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�	*��)��-�	���� 0.85-0.90 ��	' +� �495���&�
�)�������+K� 7+95������
 -97-9��95�:,9�

�'����5H�(*�=@-?,'� 150 �����L+�L(�� �5+� 3 ���( ������7-9����495�'��	*� �K�&��9  % DRC 
���*�����5@�)��������	)�-'� �25����8+�:���782���
���� -�2 �&�	*��)��������	)�-'���9�'
�95��4��:> �95�:��	*�����:�+ 100 :	� ����	)��+2���)������(*
2��	
�)����� -9-'�  ��&-52�����
�+2���)�����+�
2���K
 �&'(�����:	��)������(*�+����� �2��)���������4+� �
2���K
 ��
��25�B 
��	)�+&�'2���� 5 ��	' ����9�)�����:	5��2����&'�@ 0.5-1 +�:� �	)��()���*� -9�)�������:	5��2��
��&���:+��4	��)����� �'�*��+2���)�������+�
2���K
-'� 8,9����)������� �K�&�	
�4���	*�
�)��-�	��(���	)�-�<*����*��&-��)��-�	��)�������  
 ����)�������:	5��2���� -9��
����)���(�5�	� ����	)�:	��<)�'� 5 ��	' 8�'�)�� 10 
'�++�+�:� ����	)��:�'����&L�:����9'�9� 5 % ����5� 10 '�++�+�:� �+2�� -9����	
:	5 7+95������
���(���(�
 -9��9���� 1.5-2 '�++��':� ������
 �:,9�
 �(*�=@-?,'� 150 �����L+�L(�� 30 ���(  
7+95�	*��)��-�	����-+	��
 ����5@ % DRC  7+&��� % DRC �(* 97 % ����)��-�	�����	)�-'� �
����2������ -9�	
8,9����)������� 
 ����5@ % DRC ����'���  
        (�)��-�	����-+	��
 / �)��-�	�����2���
) x 100  
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L�)��)������� 
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L�)��)�����������9������������
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������ -9�	
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:+���+��������� -��� 
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����2���	)� 3 ����&8+�:���782���
�	��(5	�:2�5	�����'2

��K
�)����������*�8+�: �5	�4	���  ���*������)������� 49�:	)��59����&�	
:	5��
��'K� 7+&��
�
�9��  7+&49��'2 -9�����
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��9�� :9�� �2�)��7�'�'��(�  L<*��&��
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4.2.2  �������	�*+���	�,*&�%��������+�����	��&�� 
 ����<���4<�+	��@&��&
5����8+�:���782���
��&��
�95��	)�:�����8+�:���
782���
 7������(* �9 ����8+�: ����*���	��7+&������+�( ����8+�:���782���
 ��&
5����
:�5�5	��5
�='���8+�:���782���
 8+����<���'(�	��()    

1) �	)�:�����8+�:���782���
  
�	)����8+�:���782���
���8,98+�:�	)� 3 ����'(+	��@&�+9���+<��	��	��() 

(?���(* 4. 2) 
��-������� 1 ����:�(�'�)������� �	�+��=�8+�:���782���
�����+K� ���)������� �2 �

:&���	��(-+	�����(*�	*��)��-�	� 7+&��� % DRC 7+95  ���82���(*�����7:��+����� 0.8 
'�++��':� �25��	�+��=������+�� 7+&���� -�2 �&����)������(*��9 �7:2+&5	����'��� �2 �

2���K
�)������� �� -9��9��	� 10- 20 ��
�95��'9���  

��-������� 2 �����)������� ���)�����+�:&�����82��������� �95��(*�������� 0.8 
'�++��':� -9��9:�'���'�:��(*���-��  
 ��-������� 3 8�'�)��  L<*���
��	)�:���(*:9��'(����5
�='��2���(���*� -9���782���
'(
�)��-�	�782�����'*����'� L<*��	�+��=�8+�:���782���
�����+K��&�'2'(���:�5���K��=���	)��(*'(
���8+�: ��� �9��&'�@��� ����(*��� % DRC  �����	
L�)��)�������  7:2�	�+��=�8+�:���782�
��
 �����+�� 7+&���� -�2 �&:9��'(���:�5���K��=���	)��2�����8+�:  �	����*�����8,9����)��
�����'�����7+&'(�����+(*��7�+�
9�� �	��	)�:9��'(����5
�=' ��	)�:���	��+2�5  
 �	:���25� ���'�:��)�������7+&���'�:��)��:2� 1 :&�� ����5@�	��() 
:&�� '(���� �59�� 55 �L�:��':� ��5 120 �L�:��':� �,� 35 �L�:��':� 
:&��'(���'�:�  231,000 +,�
���>�L�:��':� -��� 231 +�:� 
:&���&'(���+ �5�'�,��(�+& 1 �L�:��':� ����&D&�	)� �(* 1 �(��5�'�,� -��� 1 �L�:��':� 
��2��	
���'�:� 6.6 +�:� 
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11) 8<*���� -9�&��K��)��-'� 

12) 8<*�7�� 7+&8<*�+' 

13) ��K
����59�����-�2�� 

���)������� �
2� -9��9��	� 

���)������� +� �:&��82���(*�����
��> 0.8 '�++��':� 

8�'�)��:�'���'�:��(*���-�� 

���)��������	
�)�� -9��9��	���2���	*54<� �����:�'7�5��5���:&�� 

8�'�)�����H��>'���(*
�������7+95����5� 3 
+�:�/:&�� (�������
�)��������H��>'��
��9'�9� 94% ����5� 2 
+�:� 8�'�)�� 15 +�:� 

��������)�����H��>'��
94% ����5� 0.32 
+�:� ��������95��)�� 2 
+�:� 8�' ��)�����
��7+&�)���&��� 1 
:&�� 

8�'�)�����H��>'���(*
�������7+95����5� 3 
+�:�/:&�� (�������
�)�����H��>'����9'�9� 
94% ����5� 3+�:� 
8�'�)�� 20 +�:� 

����� �9�'9��� ��7�2 �52����+&+�������9��&����	*54<� 

�+2�� -9�)������	
:	5 30 ] 45 ���( 

�<�782���(�
�7:��+��(+&782� ���782�����(*��9+9���95��)���&��� 
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�)�� -9��9�
�	� 
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����59 1 5	� 5	��(* 5-6 �&������������-�2�� 
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����'��� 
    V1 = ( M2 * V2) / M1 
 
M1 = �5�'��9'�9�����)������� -��� % DRC ����)������� 
V1 = ���'�:��)������� '(-�25���
�+�:� 
M2 = �)��-�	���� 1 782� '(-�25���
����+��	':2����782���
 1 782� 
V2 = ����5�782���� 1 :&��  '(-�25���
�782� 
 
�	���2�  
49� �)������� '( % DRC  = 0.35 % = M 1 
:9�����782���� 1 782� '(�)��-�	� 0.95 ���+��	' = M2  
����5�782���� 50 782� :2� 1 :&�� = V2 
���'�:��)������� 1 :&�� (  V1) =  0.95  * 50  / 0.35   
                                               = 135.7 +�:� 
 �'�*� 1 �(� -��� 1 �L�:��':� �5�'�,� = 6.6 +�:� :9�����)������� = 135.7 / 6.6 = 20.56 �(�  
 ����&D&�	)� �(* % DRC �)������� 0.35 % �&:9�� �9�)������� ����5� 135.7 +�:� -��� 
�:�'�)����� -9��9�5�'�,��(* 20.56 �L�:��':� ����	)��:�'�)���&���:�' -9��9�&�	
�(*�5�'�,� 35 
�L�:��':� �K�&��� -9��98+8+�:���782���
'(�)��-�	� 782�+& 0.95 ���+��	'�����&'�@ 
 ��-������� 4 ���)��������	
�)�� -9��9��	� ������)������� -9��9��	
�)���K�'2��� 
���*������=@�'
	:� ���)�������&'(�5�'-��7�2��9���52��)�� �<�'(��&���+��:	5�5'�	
�)����9
�5���K5L<*��&�� 10 ] 15 ��
���:&��  
 ��-������� 5 ����:�'�)����� �	�+��=�8+�:���782���
�	)� 3 ���  �9���H��>'�� ��9'�9� 
94 % �-'����	� 
���= �4	� 35 +�:� ��������
4�'�-:=8+ �
52����H��>'���&+9�������9
-'� �'2:��9�� ����)���� 7+&�(*����	� �)����)��&�'2��(� L<*��&�&�-���9��K5 �52����+&+�����  
��*�B ��2����2� ���L	+H=��� ��
�:9� 
 ����>�LK�:>�5�'��9'�9�7+&���'�:�������H��>'���(* �9����	)� 3 ��� ����D+(*�����
����(*�5�'��9'�9� 14 % 7+&���'�:��)����� 2.8 +�:� :2� 1 :&�� -��� 5.8 % ������'�@���)�
���7-9� 1 :&����9�)��-�	����782���
 782�+& 0.95 ���+��	' (�	�:�����(* 4.1 ) 
   ��-������� 6 ���)�����7+&���+&+����� -9��9��	� ��� �9�'9��� �� 10 ] 15 ��

:�'7�5��5���:&�� L<*� ��	)�:���()�&�	���:52�'(H����������<)���
�����5�'�� :9��'(���:	�
H����� -9�-+���9���(*�=�����&49�'(H�����'���&��� -9���782���
�(*��9'(���:��-�� ��2����
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782���
'(H������� 7+& �'2��9����:�'�(*���-�� L<*�H��������(*:	��59����������
��()��� L<*�
��
�8+�+����9������8+�:���782���
 
 
:�����(* 4.1  ����>�LK�:>�5�'��9'�9����+&+�����H��>'�� 7+&���'�:���� �9 ����8+�:���
         782���
 

������ 

�25�8�' (+�:�) 
% �������
��� (%) 

���'�:��)�����/ 
:&�� ( +�:� ) 

���'�:�
�)�����/ 

���'�@���)����
7-9� (%)* 

���'�:���� ���'�:��)�� 

�����+K� 2 25 13 3.0 6.31 
�����+�� 0.32 2 15 2.32 4.8 
���� -�2 3 20 14 3.0 6.31 

�D+(*� 14 2.8 5.8 
-'���-:= : * = ���'�@���)����7-9� � 1 :&�� ���*�8+�:���782���
  -9��9�)��-�	����782���
 782�+& 0.95 ���+��	'   
  
 ��-������� 7 ��(�
782��7:��+��(*�:�(�'�59����5� 49 782� �����(�
�(+&782� ���
L9�����5� -��� �5���L9���K��9����
 
 ��-������� 8 �+2�� -9�)������	
:	5 ��
��5+� 30 -45 ���(  L<*�-�� �9����>�LK�:>�5�'
��9'�9��)������(*'���K�&��� -9�)������	
:	5��9��K5  7+&-�� �9����>�LK�:>�5�'��9'�9��9�� �)�����
�&�	
:	5�9�+�  
 ��-������� 9 �<�782���(�
�7:��+�����(+&782� 7+95����9������(*��9+9���95��)��
�&���  ��2���)�� L<*�'(�����g��l���)�� -9�-+�5(��:+���5+����*��&+9�����
��9����� L<*��&���
 -9���782���
�(*��9'(�(��5�=2���2���'*����'� 7+&�'2�-�(�5�-��&   
 ��-������� 10 �(�782���� ����9������(*+9���95��)���&���7+95��9�����*���(� 5 +,��+�)� 
+,��+�)��(*  1 ��
�+,��+�)��(�-��
 +,��+�)��(* 2-3 �&��
�+,��+�)� �(���(�
  7+&+,��+�)��(* 4-5 �&��
�
+,��+�)� �(���� :�'+���	
 �����'��4��	
7:2��2��52�����+,��+�)���9���*� -9��9���782���

���'�'(����:�':9����� 
 ����*���	���(�����&��
�+	��@&�	:��'	:�'( 5 +,��+�)� ����	�+��=�8+�:��������+K�
�&��
�+	��@&����*���	����2� L<*� �9'���� ���+	����8+�: 300 ] 400 782�:2��	*5�'� �25��	�
+��=�8+�:���782���
�����+��7+& -�2 �&��
�����*���	���(*�	� -'2 ���*��������*'+��=�8+�:���
782���
 2 �! �(*82��'� L<*����+	����8+�: 400 -500 782�:2��	*5�'�  
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 ��-������� 11 8<*���� -9�)���&��K� �	�+��=�8+�:���782���
�����+K�7+&�����+�� 
�&�����
�+	��@&��5:����� 4 ��� �����5�'�,� ��&'�@ 90 ] 100 �L�:��':� �	�+��=�8+�:
���782���
���� -�2 �&�����
���5:����� 4 �	)� -����(*�	�+��=���(��52� ��l&���  ��	)�:���()
���*� -9�)���&��K���� -9'���(*�=��2�������8<*�7��7�� ����&�&��9���7����+�*���9���'2'��
������ 
 ��-������� 12 8<*���� -97-9�7+& -9�-+���5�'��)��9���(*�=� ������-��  -98<*�7�� 2 
5	� 8<*�+'-���8<*���� ��(*+2' 2 5	�   
 ��-������� 13 ��K
���  -+	�����(* 8<*�7��7�� 7+&8<*�+' ��
:�'���-��7+95 �	���K

��(���59 1 5	� ���*������-�2��:2��� ��2�����K:�' �&�&�5+��(*���-�� ���'(��+(*��7�+����
�<)���,2�	
�?���������
�����	� ( ?��8�5��(* 3 ) 

2)  7������(* �9 ����8+�:���782���
 
7������(* �9 ����8+�:���782���
����25� -�2��
�7����� ���	5����� 7+&��
�

7����� ���)��(* �+9��(�� �	�+��=�8+�:���782���
�����+K�'(7����� ���	5��������:	5��� 7+&
+,� 2 �� L<*��&������782���
 �:����K�-+	��5+��+����(�� ����(*8,98+�:���782���
�&�:�'
���+&+�����7+95:	)� -9�	
:	5  ��25��2����(*�� 7+&�	�����9�5:����(*�� 7+&����������*� B 
-+	�����	)��&�+	
'�������782���
�(���	)��'�*�+,�B �+	
'���������(��  �	�+��=�8+�:���782�
��
�����+���& �97�����:	5��� 7+&7������9�� 4 �� �25��	�+��=�8+�:������� -�2  �9
7����� ���	5����� ��� :	5���7+&?���� 7+&7������9�� 4 �� ���7������9���	)� 2 ������
�
7����� ���)��(* �+9��(��������8+�:���782���
 L<*�'(����	���� ����*���5�'L�*��	:�> 7+&'(
�5�'��	� ���� ����&52� 5	:4=��
�)������� 8+8+�:�)������� '(�����,� -��'(�����'� -���
D9���� �K�&��� -9�����5�'��(�-��7�2G=������9 7+&�(*����	�:9��'(�5�'��	� 7+&���� ����
������ �	)��()����&7������&:9������&��IJ�� 7+&��!���)��:+���5+� 
 �	:���2��9�����7����� �	)� 3 ������,2 ��25� ��� 200 ] 250  
�� / �� / 5	� L<*��,��52�
7������	)�:*�� ���)��(*���*���
�7���,� � -97������'2+����
2��     

3)  ����*���	��7+&������+�( ����8+�:���782���
 
����*���	���(��(*�	�+��=��	)� 3 ���� �9 ����8+�:���782���
 ��
�����*���	���(� 5 

+,��+�)��	:��'	:� '('��:��> �����	
��+�*��+,��+�)� �(�782������	)���(�5��9782������
:�'����
�(*:9����� L<*��&�5�7+&�5���K5  � 1 �	*5�'�8+�:���782���
��9 300 -400 782� �������	���: 
�
52� �	�+��=�8+�:��������+K� �&�'2��	
��=��	)�:�����������'���	� '(
���	)�:���(*:9��
�,���(� ����*���5+� ���7��'�� 7+&�����+�*���9��8+8+�: ��&�&����(*��+ ��2� �'�*��(����
7+95 �K�&�����:���(*��5:������9�����������	��( L<*�'(��)��(*-2�� ��&'�@ 10 �':� ��� �9
�4��K���� ��	)�+&��&'�@ 50 782������
 �	�+��=������+�� 7+& -�2 �K�&'(�����	
��=�
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5�G(���������  -98+8+�:�-+���	)�:��4	�����2���&�5� 7+& �5���K5'(�=���@>���*��25� ����
�=2�7�� ��2����2� :&���&��,2��
�2��+9�����782���
 7+& �&:2����(*����*���	���(���� L<*�+��5+�
 ������+�*���9�� ���:&��7+95�����+9�� ��2�� L<*�:	)��9��	���:52��	�+��=�8+�:��������+K�'(
���8+�:�����&'�@ 20 �! �������� ���:	)�����*���	�� �K�'2��9���7

:	)�7:2:��:9� ��� -9
78�8	�����-+�������<��'2���)�:2����8+�: L<*�7:�:2������	�+��=������+��7+&���� -�2 
L<*����*����*' ����8+�: ��&'�@ 2 �! �(*82��'� ��&��
�	
'(�5�'�,9�
������:�( �����9�����@�
7+&���7

�����9��7+&:��:	)�����*���	�� ���*� -9�&�5� �����-+���������*�+��5�'
�,���(�:2��B ���*����*'��&���G�?�� ����8+�:���782���
     

4) ��&
5����:�5�5	��5
�='���8+�:���782���
 
�	)�:�����8+�:���782���
����	)� 3 ����'(5�G(����+9���+<��	� �	��() 

 4.1) �)������� L<*��&:9���&��� ���82��������� �95��(*�������� 0.8 
'�++��':� 7+&�(*����	�:9���'2'(����������(*������ -9�)������'2�	
:	5-����	
:	5�9� ��2� '(����:�' 
���+&7�'�'��(��(*�5�'��9'�9��,� L<*��&��� -9:9�� �9���'�@�)������(*�,� �C�-��	��+2�5�&�'2
�
�	
�	�+��=�8+�:���782���
�����+K� 7+&�����+�� ����&�	
L�)��)������������5�5� 
7+&��	5��������:	5��� 7:2�&�
�	
�	�+��=�8+�:���782���
���� -�2 ���*����� �	
�)�������
���8,9�5
�5'�)������� ��9��4�*� L<*��&'(����:�' ���+&+���	��+2�5 ���*��	����?���)�������
�'2 -9���*�'�?���2�����'���� ����&��+���7-+2�����)������� �<�:9���:�'���+&+��
7�'�'��(�  L<*��	�+��=�8+�:���782���
��97�9���������+���8,9�5
�5'�)��������(*��,2
���5@
 �+9������8+�:���782���
 7+&�5
�='�'2 -9'(����:�'7�'�'��(� ��)�������    

4.2) ����>�LK�:>���)����7-9� ��)������� -��� % DRC '(����5
�='7+&5�G(���
����5@ �	����+&��(�� ��	)�:���(* 3 �	�?���(* 4.2  L<*�����5
�='�	��+2�5�&��� -9��98+8+�:
���782���
'(�5�'�'*����'�������� 7+&�)��-�	� 

4.3)  �5�'��9'�9����+&+����� 7+&���'�:��(* �9 :2� 1 :&�� �&:9��'(���
�5
�=' ���*� -9���782���
�	
:	5��9��2�����( ?�� ��&�&�5+��(*���-�� �	
���)�����(*'(��,2 � 1 
:&�� L<*�-�� �9'�������5�'�����
� �K�&��� -9�����5�'�,���(� �:9��=��2� �9�2�����+&+��
�����9 

4.4) H�������  ��	)�:������:�'���+&+�����H��>'�� :9��:	�H�������
 -9�-+���9���(*�=� ���*�+�H������� ����782���
�(*8+�:��9 7+& -9��9���782���
'(����7+&
�)��-�	�:�'�(*:9�����   

4.5) ���+9���95��)���&��� ���782���
-+	�����	
:	57+95 :9�����'�+9���95��)��
�&����(*'(����-+�5(��:+���5+� L<*�-�����782���
'(���+&+�����:��9���&��� -9���'(�(�'2
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�'*����'� �&'(�(�+)�� 
���5@�(*���:��9�� 7+&����-�(�5�����<)� ��	)�:�����8<*�����95�
7��7�� 7+& +'  
 4.6) ���� 7+&�)��-�	����782� :9��'(����5
�=' -9��9�5�'-�� 3.5 ] 4 
'�++��':� L<*�:9����	
�2��52��+,��+�)� -9��9����:�'�(*:9����� �5'4<��)��-�	�����K�&��9���
�������5@7+&�5
�=' ��	)�:���(* 3 ������8+�:���782���
 (�	�?���(* 4.2) 

4.7) ���8<*���� -97-9� �95�7��7�� 7+& +' :9��'(����5
�='���*� -9���782�
��
�(*8+�:��9'(�5�'��)��9���(*�=� �2��������������-�2��  

4.2.3  *+*+���	�,*&�%�� 
1)  ���'�@7+&�=@?�����8+8+�:���782���
 
���'�@���782���
�(*8+�:��9����	�+��=�8+�:���782���
 �	)� 3 ���� �<)���,2�	


���'�@�)��������(*�	
L�)� �7:2+&5	�  ��2����2� �	�+��=�8+�:��������+K�'(���'�@�)������� �(*
��9�	
 �7:2+&5	� ��&'�@ 1,000 ���+��	' �'�*�8+�:���782���
 ��9���782���
 ��&'�@ 300- 
400 ���+��	'/5	� �	�+��=�8+�:���782���
�����+�� '(���'�@�)��������(*��9�	
 ��&'�@ 
3,000 ���+��	' �K�&��9���782���
 700-800 ���+��	' / 5	� �25��	�+��=�8+�:���782���
����
 -�2 '(��&'�@�)���������&'�@ 4,000 ���+��	' 8+�:���782���
��95	�+& 1,100-1,200 
���+��	' / 5	� (?��8�5��(* 4) 

�=@?�����782���
�(*8+�:��9����	)� 3 ���� ��� ���782���
�=@?�� �	)� 3 ���:2��
�K'(�5�'�<��� � ��=@?������(*8+�:��9 ��������
4�'�-:=8+����'�'28+�:���782���
 -9��9
�=@?���	)� 1 7+& 2 �
52�-��:9����� -9��9�=@?�����782���
 �	)��(* 1 7+& 2 :9��8<*����
���*'�<)�������' 8<*�7�� 2 5	� 8<*�+' 2 5	� ��
� 8<*�7�� 4 5	� 7+& 8<*�+' 4 5	� ���*� -9���'(
�5�'��)��9���(*�=� :�''�:�����=@?����� L<*�:9��'(��)��(*��(���� ����:����� �5'4<�:9��'(
������-'=��5(������5�'���<)� L<*��C��=
	�����=@?������(*8+�:7+&8+:�
7���(*��9�K'(�5�'
�<��� �7+95   

2)  �����K
�	������782���
 
�����K
�	������782���
 ����	�+��=�8+�:���782���
�	)� 3 ���� �K'(�5�'

�+9���+<��	� ��� �'�*�8<*������
:�'����5�5	�7+95 �K�&'(����	���(���59 ��������� �(*'(�����
42�����2��������������-�2�� 

3)  ������-�2�����782���
  
�	�+��=�8+�:���782���
�	)� 3 ����������782���
�(*8+�:��9���-�2���(*:+���+��

������� ����?�-�� -�2 �	�-5	����+� ���*�������9�����(*�<��� � 7+&���52��'24,�����	����
���(�
���������-�2��  
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4) ���:(����>�LK�:>7+&��� -9�������8,9�	
L�)����782���
 
���:(����>�LK�:>�=@?�����782���
�����9�-�9��(*���:+���+��������� L<*�

�	���:�95����:� �9�����:�''�:�����=@?�����782���
 7+& -9����:�'�(*��9��&����	
L�)�
���:+���+��������� �7:2+&5	� 

5)  5�G(�������&���� 
�	�+��=�8+�:���782���
�&��9�	
��K������� �������-�2�����782���
 �7:2+&

��	)� L<*���'��4������<)���������9�	��( 
 
4.3  �(����,+�*+���,��5��	�*+���	�,*&�%��������+�����	��&��  

���5�����&->:9��=� 7+&8+:�
7�����8+�:���782���
����	�+��=�����2�� L<*�
8,95��	���9������5�����&->  ��4�����@>���� �4�����@>�'�*�����������*'�<)� 30 % 7+& +�+�    
30 % :�'+���	
 L<*���&��
�95���&��K��	��() 1) 8+���5�����&->:9��=����8+�:���782���
 2) 
8+���5�����&->8+:�
7�����8+�:���782���
 7+& 3) 8+���5�����&->�=��=9'�=� ���'(
���+&��(���	��() (?��8�5��(* 5 ?��8�5��(* 6 7+&?��8�5��(* 7) 
  4.3.1 �	���!��	�8��(���� ,+� *+���,�� �	�*+���	�,*&�%�� 5���	��	�/����� 

    ���5�����&->:9��=�8+:�
7�����8+�:���782���
 ��4������ ��� ���8+�:���782�
��
 ��&�&�5+� 1 �! �&-52������� �d������� �.�. 2552 4<� :=+��' �.�. 2553 ���5�����&->
���7����
� 2 �25� ��� ���5�����&->:9��=�7+&8+:�
7�� 7+&���5�����&->�=��=9'�=� 7:2+&
�25�'(���+&��(���	��() 

1)  �	���!��	�8��(����,+�*+���,���	�*+���	�,*&�%�� 
���5�����&->:9��=�7+&8+:�
7�����8+�:���782���
���7��:�'�������

8+�: ��� �����+K� (:�����(* 4.2) �����+�� (:�����(* 4.3) 7+&���� -�2 (:�����(* 4.4) 8+
���5�����&->'(�	��()  

1.1) ���8+�:���782���
�����+K� 
  ����8+�:���782���
�����+K� '(:9��=����(*�	)�-'� 0.79 
��:2����+��	' 
�����
� �9��+& 0.86 ���:9��=��	)�-'� L<*���&��
�95�:9��=����(*�(*�'2��
��������	)�-'�   
7+&�	��25��,��=� ��� �2����*�'�4��:>  ��
�����5�  0.54 
��:2����+��	' �����
��9��+& 0.58 
���:9��=��	)�-'� ���+�'� �2����*�'�=���@>:2��B ��
�����5� 0.11 
��:2����+��	' �����
�
�9��+& 0.12 �2����*�'��������  0.11 
��:2����+��	' �����
��9��+& 0.12 7+&�9���(*�=� ����2�
���*�'����*���	���(���� ��
�����5� 0.04 
��:2����+��	' �����
��9��+& 0.04   
 '(:9��=�8	�7���	)�-'� ��
�����5� 91.55 
��:2����+��	' �����
��9��+& 
99.14 ���:9��=��	)�-'� ��&��
�95�:9��=�8	�7���(*��
������� 7+&:9��=�8	�7���(*�'2��
�  
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������ �	��() :9��=�8	�7���(*��
��������(*'(�	��25��,��=� ��� �2� �9�2�� ����L�)��)������� ��
�
����5� 73.37 
��:2����+��	' �����
��9��+& 79.46 ���:9��=��	)�-'� ���+�'� �2�7�����
���5	� ��
�����5� 1.38 
��:2����+��	' �����
��9��+& 1.50 �2��)����� ��
�����5� 0.44 
��
:2����+��	' �����
��9��+& 0.47 �2��)��'	��4 ��
�����5� 0.39 
��:2����+��	'�����
��9��+& 
0.42 �2��)���2��HHh� ��
�����5���2��+& 0.06 
��:2����+��	' �����
��9��+& 0.06 7+&�9��
�(*�=� ��� �2��)��'	�-+2�+�*� ��
�����5� 0.02 
��:2����+��	' �����
��9��+& 0.02 
 
:�����(* 4.2  ������9��:9��=� 7+&8+:�
7�����8+�:���782���
����	�+��=�����2��         
                      (�����+K�)  ��4�����@>���� 
                       
��/���+��	' 

������ 
:9��=��(*��
������� 

:9��=��(*�'2��
�����
�� 

:9��=��5' 

����5� �9��+& ����5� �9��+& ����5� �9��+& 
�(����*��,����-�8
% 75.71 81.99 15.84 17.15 91.55 99.14 
�2��)����� 0.44 0.47 - - 0.44 0.47 
�2��)�� 0.06 0.06 - - 0.06 0.06 
�2��HHh� 0.06 0.06 - - 0.06 0.06 
�2��)��'	�-+2�+�*� 0.02 0.02 - - 0.02 0.02 
�2��)��'	��4 0.39 0.42 - - 0.39 0.42 
�2�7����� 1.38 1.50 2.89 3.13 4.27 4.63 
�2��)������� 73.37 79.46 12.95 14.02 86.32 93.48 
�(�����������-�8
% - - 0.79 0.86 0.79 0.86 
�2����*�'�������� - - 0.11 0.12 0.11 0.12 
�2����*�'����*���	���(�
��� 

- - 0.04 0.04 0.04 0.04 

�2����*�'�4��:> - - 0.54 0.58 0.54 0.58 
�2����*�'�=���@>:2��B - - 0.11 0.12 0.11 0.12 
�(������-�8
% 75.71 81.99 16.63 18.01 92.34 100.00 
����8+8+�: - - - - 98.97 - 
�����9�=�G� - - - - 7.42 - 
������=�G� - - - - 6.63 - 



40 
 

 :9��=�8	�7���(*�'2��
��������(*'(�	��25��,��=� ����2��)������� ���	5�����
���:	5��� ��
�����5� 12.95 
��:2����+��	' �����
��9��+& 14.02 ���:9��=��	)�-'�  
���+�'� �2���(�������2�7����� ���	5����� ��
�����5� 2.89 
��:2����+��	' �����
��9��
+& 3.13   
 '(:9��=��	)�-'� ����8+�:���782���
 ��
�����5� 92.34 
��:2����+��	' L<*�
��&��
�95� :9��=����(*�	)�-'� ��
�����5� 0.79 
��:2����+��	' �����
��9��+& 0.86 ���
:9��=��	)�-'� 7+& :9��=�8	�7���	)�-'� ��
�����5� 91.55 
��:2����+��	' �����
��9��+& 
99.14 
 '(8+:�
7��������8+�:���782���
 ��� �����9�=�G���
�����5� 7.42 
��:2�
���+��	' 7+&'(������=�G� ��
�����5� 6.63 
��:2����+��	' 

1.2) ���8+�:���782���
�����+�� 
 ����8+�:���782���
�����+��  '(:9��=����(*�	)�-'� 0.47 
��:2����+��	' 

�����
� �9��+& 0.52 ���:9��=��	)�-'� L<*���&��
�95�:9��=����(*�(*�'2��
��������	)�-'�   
7+&�(*�	��25��,��=� ��� �2����*�'�4��:>  ��
�����5�  0.21 
��:2����+��	' �����
��9��+& 
0.24 ���:9��=��	)�-'� ���+�'� �2����*�'�������� ��
�����5� 0.13 
��:2����+��	' �����
�
�9��+& 0.14 �2����*�'�=���@>:2��B  0.09 
��:2����+��	' �����
��9��+& 0.10 �2����*�'
����*���	���(���� ��
�����5� 0.02 
��:2����+��	' �����
��9��+& 0.02 7+&�9���(*�=� ��� �2�
���*�'
9���	������ ��
�����5� 0.01 
��:2����+��	' �����
��9��+& 0.01 
 '(:9��=�8	�7���	)�-'� ��
�����5� 89.43 
��:2����+��	' �����
��9��+& 
99.48 ���:9��=��	)�-'� ��&��
�95�:9��=�8	�7���(*��
������� 7+& :9��=�8	�7���(*�'2
��
������� �	��()  
 :9��=�8	�7���(*��
��������(*'(�	��25��,��=� ��� �2� �9�2�� ����L�)��)������� 
��
�����5� 73.37 
��:2����+��	' �����
��9��+& 81.62 ���:9��=��	)�-'� ���+�'� 
�2�7��������5	� ��
�����5� 1.13 
��:2����+��	' �����
��9��+& 1.25 �2��)��'	��4 ��
�
����5� 0.39 
��:2����+��	' �����
��9��+& 0.43 �2��)����� ��
�����5� 0.31 
��:2����+��	' 
�����
��9��+& 0.34 �2��)���2��HHh� ��
�����5���2��+& 0.02 
��:2����+��	' �����
��9��+& 
0.03 7+&�9���(*�=� ��� �2��)��'	�-+2�+�*� ��
�����5� 0.01 
��:2����+��	' �����
��9��+& 0.01 
  :9��=�8	�7���(*�'2��
��������(*'(�	��25��,��=� ����2��)������� ���	5�����
���:	5��� ��
�����5� 12.95 
��:2����+��	' �����
��9��+& 14.40 ���:9��=��	)�-'� 
���+�'� �2���(�������2�7����� ���	5����� ��
�����5�  1.15 
��:2����+��	' �����
��9��
+& 1.28 ���:9��=��	)�-'�  
 '(:9��=��	)�-'� ����8+�:���782���
 ��
�����5� 89.90 
��:2����+��	' L<*�
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��&��
�95� :9��=����(*�	)�-'� ��
�����5� 0.47 
��:2����+��	' �����
��9��+& 0.52 ���
:9��=��	)�-'� 7+& :9��=�8	�7���	)�-'� ��
�����5� 89.43 
��:2����+��	' �����
��9��+& 
99.48 
 '(8+:�
7��������8+�:���782���
 ��� �����9�=�G� ��
�����5� 9.54 
��
:2����+��	' 7+&'(������=�G� ��
�����5� 9.07 
��:2����+��	' 
 
:�����(* 4.3 ������9��:9��=� 7+&8+:�
7�����8+�:���782���
����	�+��=�����2��    
 (�����+��)  ��4�����@>����     
                       
��/���+��	' 

������ 
:9��=��(*��
�����

�� 
:9��=��(*�'2��
�����

�� 
:9��=��5' 

����5� �9��+& ����5� �9��+& ����5� �9��+& 
�(����*��,����-�8
% 75.33 83.80 14.10 15.68 89.43 99.48 

�2��)����� 0.31    0.34 - - 0.31 0.34 
�2��)�� 0.02 0.03 - - 0.02 0.03 
�2��HHh� 0.02 0.03 - - 0.02 0.03 
�2��)��'	�-+2�+�*� 0.01 0.01 - - 0.01 0.01 
�2��)��'	��4 0.39 0.43 - - 0.39 0.43 
�2�����
()������,9 0.09    0.10 - - 0.09 0.10 
�2�7����� 1.13 1.25 1.15 1.28   2.28  2.53 
�2��)������� 73.37 81.62 12.95 14.40 86.32 96.02 
�(�����������-�8
% - - 0.47 0.52 0.47 0.52 

�2����*�'��������  - 0.13 0.14 0.13     0.14 
�2����*�'
9���	������ - - 0.01 0.01   0.01 0.01 
�2����*�'����*���	���(���� - - 0.02 0.02 0.02 0.02 
�2����*�'�4��:> - - 0.21 0.24 0.21 0.24 
�2����*�'�=���@>:2��B      - 0.09 0.10 0.09 0.10 
�(������-�8
% 75.33 83.80 14.57 16.20 89.90 100.00 

�	�	*+*+�� - - - - 98.97 - 
�	�'%(���9�   - - - 9.54 - 
��	'����9� - - - - 9.07 - 
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1.3) ���8+�:���782���
���� -�2 
 ����8+�:���782���
���� -�2  '(:9��=����(*�	)�-'� 0.36 
��:2����+��	' 

�����
� �9��+& 0.37 ���:9��=��	)�-'� L<*���&��
�95�:9��=����(*�(*��
�����������2���2�
�������� ��
�����5� 0.17 
��:2����+��	' �����
��9��+& 0.18 7+&:9��=����(*�(*�'2��
������� 
���'(�	��25��,��=� ��� �2����*�'�4��:>  ��
�����5�  0.11 
��:2����+��	' �����
��9��+& 0.12 
���:9��=��	)�-'� ���+�'� �2� �2����*�'�=���@>:2��B  0.06 
��:2����+��	' �����
��9��+& 
0.07 7+&�9���(*�=� ��� �2����*�'����*���	���(���� ��
�����5� 0.01 
��:2����+��	' �����
��9��
+& 0.01 

'(:9��=�8	�7���	)�-'� ��
�����5� 95.00 
��:2����+��	' �����
��9��+& 
99.63 ���:9��=��	)�-'� ��&��
�95�:9��=�8	�7���(*��
������� 7+& :9��=�8	�7���(*�'2
��
������� �	��()  
 :9��=�8	�7���(*��
��������(*'(�	��25��,��=� ��� �2� �9�2�� ����L�)��)������� 
��
�����5� 93.03 
��:2����+��	' �����
��9��+& 97.56 ���:9��=��	)�-'� ���+�'� 
�2�7��������5	� ��
�����5� 0.42 
��:2����+��	' �����
��9��+& 0.44 �2��)����� ��
�����5� 
0.25 
��:2����+��	' �����
��9��+& 0.26 �2�����
()������,9 ��
�����5� 0.13 
��:2����+��	' 
�����
��9��+& 0.13  �2��)��'	��4 ��
�����5� 0.12 
��:2����+��	' �����
��9��+& 0.13 �2��HHh� 
��
�����5� 0.04 
��:2����+��	' �����
��9��+& 0.04 7+&�9���(*�=� ��� �2��)��'	�-+2�+�*� ��
�
����5� 0.003 
��:2����+��	' �����
��9��+& 0.004 
 :9��=�8	�7���(*�'2��
������� L<*�'(��(���2���(�������2�7����� ���	5����� 
��
�����5� 1.01 
��:2����+��	' �����
��9��+& 1.06 ���:9��=��	)�-'�  
 '(:9��=��	)�-'� ����8+�:���782���
 ��
�����5� 95.36 
��:2����+��	' L<*�
��&��
�95� :9��=����(*�	)�-'� ��
�����5� 0.36 
��:2����+��	' �����
��9��+& 0.37 ���
:9��=��	)�-'� 7+& :9��=�8	�7���	)�-'� ��
�����5� 95.00 
��:2����+��	' �����
��9��+& 
99.63 
 '(8+:�
7��������8+�:���782���
 ��� �����9�=�G� ��
�����5� 3.97 
��
:2����+��	' 7+&'(������=�G� ��
�����5� 3.61 
��:2����+��	' 
  ���8+���5�����&->:9��=�7+&8+:�
7�����7:2+&�������8+�:���782���
���
�	�+��=�����2��  ��4�����@>�����
52� �	�+��=�8+�:��������+��'(�����9�=�G� 7+&�����
�=�G�'���(*�=� ���+�'� ��� �	�+��=����782���
�����+K� 7+& �	�+��=����782���
����
 -�2 :�'+���	
 �	)��()���*���95��-:=8+����	��	�:2����() 

(1)  �	�+��=�8+�:��������+��'(:9��=��	)�-'� ����8+�:���782���

�9���(*�=� ����D��&:9��=��2� �9�2�����L�)��)��������(*:*��'(�2���2��	��	
�	�+��=�8+�:�������
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�+K� ��� 90 ����>�LK�:> ������)����7-9� ���*������	)� 2 �������8+�:�&L�)��)����������
��5�5�������:�� L<*��&'(+	��@&���L�)��-'����	
8,9�5
�5'�)������� ��9��4�*� L<*�:2���	

�	�+��=�8+�:���782���
���� -�2 �(*:9��L�)��)�������:2����8,9�5
�5'�)������� ��9��4�*� 
:9��L�)� ��&�	
�(*�,��52�  ��	:�� 97 ����>�LK�:>������)����7-9�  

(2)  ���'�@���8+�:�(*'�� �2�8+ -9:9��=����(*:2�-�25�+�+� �	�+��=�
8+�:���782���
�����+K�'(�2� �9�2�� ��25��()'���(*�=� ���+�'� ��� �	�+��=�8+�:���782���

�����+�� 7+& ���� -�2 :�'+���	
 
 
:�����(* 4.4 ������9��:9��=� 7+&8+:�
7�����8+�:���782���
����	�+��=�����2��          
 (���� -�2)  ��4�����@>����     
                       
��/���+��	' 

������ 
:9��=��(* ��
�����
�� 

:9��=��(*�'2��
�
������ 

:9��=��5' 

����5� �9��+& ����5� �9��+& ����5� �9��+& 
�(����*��,����-�8
% 93.99 98.57 1.01 1.06  95.00 99.63 

�2��)����� 0.25 0.26   -     0.25 0.26 
�2��HHh� 0.04 0.04 - - 0.04 0.04 
�2��)��'	�-+2�+�*� 0.003 0.004 - - 0.003 0.004 
�2��)��'	��4 0.12 0.13   - 0.12 0.13 
�2�����
()������,9 0.13   0.13 - - 0.13 0.13 
�2�7����� 0.42 0.44 1.01 1.06    1.43 1.50 
�2��)������� 93.03 97.56 - - 9  03 97.56 
�(�����������-�8
% 0.17 0.18 0.19 0.20 0.36 0.37 

�2���2��������� 0.17 0.18 - - 0.17 0.18 
�2����*�'����*���	���(���� - - 0.01 0.01 0.01 0.01 
�2����*�'�4��:> - - 0.11 0.12 0.11 0.12 
�2����*�'�����=���@>:2�� 
B 

- - 0.06 0.07 0.06 0.07 

�(������-�8
% 94.16 98.74 1.20 1.26 95.36 100.00 

�	�	*+*+�� - - - - 98.97 - 
�	�'%(���9� - -  - 3.97 - 
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��	'����9�       - 3.61 -  
4) �	���!��	�8���%��(
���  
���5�����&->�=��=9'�=� (Break ] Even Analysis) ��&��
�95� 8+8+�:�=9'�=� 7+& 

�����=9'�=�  ���'(���+&��(���	��() (:�����(* 4.5) 
 2.1)  8+8+�:�=9'�=�  

 ��
����-��&�	
8+8+�:�(*��� -9',+�2�8+8+�:-��������9��2��	
�2� �9�2�� ����
8+�:�	)�-'����(  L<*�8+���5�����&->8+8+�:�=9'�=�����	�+��=� 3 ���� '(�	��() 

(1) �	�+��=�8+�:���782���
�����+K� '(:9��=����(*�	)�-'�:2� 1 �! ��
�
����5����� 49,158 
��  :9��=�8	�7���D+(*���
�����5����� 91.55 
��:2����+��	' 7+&�������
782���
 98.97 
�� :2����+��	' ��98+8+�:�=9'�=� 6,625.03 ���+��	':2��!  ��@&�(*8+8+�:�(*
8+�:��9����  62,225 ���+��	':2��! 7���52��	�+��=�8+�:���782���
�����+K�'(�����������8+�: 

(2) �	�+��=�8+�:���782���
�����+�� '(:9��=����(*�	)�-'�:2� 1 �! ��
�
����5����� 73,449 
��  :9��=�8	�7���D+(*���
�����5����� 89.43 
��:2����+��	' 7+&�������
782���
 98.97 
�� :2����+��	' ��98+8+�:�=9'�=� 7,699.08 ���+��	':2��!  ��@&�(*8+8+�:�(*
8+�:��9����  156,275 ���+��	':2��! 7���52��	�+��=�8+�:���782���
�����+��'(�����������
8+�: 

(3) �	�+��=�8+�:���782���
���� -�2 '(:9��=����(*�	)�-'�:2� 1 �! ��
�
����5����� 103,740 
��  :9��=�8	�7���D+(*���
�����5����� 95.00 
��:2����+��	' 7+&����
���782���
 98.97 
�� :2����+��	' ��98+8+�:�=9'�=� 26,877.58 ���+��	':2��!  ��@&�(*8+8+�:
�(*8+�:��9����  296,400 ���+��	':2��! 7���52��	�+��=�8+�:���782���
���� -�2'(�����������
8+�:      
     
:�����(* 4.5  8+8+�:�=9'�=� 7+&�����=9'�=����8+�:���782���
����	�+��=�����2��  
          ��4�����@>���� 

������ �����+K� �����+�� ���� -�2 
8+8+�:�=9'�=� (���+��	'/�!) 6,625.03 7,699.08 26,877.58 
�����=9'�=� (
��/ ���+��	') 92.34 89.90 95.36 

 
2.2) �����=9'�=�  
��
����-��&�	
����:*���=��(*�	�+��=�8+�:���782���
�&���8+8+�:����'2

����=�  L<*����8+���5�����&->�����=9'�=�����	�+��=� 3 ���� �	��() 
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(1)  �	�+��=�8+�:���782���
�����+K� '(:9��=����(*�	)�-'�:2� 1 �! ��
�
����5����� 49,158 
��  :9��=�8	�7���D+(*���
�����5����� 91.55 
��:2����+��	' ��98+8+�: 
62,225 L<*���9�����=9'�=� 92.34 
��:2����+��	' ��@&�(*�	�+��=�8+�:���782���
�����+K�
��9�	
���� 98.97 
��:2����+��	' 7���52� �	�+��=�8+�:���782���
�����+K���9�����������
8+�: 

(2) �	�+��=�8+�:���782���
�����+�� '(:9��=����(*�	)�-'�:2� 1 �! ��
�
����5����� 73,449 
��  :9��=�8	�7���D+(*���
�����5����� 89.43 
��:2����+��	' ��98+8+�: 
156,275 ���+��	':2��! L<*���9�����=9'�=� 89.90 
�� :2����+��	'  ��@&�(*�	�+��=�8+�:���782�
��
�����+����9�	
���� 98.97 
��:2����+��	' 7���52��	�+��=�8+�:���782���
�����+��
��9�����������8+�: 

(3) �	�+��=�8+�:���782���
���� -�2 '(:9��=����(*�	)�-'�:2� 1 �! ��
�
����5����� 103,740 
��  :9��=�8	�7���D+(*���
�����5����� 95.00 
��:2����+��	' ��98+8+�: 
296,400 ���+��	':2��! L<*���9�����=9'�=� 95.36 
�� :2����+��	'  ��@&�(*�	�+��=�8+�:���782�
��
���� -�2��9�	
���� 98.97 
��:2����+��	' 7���52� �	�+��=�8+�:���782���
���� -�2
��9�����������8+�: 

 
 ���8+���5�����&->�=��=9'�=����8+�:���782���
 ��4�����@>���� �
52��	�+��=�
8+�:���782���
�	)� 3 ���� '(8+�����������8+�:���782���
 L<*��-K���9��� 8+8+�:�=9'�=� 7+&
�����=9'�=� L<*�'(�2��9���52�8+8+�:�(*8+�:��9���� 7+&�����(*��9�	
���� 
  4.3.2  �	���!��	�8��(���� ,+� *+���,�� �	�*+���	�,*&�%�� 5���	��	�/� !
>���	�	
     �	�,*&�%�� ,+��	�	�-�	�	��%!1��
�E-� 30 % 

���5�����&->:9��=�8+:�
7�����8+�:���782���
 ��4�����@> �'�*��������782�
��
 7+&�����)����������*'�<)� 30 % ������8+�:���782���
 ��&�&�5+� 1 �! �&-52������� 
�d������� �.�. 2552 4<� :=+��' �.�. 2553 ������+���4�����@>�'�*��������782���
 7+&
�����)������� ���*'�<)� 30 % ����������� ���5�����&->���7����
� 2 �25� ��� ���5�����&->
:9��=�7+&8+:�
7�� 7+&���5�����&->�=��=9'�=� 7:2+&�25�'(���+&��(���	��() 

1) �	���!��	�8��(����,+�*+���,���	�*+���	�,*&�%�� 
���5�����&->:9��=�7+&8+:�
7�����8+�:���782���
���7��:�'�������8+�: 

��� �����+K� (:�����(* 4.6) �����+�� (:�����(* 4.7) 7+&���� -�2 (:�����(* 4.8) 8+���
5�����&->'(�	��()  
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1.1) ���8+�:���782���
�����+K� 
 ����8+�:���782���
�����+K�  '(:9��=����(*�	)�-'� 0.79 
��:2����+��	' 

�����
� �9��+& 0.67 ���:9��=��	)�-'� L<*���&��
�95�:9��=����(*�(*�'2��
��������	)�-'� 7+&
�	��25��,��=���� �2����*�'�4��:> ��
�����5�  0.54 
��:2����+��	' 
 
:�����(* 4.6  ������9��:9��=� 7+&8+:�
7�����8+�:���782���
����	�+��=�����2��  
    (�����+K�) ��4�����@>�'�*��������782���
 7+&�����)����������*'�<)�        
    30  % 

 
��/���+��	' 

������ 
:9��=��(*��
������� 

:9��=��(*�'2��
�����
�� 

:9��=��5' 

����5� �9��+& ����5� �9��+& ����5� �9��+& 

�(����*��,����-�8
% 97.72 82.65 19.73 16.68 117.45 99.33 

�2��)����� 0.44 0.37 - - 0.44 0.37 

�2��)�� 0.06 0.05 - - 0.06 0.05 

�2��HHh� 0.06 0.05 - - 0.06 0.05 

�2��)��'	�-+2�+�*� 0.02 0.01 - - 0.02 0.01 

�2��)��'	��4 0.39 0.33 - - 0.39 0.33 

�2�7����� 1.38 1.17 2.89 2.45 4.27 3.62 

�2��)������� 95.39 80.67 16.83 14.24 112.22 94.91 

�(�����������-�8
% - - 0.79 0.67 0.79 0.67 

�2����*�'�������� - - 0.11 0.09 0.11 0.09 

�2����*�'����*���	���(���� - - 0.04 0.03 0.04 0.03 

�2����*�'�4��:> - - 0.54 0.45 0.54 0.45 

�2����*�'�����=���@>:2�� B - - 0.11 0.10 0.11 0.10 

�(������-�8
% 97.72 82.65 20.52 17.35 118.24 100.00 

�	�	*+*+�� -  -   -   -  128.66 - 

�	�'%(���9� - - - - 11.21 - 

��	'����9�  - - - - 10.42 - 
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�����
��9��+& 0.45 ���:9��=��	)�-'� ���+�'� �2����*�'�=���@>:2��B ��
�����5� 0.11 
��:2�
���+��	' �����
��9��+& 0.10 �2����*�'��������  0.11 
��:2����+��	' �����
��9��+& 0.09 7+&
�9���(*�=� ����2����*�'����*���	���(���� ��
�����5� 0.04 
��:2����+��	' �����
��9��+& 0.03 

'(:9��=�8	�7���	)�-'� ��
�����5� 117.45 
��:2����+��	' �����
��9��+& 
99.33 ���:9��=��	)�-'� ��&��
�95�:9��=�8	�7���(*��
������� 7+& :9��=�8	�7���(*�'2��
�
������ �	��()  

:9��=�8	�7���(*��
��������(*'(�	��25��,��=� ��� �2� �9�2�� ����L�)��)������� 
��
�����5� 95.39 
��:2����+��	' �����
��9��+& 80.67 ���:9��=��	)�-'� ���+�'� 
�2�7��������5	� ��
�����5� 1.38 
��:2����+��	' �����
��9��+& 1.17 �2��)����� ��
�����5� 
0.44 
��:2����+��	' �����
��9��+& 0.37 �2��)��'	��4 ��
�����5� 0.39 
��:2����+��	' �����
�
�9��+& 0.33 �2��)���2��HHh� ��
�����5���2��+& 0.06 
��:2����+��	' �����
��9��+& 0.05 7+&
�9���(*�=� ��� �2��)��'	�-+2�+�*� ��
�����5� 0.02 
��:2����+��	' �����
��9��+& 0.01 

:9��=�8	�7���(*�'2��
��������(*'(�	��25��,��=� ��� �2��)������� ���	5�����
���:	5��� ��
�����5����� 16.83 
��:2����+��	' �����
��9��+& 14.24 ���:9��=��	)�-'� 
���+�'� �2���(�������2�7����� ���	5�������
�����5�  2.89 
��:2����+��	' �����
��9��+& 
2.45  

'(:9��=��	)�-'� ����8+�:���782���
 ��
�����5� 118.24 
��:2����+��	' L<*�
��&��
�95� :9��=����(*�	)�-'� ��
�����5� 0.79 
��:2����+��	' �����
��9��+& 0.67 ���
:9��=��	)�-'� 7+& :9��=�8	�7���	)�-'� ��
�����5� 117.45 
��:2����+��	' �����
��9��+& 
99.33 

'(8+:�
7��������8+�:���782���
 ��� �����9�=�G���
�����5� 11.21 
��:2�
���+��	' 7+&'(������=�G���
�����5� 10.42 
��:2����+��	' 

1.2) ���8+�:���782���
�����+�� 
 ����8+�:���782���
�����+��'(:9��=����(*�	)�-'� 0.47 
��:2����+��	' 

�����
� �9��+& 0.40 ���:9��=��	)�-'� L<*���&��
�95�:9��=����(*�(*�'2��
��������	)�-'�   
7+&�(*�	��25��,��=� ��� �2����*�'�4��:>  ��
�����5�  0.21 
��:2����+��	' �����
��9��+& 0.18 
���:9��=��	)�-'� ���+�'� �2����*�'�������� ��
�����5� 0.13 
��:2����+��	' �����
��9��+& 
0.11 �2����*�'�=���@>:2��B  0.09 
��:2����+��	' �����
��9��+& 0.08 �2����*�'����*���	���(���� 
��
�����5� 0.02 
��:2����+��	' �����
��9��+& 0.02 7+&�9���(*�=� ��� �2����*�'
9���	������ 
��
�����5� 0.01 
��:2����+��	' �����
��9��+& 0.01 
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     :�����(* 4.7   ������9��:9��=� 7+&8+:�
7�����8+�:���782���
����	�+��=�����2��            
    (�����+��)  ��4�����@>�'�*��������782���
 7+&�����)����������*'�<)�  
    30 %   

        
��/���+��	' 

������ 
 

:9��=��(*��
�����
�� 

:9��=��(*�'2��
�����
�� 

:9��=��5' 

����5� �9��+& ����5� �9��+& ����5� �9��+& 

�(����*��,����-�8
% 97.35 84.06 17.98 15.53 115.33 99.60 

�2��)����� 0.31 0.26 - - 0.31 0.26 

�2��)�� 0.02 0.02 - - 0.02 0.02 

�2��HHh� 0.02 0.02 - - 0.02 0.02 

�2��)��'	�-+2�+�*� 0.01 0.01 - - 0.01 0.01 

�2��)��'	��4 0.39 0.33 - - 0.39 0.33 

�2�����
()������,9 0.09 0.08 - - 0.09 0.08 

�2�7����� 1.13 0.97 1.15 0.99 2.28 1.97 
�2��)������� 95.39 82.37 16.83 14.54 112.22 96.91 

�(�����������-�8
% - - 0.47 0.40 0.47 0.40 

�2����*�'�������� - - 0.13 0.11 0.13 0.11 

�2����*�'
9���	������ - - 0.01 0.01 0.01 0.01 

�2����*�'����*���	���(���� - - 0.02 0.02 0.02 0.02 

�2����*�'�4��:> - - 0.21 0.18 0.21 0.18 

�2����*�'�=���@>:2��B - - 0.09 0.08 0.09 0.08 

�(������-�8
% 97.35 84.06 18.45 15.94 115.80 100.00 

�	�	*+*+�� - - - - 128.66 - 
�	�'%(���9�  - - - - 13.33 - 

��	'����9� - - - - 12.86 - 
 

 '(:9��=�8	�7���	)�-'� ��
�����5� 115.33 
��:2����+��	' �����
�
�9��+& 99.60 ���:9��=��	)�-'� ��&��
�95�:9��=�8	�7���(*��
������� 
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7+&:9��=�8	�7���(*�'2��
������� �	��()  
:9��=�8	�7���(*��
��������(*'(�	��25��,��=� ����2� �9�2�� ����L�)��)������� 

��
�����5� 95.39 
��:2����+��	' �����
��9��+& 82.37 ���:9��=��	)�-'� ���+�'� 
�2�7��������5	� ��
�����5� 1.13 
��:2����+��	' �����
��9��+& 0.97 �2��)��'	��4 ��
�����5� 
0.39 
��:2����+��	' �����
��9��+& 0.33 �2��)����� ��
�����5� 0.31 
��:2����+��	' �����
�
�9��+& 0.26 �2��)���2��HHh� ��2��+&��
�����5� 0.02 
��:2����+��	' �����
��9��+& 0.02 7+&
�9���(*�=� ��� �2��)��'	�-+2�+�*� ��
�����5� 0.01 
��:2����+��	' �����
��9��+& 0.01 

:9��=�8	�7���(*�'2��
��������(*'(�	��25��,��=� ����2��)������� ���	5��������
:	5�����
�����5����� 16.83 
��:2����+��	' �����
��9��+& 14.54 ���:9��=��	)�-'� ���+�'� 
�2���(�������2�7����� ���	5�������
�����5� 1.15 
��:2����+��	' �����
��9��+& 0.99   

'(:9��=��	)�-'� ����8+�:���782���
 ��
�����5� 115.80 
��:2����+��	' L<*�
��&��
�95�:9��=����(*�	)�-'���
�����5� 0.47 
��:2����+��	' �����
��9��+& 0.40 ���
:9��=��	)�-'� 7+& :9��=�8	�7���	)�-'� ��
�����5� 115.33 
��:2����+��	' �����
��9��+& 
99.60 

'(8+:�
7��������8+�:���782���
 ��������9�=�G���
�����5� 13.33 
��:2�
���+��	' 7+&'(������=�G� ��
�����5� 12.86 
��:2����+��	' 

1.3) ���8+�:���782���
���� -�2 
 ����8+�:���782���
���� -�2 '(:9��=����(*�	)�-'� 0.36 
��:2����+��	' 

�����
��9��+& 0.29 ���:9��=��	)�-'� L<*���&��
�95�:9��=����(*�(*��
�����������2���2�
����������
�����5� 0.17 
��:2����+��	' �����
��9��+& 0.14 7+&:9��=����(*�(*�'2��
������� 
���'(�	��25��,��=� ��� �2����*�'�4��:> ��
�����5�  0.11 
��:2����+��	' �����
��9��+& 0.09 
���:9��=��	)�-'� ���+�'� ��� �2����*�'�=���@>:2��B  0.06 
��:2����+��	' �����
��9��+& 
0.05 7+&�9���(*�=� ��� �2����*�'����*���	���(���� ��
�����5� 0.01 
��:2����+��	' �����
��9��
+& 0.01 

'(:9��=�8	�7���	)�-'� ��
�����5� 122.92 
��:2����+��	' �����
��9��+& 
99.71 ���:9��=��	)�-'� ��&��
�95�:9��=�8	�7���(*��
������� 7+& :9��=�8	�7���(*�'2��
�
������ �	��()  

:9��=�8	�7���(*��
��������(*'(�	��25��,��=� ��� �2� �9�2�� ����L�)��)������� 
��
�����5� 120.95 
��:2����+��	' �����
��9��+& 98.11 ���:9��=��	)�-'� ���+�'� 
�2�7��������5	� ��
�����5� 0.42 
��:2����+��	' �����
��9��+& 0.34 �2��)�������
�����5� 
0.25 
��:2����+��	' �����
��9��+& 0.20 �2�����
()������,9 ��
�����5� 0.13 
��:2����+��	' ���
��
��9��+& 0.10  �2��)��'	��4 ��
�����5� 0.12 
��:2����+��	' �����
��9��+& 0.10 �2��HHh� 
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��
�����5� 0.04 
��:2����+��	' �����
��9��+& 0.03 7+&�9���(*�=� ��� �2��)��'	�-+2�+�*� ��
�
����5� 0.003 
��:2����+��	' �����
��9��+& 0.003 

:9��=�8	�7���(*�'2��
������� L<*�'(��(���2���(�������2�7����� ���	5����� 
��
�����5�  1.01 
��:2����+��	' �����
��9��+& 0.82 ���:9��=��	)�-'�  

 
:�����(* 4.8  ������9��:9��=� 7+&8+:�
7�����8+�:���782���
����	�+��=�����2��                          
          (���� -�2) ��4�����@>�'�*��������782���
 7+&�����)����������*'�<)�  
          30 % 

         
�� / ���+��	' 

������ 
 

:9��=��(*��
�����
�� 

:9��=��(*�'2��
�����
�� 

:9��=��5' 

����5� �9��+& ����5� �9��+& ����5� �9��+& 

�(����*��,����-�8
% 121.91 98.89 1.01 0.82 122.92 99.71 

�2��)����� 0.25 0.20 - - 0.25 0.20 

�2��HHh� 0.04 0.03 - - 0.04 0.03 

�2��)��'	�-+2�+�*� 0.003 0.003 - - 0.003 0.003 

�2��)��'	��4 0.12 0.10 - - 0.12 0.10 

�2�����
()������,9 0.13 0.10 - - 0.13 0.10 

�2�7����� 0.42 0.34 1.01 0.82 1.43 1.16 

�2��)������� 120.95 98.11 - - 120.95 98.11 

�(�����������-�8
% 0.17 0.14 0.19 0.15 0.36 0.29 

�2���2��������� 0.17 0.14 - - 0.17 0.14 

�2����*�'����*���	���(���� - - 0.01 0.01 0.01 0.01 

�2����*�'�4��:> - - 0.11 0.09 0.11 0.09 

�2����*�'�����=���@>:2�� B - - 0.06 0.05 0.06 0.05 

�(������-�8
% 122.08 99.02 1.20 0.97 123.28 100.00 

�	�	*+*+�� - - - - 128.66 - 

�	�'%(���9�  - - - - 5.74 - 

��	'����9� - - - - 5.38 - 
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 '(:9��=��	)�-'� ����8+�:���782���
 ��
�����5� 123.28 
��:2�
���+��	' L<*���&��
�95� :9��=����(*�	)�-'� ��
�����5� 0.36 
��:2����+��	' �����
��9��+& 
0.29 ���:9��=��	)�-'� 7+& :9��=�8	�7���	)�-'� ��
�����5� 122.92 
��:2����+��	' �����
�
�9��+& 99.71 

'(8+:�
7��������8+�:���782���
 ��� �����9�=�G� ��
�����5� 5.74 
��:2�
���+��	' 7+&'(������=�G� ��
�����5� 5.38 
��:2����+��	' 
 
 ���8+���5�����&->:9��=�7+&8+:�
7�����7:2+&�������8+�:���782���
���
�	�+��=�����2�� ��4�����@>�'�*��������782���
 7+&�����)����������*'�<)� 30 % �
52� �	)� 
3 �������8+�: '(�����9�=�G� 7+&������=�G� ���*'�<)� ��	:���(*��2��	� �'�*���(�
�	
���8+�: �
�4�����@>���� �	)��()���*���95��-:=8+ ��� �'�*��������782���
���*'�,��<)� ��� -9�	�+��=�8+�:���
782���
 '(�����9������������782���
'���<)��52����8+�:���782���
 ��4�����@>���� �'�*�
���'�@8+8+�:��2��	�  ��@&�(*:9��=����(* 7+&:9��=�8	�7����*�B�	������' ���59� :9��=�8	�
7���2��)������� �(*�,��<)�:�'�������782���
�&�-K�52� �'�*��	�+��=�8+�:���782���
 '(�����9
�,��<)� L<*��'�*����'�-	�+
:9��=��	)�-'�����25� -�2�&���(* ���59������)��������(*���*'�,��<)�
:�'�������782���
 ��� -9���8+�:���782���
����	)� 3 ���� '(�����9�=�G� 7+&������=�G��,�
:�'�������782���
7+&�����)��������(*���*'�,��<)�   
 2)  �	���!��	�8���%��(
���  
 ���5�����&->�=��=9'�=� (Break ] Even Analysis) ��&��
�95� 8+8+�:�=9'�=� 7+&
�����=9'�=� ���'(���+&��(���	��() (:�����(* 4.9)  

2.1) 8+8+�:�=9'�=�  
 ��
����-��&�	
8+8+�:�(*��� -9',+�2�8+8+�:-��������9��2��	
�2� �9�2�� ����

8+�:�	)�-'����(  L<*����8+���5�����&->8+8+�:�=9'�=�����	�+��=� 3 ���� �	��()        
(1) �	�+��=�8+�:���782���
�����+K�'(:9��=����(*�	)�-'�:2� 1 �! ��
�

����5����� 49,158 
��  :9��=�8	�7���D+(*���
�����5����� 117.45 
��:2����+��	' 7+&����
���782���
 128.66 
�� :2����+��	' ��98+8+�:�=9'�=� 4,385.17 ���+��	':2��!  ��@&�(*8+8+�:
�(*8+�:��9����  62,225 ���+��	':2��! 7���52��	�+��=�8+�:���782���
�����+K�'(�����������
8+�: 

(2) �	�+��=�8+�:���782���
�����+��'(:9��=����(*�	)�-'�:2� 1 �! ��
�
����5����� 73,449 
��  :9��=�8	�7���D+(*���
�����5����� 115.33 
��:2����+��	' 7+&���� 
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���782���
 128.66 
�� :2����+��	' ��98+8+�:�=9'�=� 5,510.07 ���+��	':2��!  ��@&�(*8+8+�:
�(*8+�:��9����  156,275 ���+��	':2��! 7���52��	�+��=�8+�:���782���
�����+��'(�����������
8+�: 

(3) �	�+��=�8+�:���782���
���� -�2 '(:9��=����(*�	)�-'�:2� 1 �! ��
�
����5����� 103,740 
��  :9��=�8	�7���D+(*���
�����5����� 122.92 
��:2����+��	' 7+&����
���782���
 128.66 
�� :2����+��	' ��98+8+�:�=9'�=� 18,589.55 ���+��	':2��!  ��@&�(*8+8+�:
�(*8+�:��9����  296,400 ���+��	':2��! 7���52��	�+��=�8+�:���782���
���� -�2'(�����������
8+�: 
 
:�����(* 4.9   8+8+�:�=9'�=�7+& �����=9'�=����8+�:���782���
����	�+��=�����2��  �  
    �4�����@>�'�*��������782���
 7+&�����)����������*'�<)� 30 % 

������ �����+K� �����+�� ���� -�2 
8+8+�:�=9'�=�(���+��	' / �! ) 4,385.17 5,510.07 18,589.55 
�����=9'�=� (
��/ ���+��	') 118.24 115.80 123.28 

 
2.2)  �����=9'�=�  
��
����-��&�	
����:*���=��(*�	�+��=�8+�:���782���
�&���8+8+�:����'2

����=�  L<*����8+���5�����&->�����=9'�=�����	�+��=� 3 ���� �	��() 
(1) �	�+��=�8+�:���782���
�����+K� '(:9��=����(*�	)�-'�:2� 1 �! ��
�

����5����� 49,158 
��  :9��=�8	�7���D+(*���
�����5����� 117.45 
��:2����+��	' ��98+8+�: 
62,225 L<*���9�����=9'�=� 118.24 
��:2����+��	'  ��@&�(*�	�+��=�8+�:���782���
�����+K�
��9�	
���� 128.66 
��:2����+��	' 7���52��	�+��=�8+�:���782���
�����+K���9�����������
8+�: 

(2) �	�+��=�8+�:���782���
�����+�� '(:9��=����(*�	)�-'�:2� 1 �! ��
�
����5����� 73,449 
��  :9��=�8	�7���D+(*���
�����5����� 115.33 
��:2����+��	' ��98+8+�: 
156,275 ���+��	':2��! L<*���9�����=9'�=� 115.80 
��:2����+��	'  ��@&�(*�	�+��=�8+�:���
782���
�����+����9�	
���� 128.66 
��:2����+��	' 7���52��	�+��=�8+�:���782���
����
�+����9�����������8+�: 

(3) �	�+��=�8+�:���782���
���� -�2 '(:9��=����(*�	)�-'�:2� 1 �! ��
�
����5����� 103,740 
��  :9��=�8	�7���D+(*���
�����5����� 122.92 
��:2����+��	' ��98+8+�: 
296,400 ���+��	':2��! L<*���9�����=9'�=� 123.28 
�� :2����+��	'  ��@&�(*�	�+��=�8+�:���
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782���
���� -�2��9�	
���� 128.66 
��:2����+��	' 7���52��	�+��=�8+�:���782���
����
 -�2��9�����������8+�:  
 
 ���8+���5�����&->�=��=9'�=����8+�:���782���
 ��4�����@>�'�*��������782���
 
7+&�����)����������*'�<)� 30 % �
52��	�+��=�8+�:���782���
�	)� 3 ���� '(8+�����'���<)�
�52����8+�: ��4�����@>���� L<*��-K���9��� 8+8+�:�=9'�=� 7+&�����=9'�=�'(�2��9���52�L<*�
����+9���	
8+���5�����&->:9��=�7+& 8+:�
7�� ��4�����@>�'�*��������782���
 7+&
�)����������*'�<)� 30 %  �'�*��������782���
���*'�,��<)� �����9������������782���
�K�&�,�:�' 
 ��@&�(*:9��=����(*7+&:9��=�8	�7������25� -�2�	������' ���59���(���2� �9�2���)������� L<*�
�,��<)�:�'�������782���
  
 4.3.3  �	���!��	�8��(���� ,+� *+���,�� �	�*+���	�,*&�%�� 5���	��	�/� !
>���	�	
    �	�,*&�%�� ,+��	�	�-�	�	��%+�+� 30 % 
  ���5�����&->:9��=�8+:�
7�����8+�:���782���
 ��4�����@>�'�*��������782�
��
7+&�����)�������+�+� 30 %  �����������  ��� ������+��8+�:���782���
 ��4�����@>
�'�*��������782���
 7+&�����)������� +�+� 30 %  ��&�&�5+� 1 �! �&-52������� �d������� 
�.�. 2552 4<� :=+��' �.�. 2553 ���5�����&->���7����
� 2 �25� ��� ���5�����&->:9��=�7+&
8+:�
7�� 7+&���5�����&->�=��=9'�=� 7:2+&�25�'(���+&��(���	��() 

1)  �	���!��	�8��(����,+�*+���,���	�*+���	�,*&�%�� 
���5�����&->:9��=�7+&8+:�
7�����8+�:���782���
���7��:�'�������8+�: 

��� �����+K� (:�����(* 4.10) �����+�� (:�����(* 4.11) ���� -�2 (:�����(* 4.12) 8+���
5�����&->'(�	��()  

1.1) ���8+�:���782���
�����+K� 
 ����8+�:���782���
�����+K�  '(:9��=����(*�	)�-'� 0.79 
��:2����+��	' 

�����
� �9��+& 1.19 ���:9��=��	)�-'� L<*���&��
�95�:9��=����(*�(*�'2��
��������	)�-'�   
7+&�	��25��,��=� ��� �2����*�'�4��:>  ��
�����5�  0.54 
��:2����+��	' �����
��9��+& 0.81 
���:9��=��	)�-'� ���+�'� �2����*�'�=���@>:2��B ��
�����5� 0.11 
��:2����+��	' �����
�
�9��+& 0.17 �2����*�'��������  0.11 
��:2����+��	' �����
��9��+& 0.16 7+&�9���(*�=� ����2�
���*�'����*���	���(���� ��
�����5� 0.04 
��:2����+��	' �����
��9��+& 0.05   

'(:9��=�8	�7���	)�-'� ��
�����5� 65.66 
��:2����+��	' �����
��9��+& 
98.81 ���:9��=��	)�-'� ��&��
�95�:9��=�8	�7���(*��
������� 7+& :9��=�8	�7���(*�'2��
�
������ �	��()  
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:�����(*  4.10 ������9��:9��=� 7+&8+:�
7�����8+�:���782���
����	�+��=�����2��  
           (�����+K�) ��4�����@>�'�*��������782���
 7+&�����)�������+�+� 30 % 
           
��/���+��	' 

������ 
 

:9��=��(*��
������� 
:9��=��(*�'2��
�����

�� 
:9��=��5' 

����5� �9��+& ����5� �9��+& ����5� �9��+& 

�(����*��,����-�8
% 53.70 80.81 11.96 18.99 65.66 98.81 

�2��)����� 0.44 0.66 - - 0.44 0.66 

�2��)�� 0.06 0.09 - - 0.06 0.09 
�2��HHh� 0.06 0.09 - - 0.06 0.09 
�2��)��'	�-+2�+�*� 0.02 0.02 - - 0.02 0.02 
�2��)��'	��4 0.39 0.58 - - 0.39 0.58 

�2�7����� 1.38 2.08 2.89 4.35 4.27 6.43 

�2��)������� 51.37 77.30 9.06 13.64 60.43 90.94 

�(�����������-�8
% - - 0.79 1.19 0.79 1.19 

�2����*�'�������� - - 0.11 0.16 0.11 0.16 

�2����*�'����*���	���(���� - - 0.04 0.05 0.04 0.05 

�2����*�'�4��:> - - 0.54 0.81 0.54 0.80 

�2����*�'�����=���@>:2�� B - - 0.11 0.17 0.11 0.17 

�(������-�8
% 53.70 80.81 12.75 19.19 66.45 100.00 

�	�	*+*+��  - - - - 69.28 - 

�	�'%(���9� - - - - 3.62 - 

��	'����9�  - - - - 2.83 - 
 
:9��=�8	�7���(*��
��������(*'(�	��25��,��=� ��� �2� �9�2�� ����L�)��)������� 

��
�����5� 51.37 
��:2����+��	' �����
��9��+& 77.30 ���:9��=��	)�-'� ���+�'� 
�2�7��������5	� ��
�����5� 1.38 
��:2����+��	' �����
��9��+& 2.08 �2��)����� ��
�����5� 
0.44 
��:2����+��	' �����
��9��+& 0.66 �2��)��'	��4 ��
�����5� 0.39 
��:2����+��	' �����
�
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�9��+& 0.58 �2��)���2��HHh� ��
�����5���2��+& 0.06 
��:2����+��	' �����
��9��+& 0.09 7+&
�9���(*�=� ��� �2��)��'	�-+2�+�*� ��
�����5� 0.02 
��:2����+��	' �����
��9��+& 0.02 

:9��=�8	�7���(*�'2��
��������(*'(�	��25��,��=� ��� �2��)������� ���	5����� 
��
�����5� 9.06 
��:2����+��	' �����
��9��+& 13.64 ���:9��=��	)�-'� ���+�'� �2���(�
������2�7����� ���	5�����  ��
�����5� 2.89 
��:2����+��	' �����
��9��+& 4.35  

'(:9��=��	)�-'� ����8+�:���782���
 ��
�����5� 66.45 
��:2����+��	' L<*�
��&��
�95� :9��=����(*�	)�-'� ��
�����5� 0.79 
��:2����+��	' �����
��9��+& 1.19 ���
:9��=��	)�-'� 7+& :9��=�8	�7���	)�-'� ��
�����5� 65.66 
��:2����+��	' �����
��9��+& 
98.81 

'(8+:�
7��������8+�:���782���
 ��� �����9�=�G� ��
�����5� 3.62 
��:2�
���+��	' 7+&'(������=�G� ��
�����5� 2.83 
��:2����+��	' 

1.2) ���8+�:���782���
�����+�� 
 ����8+�:���782���
�����+��  '(:9��=����(*�	)�-'� 0.47 
��:2����+��	' 

�����
��9��+& 0.73 ���:9��=��	)�-'� L<*���&��
�95�:9��=����(*�(*�'2��
��������	)�-'�   7+&
�(*�	��25��,��=� ��� �2����*�'�4��:>  ��
�����5�  0.21 
��:2����+��	' �����
��9��+& 0.33 ���
:9��=��	)�-'� ���+�'� �2����*�'�������� ��
�����5� 0.13 
��:2����+��	' �����
��9��+& 0.20 
�2����*�'�=���@>:2��B  0.09 
��:2����+��	' �����
��9��+& 0.15 �2����*�'����*���	���(���� ��
�
����5� 0.02 
��:2����+��	' �����
��9��+& 0.03 7+&�9���(*�=� ��� �2����*�'
9���	������ ��
�
����5� 0.01 
��:2����+��	' �����
��9��+& 0.02 

'(:9��=�8	�7���	)�-'� ��
�����5� 63.54 
��:2����+��	' �����
��9��+& 
99.27 ���:9��=��	)�-'� ��&��
�95�:9��=�8	�7���(*��
������� 7+& :9��=�8	�7���(*�'2��
�
������ �	��()  

:9��=�8	�7���(*��
��������(*'(�	��25��,��=� ��� �2� �9�2�� ����L�)��)������� 
��
�����5� 51.37 
��:2����+��	' �����
��9��+& 80.25���:9��=��	)�-'� ���+�'� �2�7�����
���5	� ��
�����5� 1.13 
��:2����+��	' �����
��9��+& 1.76 �2��)��'	��4 ��
�����5� 0.39 
��
:2����+��	' �����
��9��+& 0.60 �2��)����� ��
�����5� 0.31 
��:2����+��	' �����
��9��+& 0.48 
�2��)���2��HHh� ��
�����5���2��+& 0.02 
��:2����+��	' �����
��9��+& 0.04 7+&�9���(*�=� ��� 
�2��)��'	�-+2�+�*� ��
�����5� 0.01 
��:2����+��	' �����
��9��+& 0.01 

:9��=�8	�7���(*�'2��
��������(*'(�	��25��,��=�����2��)������� ���	5��������
:	5��� ��
�����5� 9.06 
��:2����+��	' �����
��9��+& 14.16 ���:9��=��	)�-'� ���+�'�  
�2���(�������2�7����� ���	5����� ��
�����5� 1.15 
��:2����+��	' �����
��9��+& 1.80  
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:�����(* 4.11������9��:9��=� 7+&8+:�
7�����8+�:���782���
����	�+��=�����2��             
           (�����+��) ��4�����@>�'�*��������782���
 7+&�����)�������+�+�              
    30 % 

 
��/���+��	' 

������ 
 

:9��=��(*��
�����
�� 

:9��=��(*�'2��
�����
�� 

:9��=��5' 

����5� �9��+& ����5� �9��+& ����5� �9��+& 

�(����*��,����-�8
% 53.32 83.31 10.22 15.96 63.54 99.27 

�2��)����� 0.31 0.48 - - 0.31 0.48 

�2��)�� 0.02 0.04 - - 0.02 0.04 

�2��HHh� 0.02 0.04 - - 0.02 0.04 

�2��)��'	�-+2�+�*� 0.01 0.01 - - 0.01 0.01 

�2��)��'	��4 0.39 0.60 - - 0.39 0.60 

�2�����
()������,9 0.09 0.14 - - 0.09 0.14 

�2�7����� 1.13 1.76 1.15 1.80 2.28 3.56 
�2��)������� 51.37 80.25 9.06 14.16 60.43 94.41 
�(�����������-�8
% - - 0.47 0.73 0.47 0.73 

�2����*�'�������� - - 0.13 0.20 0.13 0.20 

�2����*�'
9���	������ - - 0.01 0.02 0.01 0.02 

�2����*�'����*���	���(���� - - 0.02 0.03 0.02 0.03 

�2����*�'�4��:> - - 0.21 0.33 0.21 0.33 

�2����*�'�����=���@>:2�� B - - 0.09 0.15 0.09 0.15 

�(������-�8
% 53.32 83.31 10.68 16.69 64.01 100.00 

�	�	*+*+�� - - - - 69.28 - 
�	�'%(���9�  - - - - 5.74 - 

��	'����9� - - - - 5.27 - 
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'(:9��=��	)�-'� ����8+�:���782���
 ��
�����5� 64.01 
��:2����+��	' L<*�
��&��
�95� :9��=����(*�	)�-'� ��
�����5� 0.47 
��:2����+��	' �����
��9��+& 0.73 ���
:9��=��	)�-'� 7+& :9��=�8	�7���	)�-'� ��
�����5� 63.54 
��:2����+��	' �����
��9��+& 
99.27 

'(8+:�
7��������8+�:���782���
 ��������9�=�G� ��
�����5� 5.74 
��:2�
���+��	' 7+&'(������=�G� ��
�����5� 5.27 
��:2����+��	' 

1.3) ���8+�:���782���
���� -�2 
 ����8+�:���782���
���� -�2  '(:9��=����(*�	)�-'� 0.36 
��:2����+��	' 

�����
��9��+& 0.53 ���:9��=��	)�-'� L<*���&��
�95�:9��=����(*�(*��
�����������2���2�
�������� ��
�����5� 0.17 
��:2����+��	' �����
��9��+& 0.25 7+&:9��=����(*�(*�'2��
������� 
���'(�	��25��,��=� ��� �2����*�'�4��:>  ��
�����5�  0.11 
��:2����+��	' �����
��9��+& 0.17 
���:9��=��	)�-'� ���+�'� ����2����*�'�=���@>:2��B  0.06 
��:2����+��	' �����
��9��+& 
0.09 7+&�9���(*�=� ��� �2����*�'����*���	���(���� ��
�����5� 0.01 
��:2����+��	'�����
��9��+& 
0.02 

'(:9��=�8	�7���	)�-'� ��
�����5� 67.10 
��:2����+��	' �����
��9��+& 
99.47 ���:9��=��	)�-'� ��&��
�95�:9��=�8	�7���(*��
������� 7+& :9��=�8	�7���(*�'2��
�
������ �	��()  

:9��=�8	�7���(*��
��������(*'(�	��25��,��=� ��� �2� �9�2�� ����L�)��)������� 
��
�����5� 65.13 
��:2����+��	'�����
��9��+& 96.55 ���:9��=��	)�-'� ���+�'� �2�7�����
���5	���
�����5� 0.42 
��:2����+��	' �����
��9��+& 0.62 �2��)����� ��
�����5� 0.25 
��:2�
���+��	' �����
��9��+& 0.37 �2�����
()������,9 ��
�����5� 0.13 
��:2����+��	' �����
��9��+& 
0.19  �2��)��'	��4��
�����5� 0.12 
��:2����+��	' �����
��9��+& 0.18 �2��HHh� ��
�����5� 
0.04 
��:2����+��	' �����
��9��+& 0.06 7+&�9���(*�=� ��� �2��)��'	�-+2�+�*� ��
�����5� 0.003 

��:2����+��	' �����
��9��+& 0.005 

:9��=�8	�7���(*�'2��
������� L<*�'(��(���2���(�������2�7����� ���	5����� 
��
�����5� 1.01 
��:2����+��	' �����
��9��+& 1.50  

'(:9��=��	)�-'� ����8+�:���782���
 ��
�����5� 67.46 
��:2����+��	' L<*�
��&��
�95� :9��=����(*�	)�-'� ��
�����5� 0.36 
��:2����+��	' �����
��9��+& 0.53 ���
:9��=��	)�-'� 7+& :9��=�8	�7���	)�-'� ��
�����5� 67.10 
��:2����+��	' �����
��9��+& 
99.47 

'(8+:�
7��������8+�:���782���
 ��������9�=�G���
�����5� 2.18 
��:2�
���+��	' 7+&'(������=�G� ��
�����5� 1.82 
��:2����+��	' 
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:�����(* 4.12 ������9��:9��=� 7+&8+:�
7�����8+�:���782���
����	�+��=�����2��  
            (���� -�2) ��4�����@>�'�*��������782���
 7+&�����)�������+�+�  
    30 % 

  
�� / ���+��	'  

������ 
 

:9��=��(*��
������� 
:9��=��(*�'2��
�����

�� 
:9��=��5' 

����5� �9��+& ����5� �9��+& ����5� �9��+& 

�(����*��,����-�8
% 66.09 97.97 1.01 1.50 67.10 99.47 

�2��)����� 0.25 0.37 - - 0.25 0.37 

�2��HHh� 0.04 0.06 - - 0.04 0.06 

�2��)��'	�-+2�+�*� 0.003 0.005 - - 0.003 0.005 

�2��)��'	��4 0.12 0.18 - - 0.12 0.18 

�2�����
()������,9 0.13 0.19 - - 0.13 0.19 

�2�7����� 0.42 0.62 1.01 1.50 1.43 2.12 

�2��)������� 65.13 96.55 - - 65.13 96.55 

�(�����������-�8
% 0.17 0.25 0.19 0.28 0.36 0.53 

�2���2��������� 0.17 0.25 - - 0.17 0.25 

�2����*�'����*���	���(���� - - 0.01 0.02 0.01 0.02 

�2����*�'�4��:> - - 0.11 0.17 0.11 0.17 

�2����*�'�����=���@>:2�� B - - 0.06 0.09 0.06 0.09 

�(������-�8
% 66.26 98.22 1.20 1.78 67.46 100.00 

�	�	*+*+��  - - - - 69.28 - 

�	�'%(���9�  - - - - 2.18 - 

��	'����9� - - - - 1.82 - 
 
 ���8+���5�����&->:9��=�7+&8+:�
7�����7:2+&�������8+�:���782���
���
�	�+��=�����2�� ��4�����@>�'�*��������782���
 7+&�����)�������+�+� 30 % �
52� �	)� 3 
�������8+�:'(�����9�=�G� 7+&������=�G� +�+� ��	:���(*��2��	� �'�*���(�
�	
���8+�: �
�4�����@>���� �	)��()���*���95��-:=8+ ��� �'�*��������782���
+�+� ��� -9�	�+��=�8+�:          
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���782���
'(�����9������������782���
+�+��52����8+�:���782���
 ��4�����@>���� �'�*�
8+8+�:����'(��2��	�  ��@&�(*:9��=����(* 7+& :9��=�8	�7����*�B �	������' ���59�:9��=�8	�
7���2��)��������(*+�+�:�'�������782���
 �&�-K�52� �'�*��	�+��=�8+�:���782���
 '(�����9
+�+� L<*��'�*����'�-	�+
:9��=��	)�-'� ����25� -�2�&���(* ���59������)��������(*+�+�:�'
�������782���
 ��� -9���8+�:���782���
����	)� 3 ���� '(�����9�=�G� 7+&������=�G�+�+�
:�'�������782���
7+&�����)��������(*+�+�  

2) �	���!��	�8���%��(
���  
���5�����&->�=��=9'�=� (Break ] Even Analysis) ��&��
�95�  8+8+�:�=9'�=� 7+&

�����=9'�=� ���'(���+&��(���	��() (:�����(* 4.13)  
 2.1) 8+8+�:�=9'�=�  
��
����-��&�	
8+8+�:�(*��� -9',+�2�8+8+�:-��������9��2��	
�2� �9�2�� ����

8+�:�	)�-'����(  L<*����8+���5�����&->8+8+�:�=9'�=�����	�+��=� 3 ���� �	��()        
(1) �	�+��=�8+�:���782���
�����+K�'(:9��=����(*�	)�-'�:2� 1 �! ��
�

����5����� 49,158 
��  :9��=�8	�7���D+(*���
�����5����� 65.66 
��:2����+��	' 7+&�������
782���
 69.28 
�� :2����+��	' ��98+8+�:�=9'�=� 13,579.49 ���+��	':2��!  ��@&�(*8+8+�:�(*
8+�:��9����  62,225 ���+��	':2��! 7���52��	�+��=�8+�:���782���
�����+K�'(�����������8+�: 

(2) �	�+��=�8+�:���782���
�����+�� '(:9��=����(*�	)�-'�:2� 1 �! ��
�
����5����� 73,449 
��  :9��=�8	�7���D+(*���
�����5����� 63.54 
��:2����+��	' 7+&�������
782���
 69.28 
�� :2����+��	' ��98+8+�:�=9'�=� 12,796.04 ���+��	':2��!  ��@&�(*8+8+�:�(*
8+�:��9����  156,275 ���+��	':2��! 7���52��	�+��=�8+�:���782���
�����+��'(�����������
8+�: 

(3) �	�+��=�8+�:���782���
���� -�2 '(:9��=����(*�	)�-'�:2� 1 �! ��
�
����5����� 103,740 
��  :9��=�8	�7���D+(*���
�����5����� 67.10 
��:2����+��	' 7+&����
���782���
 69.28 
�� :2����+��	' ��98+8+�:�=9'�=� 48,946.79 ���+��	':2��!  ��@&�(*8+8+�:
�(*8+�:��9����  296,400 ���+��	':2��! 7���52��	�+��=�8+�:���782���
���� -�2'(�����������
8+�: 
 2.2) �����=9'�=�  

��
����-��&�	
����:*���=��(*�	�+��=�8+�:���782���
�&���8+8+�:����'2
����=�  L<*����8+���5�����&->�����=9'�=�����	�+��=� 3 ���� �	��() 

(1) �	�+��=�8+�:���782���
�����+K� '(:9��=����(*�	)�-'�:2�1�! ��
�
����5����� 49,158 
��  :9��=�8	�7���D+(*���
�����5����� 65.66 
��:2����+��	' ��98+8+�: 
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62,225 L<*���9�����=9'�=� 66.45 
�� :2����+��	'  ��@&�(*�	�+��=�8+�:���782���
�����+K�
��9�	
���� 69.28 
��:2����+��	' 7���52� �	�+��=�8+�:���782���
�����+K���9�����������
8+�: 
 
:�����(* 4.13 8+8+�:�=9'�=�7+&�����=9'�=����8+�:���782���
����	�+��=�����2��  �          
  �4�����@> �'�*��������782���
 7+&�����)�������+�+� 30 % 

������ �����+K� �����+�� ���� -�2 
8+8+�:�=9'�=� (���+��	'/ �!) 13,579.49 12,796.04 48,946.79 
�����=9'�=� (
�� / ���+��	') 66.45 64.01 67.46 

 
(2) �	�+��=�8+�:���782���
�����+�� '(:9��=����(*�	)�-'�:2� 1 �! ��
�

����5����� 73,449 
��  :9��=�8	�7���D+(*���
�����5����� 63.54 
��:2����+��	' ��98+8+�: 
156,275 ���+��	':2��! L<*���9�����=9'�=� 64.01 
�� :2����+��	'  ��@&�(*�	�+��=�8+�:���782�
��
�����+����9�	
���� 69.28 
��:2����+��	' 7���52��	�+��=�8+�:���782���
�����+��
��9�����������8+�: 

(3) �	�+��=�8+�:���782���
���� -�2 '(:9��=����(*�	)�-'�:2� 1 �! ��
�
����5����� 103,740 
��  :9��=�8	�7���D+(*���
�����5����� 67.10 
��:2����+��	' ��98+8+�: 
296,400 ���+��	':2��! L<*���9�����=9'�=� 67.46 
�� :2����+��	'  ��@&�(*�	�+��=�8+�:���782�
��
���� -�2��9�	
���� 69.28 
��:2����+��	' 7���52��	�+��=�8+�:���782���
���� -�2��9
�����������8+�: 
 
 ���8+���5�����&->�=��=9'�=����8+�:���782���
 ��4�����@> �'�*��������782���
 
7+&�����)�������+�+� 30 % �
52��	�+��=�8+�:���782���
�	)� 3 ���� '(8+�����+�+��52�
���8+�: ��4�����@>���� L<*��-K���9��� 8+8+�:�=9'�=� 7+&�����=9'�=�'(�2�'���52� L<*�
����+9���	
8+���5�����&->:9��=�7+&8+:�
7�� ��4�����@> �'�*��������782���
7+&�)��
�����+�+� 30 %  �'�*��������782���
+�+������9������������782���
�K�&+�+�:�' 
 ��@&�(*:9��=��	)�-'�����25� -�2�	������' ���59���(���2� �9�2���)������� L<*�+�+�:�'����
���782���
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4.4  �G�8	,+����������������	�*+���	�,*&�%��������+�����	��&��  
  �����<����&

���8+�:���782���
 ��� -9���
4<��C�-� 7+&�=����� �(*�	�+��=�
8+�:���782���
��&�
��,2 L<*���&��
�95� �C�-��9���?�����Hh������ �C�-��9��5	:4=��
�)��
����� �C�-��9��7����� �C�-��9��
��-���	���� �C�-��9���������7+&���
	��(  �C�-��9��
��G��@,��?� 7+&�C�-��9�����:+��7+&������-�2�����782���
 ���'(���+&��(���	��()  

 4.4.1 �G�8	%(	��0	1%�� HI	 �	�	6 
 �C�-��9���?����� Hh� ����� ��&��
�95� �C�-�f�:�
2�����7�+��)������� 
7+&�C�-����782���
��)� ��25�d�,f� L<*�'(���+&��(���	��() (:�����(* 4.14) 

1) �C�-�f�:�
2�����7�+��)�������  
�	�+��=�8+�:���782���
����2���	)� 3 ���� '(�C�-�f�:�
2�����7�+��)�����

�� ��&�	
����+�� ���*�����?�� :9 '(�?��f�:�
2��'�� �	��	)���
��?���(*�	�+��=��

���'�:+���<�'��52��C�-��	��+2�5��
��?���C�-���:� 7+&��
���*��(*�5
�='�'2��9 -��5	� �
'(f�:� ���)��(*'�� ��5�5��K�'2'(�����(���� �2�8+ -9�'2'(�)������� �	�+��=��K�&-�=����
8+�:���782���
 �5	��	��+2�5��2��	� 

2) �C�-����782���
��)� ��25�d�,f�  
�	�+��=�8+�:���782���
����2���	)� 3 ���� '(�C�-����782���
��)� ��25�d�,f�

 ��&�	
'�� L<*��C�-��	��+2�5�2�8+ -9���'(�5�'��)��,��'2��9:�''�:����������782���
  
�'�*����-�2���&��� -94,�:	����� �	�+��=�8+�:���782���
�&��&�
�	
�C�-��	��+2�5���:��
����&��� -9������782���
��9 �����:*��+���������(*�5��&��9�	
���+��	'+& 3-5 
�� 
 
:�����(* 4.14 �&�	
�C�-��9���?����� Hh� �����  ����8+�:���782���
 

������ �����+K� �����+�� ���� -�2 
f�:�
2�����7�+��)������� ����+�� ����+�� ����+�� 
���782���
��)� ��25�d�,f� '�� '�� '�� 

 
4.4.2 �G�8	%(	������%���-�	�	��% 

  �C�-��9��5	:4=��
�)������� ��&��
�95� �C�-�8+8+�:�'2��(�����	
�5�':9����� 
�C�-��=@?���)��������'2�( �C�-� % DRC :*�� �C�-����7�2��	� ���� -9�����(*�,����*�L�)��)��
����� 7+&�C�-�����5�8,9����)��������'27�2��� ���'(���+&��(���	��() (�	�:�����(* 4.15)  

1) �C�-��)��������'2��(�����	
�5�':9����� 
�	�+��=�8+�:���782���
�����+K�  7+&�����+��'(�C�-��)��������'2��(���� 
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 ��&�	
����+�� �25��	�+��=����� -�2'(�C�-��&�	
�9�� �	)��()���*������	�+��=�8+�:���
782���
�����+K�7+&�����+���	
L�)��)������������5�5���� 7+&�)������� ���	5��������
:	5���  L<*��&���7�+��)�������
9�� �
��������(*:9�������*'8+	� 
 ��� �25������ '(���' 4<� 
�d�?��' L<*� ��25��	��+2�5�)�������'( % DRC :*�� 7+& -98+8+�:�9�� �25��	�+��=�8+�:���
782���
���� -�2 '(�C�-��&�	
�9�� ���*����� �	�+��=�8+�:���782���
L�)��)����������8,9
�5
�5'�)������� ��9��4�*� ���'�@�)������(*��9�	
'(���'�@��(���� 4<�7'952��25�:9����8+	� 

�K:�' 7:2���'�@�)��������K'(��(�����	
���+	����8+�: �7:2+&5	�   
 
:�����(* 4.15 �&�	
�C�-��9��5	:4=��
�)������� ����8+�:���782���
 

������ �����+K� �����+�� ���� -�2 
�C�-�8+8+�:�'2��(�����	

�5�':9����� 

����+�� ����+�� �9�� 

�=@?���)��������'2��9
'�:���� 

����+�� ����+�� �9�� 

% DRC :*�� �9�� �9�� �9�� 
���7�2��	� -9�����(*�,����*�L�)�
�)������� 

�9�� '�� '�� 

����5�8,9����)��������'2
7�2��� 

�9�� ����+�� ����+�� 

 
2) �C�-��=@?���)������'2��9'�:���� 

  �	�+��=�8+�:���782���
�����+K� 7+&�����+�� '(�C�-��=@?���)������'2��9
'�:���� ��&�	
����+��  �25��	�+��=�8+�:���782���
���� -�2'(�C�-� ��&�	
�9�� L<*�
�=@?���)��������'2��9'�:����'(�95��	� 2 +	��@&��� �)�����
,� 7+&�)�����'(��*�7�+��+�'
 ��)������� ��2� ���+&+��7�'�'��(�'�������� �	)��()���*������	)��	�+��=�8+�:���782���

�����+K� 7+&�����+�� �	
L�)��)������������5�5���� 7+&�)����� ���	5��������:	5��� �&
�
���
9�� ���@(�)�����
,� '(�+�*�
,����*�������5�5��'2��9 �2����	�
,��(*�9�495��2�����
��(���� -����(*'������5�5��'2��9��K
�)�����5	�:2�5	� 7:2�&�'2������'(���+&+��7�'�'��(�
'�������� �25��	�+��=�8+�:���782���
���� -�2 L<*� -9�9�',+�	
�C�-��	��+2�5 ��� ��9
�	��+���8,9�5
�5'�)��������9��4�*� �(*'(�5�'L�*��	:�> 7+&'(�5�'�59���)����*� ���9 ���*�����)�����
��'�8+�:���782���
  ����5
�='�C�-��	��+2�5��
���2���(7+&�
����9��'�� 
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3) �C�-� % DRC :*�� 
�	�+��=�8+�:���782���
�	)� 3 ���� '(�C�-� % DRC  ��&�	
�9�� ���*����� �

����	
L�)��)��������& �9 % DRC  ��������5@��
����� -98,9����)������� �	��	)��'�*� % DRC 
:*��8,9����)��������K�&��9����:*��:�'�95� ��� -98,9����)��������'2�:�'�)��8�' ��)����� 7:2��2����
�K:�'��������
4�'�	�+��=�8+�:���782���
�	)� 3 �������8+�: �
52� % DRC �)�������
��9�	
 �7:2+&5	�'(�2��,��52� 30 % :+�� 

4) �C�-����7�2��	� -9�����(*�,����*�L�)��)������� 
�	�+��=�8+�:���782���
�����+K�'(�C�-����7�2��	� -9�����(*�,����*�L�)��)�����

�� ��&�	
�9�� ���*������25� -�2��
���:� 7+&'(���8,���� �����	
L�)��)�������  �25��	�
+��=�8+�:���782���
�����+�� 7+&���� -�2'(�C�-�'�� ���*������	�+��=�8+�:���782���

�����+���	
L�)��)������������5�5��	*5�� �25��	�+��=�8+�:���782���
���� -�2�	
L�)�
���8,9�5
�5'�)������� ��9��4�*� �	��	)�8,9����<�'(����+����(*�&����)������� -9�	
8,9L�)� �����
�(*�,��(*����<��� � L<*� �:+���	
L�)��)�������'(8,9L�)�'����� �	��	)��<�:9�� -9�����(*�,����*� -9
��5�5� 7+&8,9�5
�5'�)������� ��9��4�*�����)������� -9 ��2�����K:�'����25� -�2 8,9�	

L�)��)������K�'27�2�8,9����)��������	� 7:2:9�� -9�����(*��2��	�-��� �+9��(���	�'���(*�=� ����&
-�� -9'�������� �K�&��� -9�����5�'�	�7�9��&-52��8,9�	
L�)��)��������95��	�  

5) �C�-�����5�8,9����)��������'27�2��� 
�	�+��=�8+�:���782���
�����+K�'(�C�-�����5�8,9����)��������'27�2��� �

�&�	
�9�� 7+&�	�+��=�8+�:���782���
�����+��7+&���� -�2'(�C�-� ��&�	
����+�� 
���*���95��	�+��=�8+�:���782���
�����+K��	
L�)��)������������:� 7+&��
�+	��@&8,����
����	
L�)� �25��	�+��=�8+�:���782���
�����+�� 7+&���� -�2 �K'(
9����2��	��(*8,9���
��+(*�������8,9L�)������*����*������<��� � ������	
L�)�  

4.2.3 �G�8	%(	�,���	� 
   �C�-��9��7����� L<*���&��
�95� �C�-�������7�+�7����� �C�-�������7�+�
7������(*'(�	��& �C�-�������'2��	� �C�-������+����
2�� 
 L<*�'(���+&��(�� �	��() (�	�:�����(* 4.16) 

1) �C�-����7�+�7����� 
�	�+��=�8+�:���782���
�����+K� 7+&�����+�� �&'(�C�-����7�+�7�����

 ��&�	
�9�� 7+& �	�+��=�8+�:���782���
���� -�2 '(�C�-��() ��&�	
����+�� L<*�8,95��	�:	)�
�9��	���:52� 7��������8+�:���782���
�����+K�L<*���
�7����� ���	5����� �25��	�+��=�8+�:
��������+��7+& ���� -�2��&��
�95�7����� ���	5����� 7+&7����� ��9��4�*� L<*�
7�������9�	
�	:���2��9��7������(*�,��52��2�7���	)�:*�� �<���� -9�C�-��9��7����� ��&�	
�9�� 
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7+&����+�� 7+&�(*����	��,�7

����9�������
�+	��@&���
��	5 �����,2�	�7

�-'�����
�
�25�-�<*� ����
��	5 L<*�'(�5�'8,��	��<�'(���+����-�����+(*������9��'��  

2) �C�-����7�+�7������(*'(�	��& 
�	�+��=�8+�:���782���
�����+K� 7+&�����+�� '(�C�-����7�+�7������(*'(

�	��& ��&�	
�9�� 7+& �	�+��=�8+�:���782���
���� -�2'(�C�-� ��&�	
����+�� �	)��()
���*�����7�����'(���+���� 7+&��+(*������9��'�� �2�8+ -97������'�*���9�	
���������
7+95'(�	��& ���������� 7+&�(*����	����8+�:���782���
�K��(���,9�����9�2�� �'2�+	
L	
L9��  

3) �C�-�������'2��	� 
�	�+��=�8+�:���782���
 �����+K� 7+&�����+�� '(�C�-�������'2��	� �

�&�	
�9�� 7+& �	�+��=�8+�:���782���
���� -�2'(�C�-��() ��&�	
����+�� ���*��������
�9������,�7

��'���-�<*���
��� ����
��	5 '(�5�'8,��	�  -9�5�'��
��	�����<�'(�C�-�
�9�����-�	
�	�+��=�8+�:���782���
�����+K� 7+&�����+�� 7:2�&'(
9�����-�	
�	�+��=�8+�:
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���5@��(�5 �&��� -9���782���

���5@�	��+2�5 8�'�)�����'�������� ��� -9'(�(
�+)�� '(�(�'2�'*����'���9��2��	� 7+&�(*����	�:9���5���2���	��( 10-15 ��
 :�'7�5������:&
�� L<*� ��	)�:���()�&'(H������������<)�����5�'�� :9��'(���:	�H���������� -9�-+���9��
�(*�=����H��������	��+2�5����������
��()��� ����	)� ��(�
782��7:��+� ����5� 49 782� :�'
�2����(�
���:&�� �����(�
�(+&782� ���L9�����5� -����5���L9���K��9����
����5��+2��
 -9�)��������	
:	5��
��9����� ��
��5+� 30-45 ���( �<�782���(�
����(+&782� 7+95����9�����
+9���95��)���&��� ��2���)�� L<*�'(����-+�5(���)��:+���5+����*��&+9������(*���&:���9����� 
����&49�-��+9���'2�(�� �&��� -9���782���
'(�(��5�=2��'2�'*����'� 7+&�-�(�5:���	���9 �
�	)�:�����8<*���� -97-9� ��
�:9� 
 ���782�����(*+9���&���7+95 �����9�����*���(��	:��'	:� L<*�7

�=2���2��&'(���+	�8+�: 
300-400 782�:2��	*5�'� 7

�=2� -'2�&'(���+	�8+�: 400-500 782�:2��	*5�'� 7+&����*���	���(�
����	:��'	:�  7

 5 +,��+�)� ��&��
�95� +,��+�)��(* 1 ��
�+,��+�)��(�-��
 +,��+�)��(* 2-3 ��
�
+,��+�)��(���(�
 7+& +,��+�)��(* 4-5  ��
�+,��+�)��(���� :�'+���	
 L<*�7:2+&+,��+�)���'��4��	

�����2��52����9���*��5
�='�5�'-�����782���
 -9��9:�'�����(*:9����� ������782��(*�(�
���K� 1 ��
 8<*�
���5���*� -9�&��K��)�� -9�-+���9���(*�=� ����&�&��9�'2-�	������'�*��5+�
��+�*���9����8<*�7�� ���8<*����782���
 -97-9�:9��8<*�7�� 2 5	� 8<*�+' 2 5	���
���2��:*�� �	)��()�K
:9���<)���,2�	
�?��������95� ��2� 49�'(f�:� -����'2'(7��7����(���� �K:9���������8<*����
 -9'���<)� ����	)���K
���782���
����59 ����������(*'(�����42���� ���*������-�2��:2��� 
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 7������(* �9 ����8+�:782���
'(�	)� 7����� ���	5����� 7+&7������9�� L<*�7�����
 ���	5������25� -�2�&���-�9��(* �����	
L�)��)�����������5� 1-2 ��  ��2� �	*��)��-�	��)�����
�� �	*��)��-�	�:	5��2�����*�-�����>�LK�:>���)����7-9����
	��( �5'4<�����2������ 7+& ���������
782���
 L<*��&��(*�5�9�� �����(*:9���	
8����
�	
��������5�'��B  �����
�:9����
�
=��+�(*�59
���)����*� ���9   �25�7������9�� �&���-�9��(*�(*:9�� �97�������
��25� -�2 ��2� ��4	��)������� 
���)�������+�
2���K
 ������782���
 7+& :����� ��K
���  ��
�:9�  L<*��	:���2��9��7������& -9
�,��52�7������	)�:*�� ��&'�@ 200-250 
��/�� L<*�����5�7����� :9��'( -9��(�����	
���'�@
����95���2��	� ����&49�����9��  �97�������'������ G=�����K�&'(:9��=��2��9��7������(*'��
������ 7+&-���9�������� 7������K�&������-�	����� ������
2�� +���� ��+(*�����
2�� 
��9��2��	� �2�8+ -9G=����8+�:���782���
�'2��9:�'���+	����8+�: ����&D&�	)��	�+��=�8+�:���
782���
:9�����-����� -9�-'�&�'�	
����5�7����� 7+&�	��&7����� ���*� -9G=����'(
7������(*'(�5�'�,9 '(�	��& 7+&�������	
�����������B L<*���
����>��&��
����	��(*�&��� -9
G=������&�
8+�����K� 7+&'(�����:+���� 
 �C��=
	� ����8+�:���782���
 '(����	������*� -9���8+�:���782���
�&�5��5���K5 
'(����������*���	���(�7

�	:��'	:����*� �9 ����8+�:���782���
 ��(�� 14:00 ���������7:2+&
5	� ���8+�:���782���
�K���K���(�
�9�� '(
9���K��
����:����� L<*�7������������'2-�	�'�� '(
�5+��	�82��'���<)� �5'4<�'(������7

�	)�:�� ��&
5����8+�:  -9�-+���	)�:��4	���
��2���&�5� 7+&�5���K5 '(�=���@>���*��25�+�7�� ��2����2� :&���&:	)���
�2���)��+9��782���� 
7+95:2����(*����*���	���(���� ��
�:9� 
 ��&
5����:�5�5	��5
�='���8+�:���782���
 ���*� -9��9���782���
'(�=@?���(*�( 
L<*��	�+��=��n�
	:��	�:2����() ���  

1) ����:�(�'�)����� -9�&��� ����5
�='�'2 -9'(��*�7�+��+�' ��)������� L<*�
�&�2�8+��&�
 ����8+�:���782���
�'2��9'�:���� -������:9����)���+����)����� �����	

:	5��9 ��2����2�  ��+������ ��� ����  -���'(���'�@7�'�'��(��(*'������ 

2) ����>�LK�:>���)����7-9�����)������� '(����5
�=' 7+&�������5@ -94,�:9��
:�'�9�',+�9��:9� 

3) �5�'��9'�9����+&+�����  -9'(�5�'�'*����'����*� -9��98+8+�:�(*��9
'�:�����'*����'� ��2��	� 

4)  H������� L<*������<)� ��	)�:������5��)�����  -9��9��	
�)������� �&:9��:	�
��� -9�-+���9���(*�=� ���*�+�H������� ����782���
  7+&���*� -9���782���
'(���� �)��-�	� 
:�''�:���� 
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5)  ���+9���95��)���&��� ���782���
-+	�����	
:	57+95 :9�����'�+9���95��)��
�&����(*'(����-+�5(��:+���5+� ���*� -9���782���
'(�(��5�=2��'*����'� �'2�-�(�5�-��& 

6) '(����5
�=' ���� 7+&�)��-�	����782���
���*� -9��
���:�''�:����
�=@?�����782���
 

7) ���8<*���� -97-9��95�7��7�� 7+&+' '(����5
�='���*� -9���'(�5�'��)��(*
�'*����'��	*5782� 
 5.1.6   *+*+���	�,*&�%��������+�����	��&�� 

8+8+�:�(*8+�:��9 �7:2+&5	� �<)���,2�	
���'�@�)��������(*��9�	
��
�����	� 7+&�	�
+��=��	)� 3 ���� '(�5�'�<��� � ����'�@�(*8+�:��9 �5'4<��=@?�� L<*��25� -�28+8+�:�(*��9 
��� ���782���
�=@?���	)� 3 �	)��()���*�����-��:9��8+�:��� -9��9�=@?���	)� 1-2  �	�+��=�:9��
8<*�������*'�<)� ������'8<*�7�� 2 5	� 8<*�+' 2 5	�  ��
�8<*�7�� 4 5	� 8<*�+' 4 5	� ���*� -9�5�'��)�
�9���(*�=� L<*���
���:�'�=@?����� �	)� 1 7+& 2 �����
�:9��'(��)��(* -9��(���� ����:����� 
�5'4<�:9�� �9������-'=��5(������5�'���<)� L<*��95��9�����	��	��+2�5 �	�+��=��	)� 3 ����
�+K��-K�52��'2�&�5��(*�&�����2��	)� 7+&�<��� ��	
8+:�
7���(*��9�	
�=@?������(*8+�:��9 �
�C��=
	�7+95 ���782���
�&'(�����K
����59 ��(*�����42���� �'2��)�  ����	)���������-�2�� �(*
:+���+��������� ����?�-�� -�2 ����&�-K�52�  -9�����(*�<��� � 7+&���52��'24,�����	����
���(�
���*�������
����>������	� L<*����:(����>�LK�:>�����9�-�9��(*�(*'(��&�
���@> 7+&'(
�	��& ����:(����>�LK�:>���782���
 L<*��&�9�����-+	���@A>'�:�����=@?����� �
��(* 2  
7+&����&��������2����K������� ��'��4�<)�������9�	��( 
 5.1.7   �(����,+�*+���,��5��	�*+���	�,*&�%��������+�����	��&�� 

���5�����&->:9��=� 7+&8+:�
7�����8+�:���782���
����	�+��=�����2�� L<*�
8,95��	���9������5�����&-> ��4�����@>����  ��4�����@>�'�*�����������*'�<)� 30 % 7+& +�+� 
30 % :�'+���	
 L<*���&��
�95���&��K��	��() 1) 8+���5�����&->:9��=����8+�:���782���
 2) 
8+���5�����&->8+:�
7�����8+�:���782���
 7+& 3) 8+���5�����&->�=��=9'�=� ��=�8+��9
�	��() 

1) ���5�����&->:9��=�7+&8+:�
7�����8+�:���782���
 ��4�����@>���� 
��=���952� �	�+��=�8+�:���782���
���� -�2�&'(:9��=��	)�-'� ����8+�:���782���
 '��
�(*�=� ���+�'� ����	�+��=�8+�:���782���
�����+K� 7+& �����+�� :�'+���	
  '(8+:�
7��
'���(*�=� ����	�+��=�8+�:���782���
�����+�� ���+�'�����	�+��=������+K� 7+&����
 -�2:�'+���	
 8+8+�:�=9'�=� '���(*�=���� �	�+��=�8+�:���782���
���� -�2 ���+�'� ���
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�����+�� 7+& �����+K�:�'+���	
 '(�����=9'�=� ��&�	
�����9���(*�=� ����	�+��=�8+�:���
�����+�� ���+�'���������+K� 7+&���� -�2 :�'+���	
  
  �	�+��=�8+�:��������+K�'(:9��=��	)�-'� ����8+�:���782���
��
�����5� 
92.34 
��:2����+��	' L<*���&��
�95� :9��=����(*�	)�-'� ��
�����5� 0.79 
��:2����+��	' ���
��
��9��+& 0.86 ���:9��=��	)�-'� 7+&:9��=�8	�7���	)�-'� ��
�����5� 91.55 
��:2�
���+��	' �����
��9��+& 99.14 '(8+:�
7��������8+�:���782���
 ��� �����9�=�G� ��
�����5� 
7.42 
��:2����+��	' 7+&'(������=�G� ��
�����5� 6.63 
��:2����+��	' ��98+8+�:�=9'�=� 
6,625.03 ���+��	':2��! ��9�����=9'�=� 92.34 
��:2����+��	' 
  �	�+��=�8+�:���782���
�����+��'(:9��=��	)�-'� ����8+�:���782���
 
��
�����5� 89.90 
��:2����+��	' L<*���&��
�95� :9��=����(*�	)�-'� ��
�����5� 0.47 
��:2�
���+��	' �����
��9��+& 0.52 ���:9��=��	)�-'� 7+& :9��=�8	�7���	)�-'� ��
�����5� 89.43 

��:2����+��	' �����
��9��+& 99.48 '(8+:�
7��������8+�:���782���
 ��������9�=�G� ��
�
����5� 9.54 
��:2����+��	' 7+&'(������=�G� ��
�����5� 9.07 
��:2����+��	' ��98+8+�:�=9'
�=� 7,699.08 ���+��	':2��! ��9�����=9'�=� 89.90 
��:2����+��	' 
  �	�+��=�8+�:���782���
���� -�2'(:9��=��	)�-'� ����8+�:���782���
 
��
�����5� 95.36 
��:2����+��	' L<*���&��
�95� :9��=����(*�	)�-'� ��
�����5� 0.36 
��:2�
���+��	' �����
��9��+& 0.37 ���:9��=��	)�-'� 7+&:9��=�8	�7���	)�-'� ��
�����5� 95.00 

��:2����+��	' �����
��9��+& 99.63 '(8+:�
7��������8+�:���782���
 ��� �����9�=�G� ��
�
����5� 3.97 
��:2����+��	' 7+&'(������=�G� ��
�����5� 3.61 
��:2����+��	' ��98+8+�:�=9'
�=� 26,877.58 ���+��	':2��! ��9�����=9'�=� 95.36 
��:2����+��	' 

2) ���5�����&->:9��=�7+&8+:�
7�����8+�:���782���
 ��4�����@> �'�*�
�������782���
 7+&�����)����������*'�<)� 30 % L<*���=���952��'�*��������782���
���*'�,��<)� ���
 -9�	�+��=�����2��'(�����9������������782���
'���<)��2�8+ -9'(8+:�
7��������8+�:
���782���
'���<)�:�' 4<�7'952������)��������&���*'�<)��(* �	:���25� 30 % ��2��	��	
�������
782���
 ���+&��(���	��() 
  �	�+��=�8+�:���782���
�����+K� '(:9��=��	)�-'� ����8+�:���782���
 ��
�
����5� 118.24 
��:2����+��	' L<*���&��
�95� :9��=����(*�	)�-'� ��
�����5� 0.79 
��:2�
���+��	' �����
��9��+& 0.67 ���:9��=��	)�-'� 7+& :9��=�8	�7���	)�-'� ��
�����5� 117.45 

��:2����+��	' �����
��9��+& 99.33 '(8+:�
7��������8+�:���782���
 ��������9�=�G� ��
�
����5� 11.21 
��:2����+��	' 7+&'(������=�G� ��
�����5� 10.42 
��:2����+��	'��98+8+�:�=9'
�=� 4,385.17 ���+��	':2��! �����=9'�=� 118.24 
��:2����+��	' 
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  �	�+��=�8+�:���782���
�����+��'(:9��=��	)�-'� ����8+�:���782���
 
��
�����5� 115.80 
��:2����+��	' L<*���&��
�95�:9��=����(*�	)�-'� ��
�����5� 0.47 
��
:2����+��	' �����
��9��+& 0.40 ���:9��=��	)�-'� 7+&:9��=�8	�7���	)�-'� ��
�����5� 
115.33 
��:2����+��	' �����
��9��+& 99.60 '(8+:�
7��������8+�:���782���
 ��������9
�=�G� ��
�����5� 13.33 
��:2����+��	' 7+&'(������=�G� ��
�����5� 12.86 
��:2����+��	'��9
8+8+�:�=9'�=� 5,510.07 ���+��	':2��!�����=9'�=� 115.80 
��:2����+��	' 
  �	�+��=�8+�:���782���
���� -�2 '(:9��=��	)�-'� ����8+�:���782���
 
��
�����5� 123.28 
��:2����+��	' L<*���&��
�95� :9��=����(*�	)�-'� ��
�����5� 0.36 
��
:2����+��	' �����
��9��+& 0.29 ���:9��=��	)�-'� 7+&:9��=�8	�7���	)�-'� ��
�����5� 
122.92 
��:2����+��	' �����
��9��+& 99.71 '(8+:�
7��������8+�:���782���
 ��������9
�=�G� ��
�����5� 5.74 
��:2����+��	' 7+&'(������=�G���
�����5� 5.38 
��:2����+��	' ��9
8+8+�:�=9'�=� 18,589.55 ���+��	':2��! �����=9'�=� 123.28 
��:2����+��	' 

3) ���5�����&->:9��=�7+&8+:�
7�����8+�:���782���
 ��4�����@> �'�*�
�������782���
 7+&�����)�������+�+� 30 % L<*���=���952��'�*��������782���
+�+� ��� -9
�	�+��=�����2��'(�����9������������782���
+�+� �2�8+ -9'(8+:�
7��������8+�:���
782���
+�+�:�' 4<�7'952������)��������&+�+��(*�	:���25� 30 % ��2��	��	
�������782���
 
���+&��(���	��() 
  �	�+��=�8+�:���782���
�����+K�'(:9��=��	)�-'� ����8+�:���782���
 ��
�
����5� 66.45 
��:2����+��	' L<*���&��
�95� :9��=����(*�	)�-'� ��
�����5� 0.79 
��:2�
���+��	' �����
��9��+& 1.19 ���:9��=��	)�-'� 7+& :9��=�8	�7���	)�-'� ��
�����5� 65.66 

��:2����+��	' �����
��9��+& 98.81 '(8+:�
7��������8+�:���782���
 ��� �����9�=�G� 
��
�����5� 3.62 
��:2����+��	' 7+&'(������=�G� ��
�����5� 2.83 
��:2����+��	'��98+8+�:
�=9'�=� 13,579.49 ���+��	':2��! �����=9'�=� 66.45 
��:2����+��	' 
  �	�+��=�8+�:���782���
�����+��'(:9��=��	)�-'� ����8+�:���782���
 
��
�����5� 64.01 
��:2����+��	' L<*���&��
�95�:9��=����(*�	)�-'� ��
�����5� 0.47 
��:2�
���+��	' �����
��9��+& 0.73 ���:9��=��	)�-'� 7+&:9��=�8	�7���	)�-'� ��
�����5� 63.54 

��:2����+��	' �����
��9��+& 99.27 '(8+:�
7��������8+�:���782���
 ��������9�=�G� ��
�
����5� 5.74 
��:2����+��	' 7+&'(������=�G� ��
�����5� 5.27 
��:2����+��	' ��98+8+�:�=9'
�=� 12,796.04 ���+��	':2��!��9�����=9'�=� 64.01 
��:2����+��	' 
  �	�+��=�8+�:���782���
���� -�2'(:9��=��	)�-'� ����8+�:���782���
 
��
�����5� 67.46 
��:2����+��	' L<*���&��
�95� :9��=����(*�	)�-'� ��
�����5� 0.36 
��
:2����+��	' �����
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� 3. 5��L9���	� ����������(*������'242���� 
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� 1. 1-5 5	�    
� 2. 6-10 5	� 
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� 2. �'2����	�7-+2� 
� 3. �	)� 2 7

 
����& ���������������������������� 
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9�� (:�
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� 1. :+���+���������    
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=)�����������. 
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���� ��,�7

 � 
� 1. �������	��(   
� 2. ��K������� 
� 3. ���������9�
	��(G����� 
� 4. ��*� B (�&
=)�����������.   

11. ������� �,��52��)��������.� +& �����.�
�� 
12. ����5����782���
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� 1. �������782���
�,��52��)������� :*���=���..
��  �5	��	)� 
� 2. �������782���
�,��52��)������� �D+(*�:*���=����.
��  ���
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=)  1. ������������������������� 
           2�������������������������. 
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�  ����5�7����� ������������.�� 
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0	�*������ 4 
*+*+���	�,*&�%��������+�����	��&�� 

���+����*+���	�,*&�%����	%!+C� 
������ �.� 2552 G.� 2552 '.� 2553 �.� 2553 '(.� 2553 �'.� 2553 �.� 2554 '�.� 2553 �.� 2553 �.� 2553 �.� 2554 :.� 2553 �5' 

���
	/�	�*+���	�,*&�%�� (��#+���
) 4,275 5,700 7,600 7,600 475 475 475 2,375 8,313 8,313 8,313 8,313 62,225 
����5�782�����(*8+�: �7:2+&5	� (782�) 300 300 400 400 100 100 100 100 350 350 350 350 3,200 
����5����782���
�����	5����� (782�) 45 45 60 60 15 15 15 15 53 53 53 53 480 
����5�5	��(*8+�:���/����� (5	�) 15 20 20 20 5 5 5 25 25 25 25 25 215 

 

���+����*+���	�,*&�%����	%�+	� 
���
	/�	�*+���	�,*&�%�� (��#+���
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����5�782�����(*8+�: �7:2+&5	� (782�) 700 700 800 800 800 600 600 600 800 800 800 800 8,800 
����5����782���
�����	5����� (782�) 105 105 120 120 120 90 90 90 120 120 120 120 1,320 
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���+����*+���	�,*&�%����	%58�& 
���
	/�	�*+���	�,*&�%�� (��#+���
) 17,100 17,100 28,500 28,500 22,800 22,800 17,100 28,500 28,500 28,500 28,500 28,500 296,400 
����5�782�����(*8+�: �7:2+&5	� (782�) 1,200 1,200 1,200 1,200 1,200 1,200 1,200 1,200 1,200 1,200 1,200 1,200 14,400 
����5�5	��(*8+�:���/����� (5	�) 15 15 25 25 20 20 15 25 25 25 25 25 260 
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0	�*������ 5  
�	�	�	�,*&�%�� ,+��	�	�-�	�	��%5�����̀�	�*+�� 5���	��	�/����� 5���	��	�/�!1��
�E-� 30 % ,+�+%+� 30 % 

 

         
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

������ �.� 2552 G.� 2552 '.� 2553 �.� 2553 '(.� 2553 �'.� 2553 �.� 2554 '�.� 2553 �.� 2553 �.� 2553 �.� 2554 :.� 2553 �D+(*� 
�����)������� (�4�����@>����) 71 80 91 96 102 108 99 103 99 98 100 103 95.91 
�������782���
 (�4�����@>����) 77 84 93 96 101 112 106 110 100 99 103 106 98.97 
�����)������� (���*'�<)� 30 % ) 92 103 118 125 133 140 129 133 129 128 130 134 124.69 
�������782���
 (���*'�<)� 30 % ) 100 109 121 125 132 146 138 143 130 129 134 138 128.66 
�����)������� (+�+� 30 % ) 50 56 64 67 72 76 69 72 70 69 70 72 67.14 
�������782���
 (+�+�  30 % ) 54 59 65 67 71 79 74 77 70 69 72 75 69.28 
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(
��/�.�) 

�����'�*�L�)�/��9��
(
��/�.�.) 

���= �9���(�!) 
�2����*�'/ �! 
(
��/�.�) 

1. �&	#��!�>��/#���	��	� 100,000 15 6,667 300,000 15 20,000 600,000 30 0 

2.�&	!$&	#��!�>�� - - - - - - 50,000 - 50,000 

3.�(	�1�����	� - - - 30,000 15 2,000 - - - 

4.!��>���������%�	� ,�� 5 +)��+�-� 45,000 20 2,250 65,000 20 3,250 65,000 20 3,250 

5.������ 500,000 15 33,333 500,000 15 33,333 500,000 15 33,333 

6. �����/��	�*+���	�,*&�%�� 121,985 - 7,001 248,060 - 14,563 365,860 - 18,575 

6.1).4	� �2�)����� 2,000 5 400 - -  - - - 
6.2):&7��������)����� ���� 0.8  '�++��':� 3,500 10 350 3,500 10 350 3,500 10 350 
6.3):&���,� 92,000 30 3,067 176,000 30 5,867 264,000 30 8,800 
6.4) 
����5��)����� 200 3 67 300 3 100 500 3 167 
6.5)4	��+��:�� �2��� 135 2 68 60 2 30 180 2 90 
6.6)�'9��5:����� 3,000 5 600 10,500 5 2,100 9,000 5 1,800 
6.7)�	)�:����� (��l&���) - - - - - - 30,000 20 1,500 
6.8)�CJ'�)�� 3,000 10 300 7,000 10 700 7,000 10 700 
6.9)�2��=����&�)��
���+ - - - 25,000 10 2,500 - - - 
6.10)�2��=�
2��)����(� - - - 7,500 10 750 - - - 
6.11):,9�
�'����5H / :,9�
��� 4,500 5 900 4,500 5 900 30000 10 3000 
6.12)495��)����� �9 ����-�  % DRC 150 3 50 200 3 67 1680 10 168 
6.13):��	*����-� % DRC 3,500 5 700 3,500 5 700 20000 10 2000 
6.14):��	*��)������� 10,000 20 500 10,000 20 500 - - - 
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������ ����5� 
����/�2� �9�2��

(-�25�) 
����5�5	�8+�: 

��
����� 
��/
�! 

�&	,���	� �	���� 4 200 220 176,000 

�&	�-�	��% 5.2 +��� 42 - 47,863 

�&	�-�	 - 300 1 !%>�� 3,600 

�&	'HHI	 - 300 1 !%>�� 3,600 

�&	�-�	
��8+&�+>�� - - - 1,000 

�&	�-�	
���� - 5,020 1 !%>�� 60,240 

  - 2,880 1 ����� 34,560 
  - 2,140 1 ����� 25,680 
%��!��-�!����)( 500,000 2.75 1 � ̀ 13,750 

�&	,���	�5�����!�>��  1 �� 15,000 - 180,000 

�2�7��������8,9+��=�8+�:���
782���
 

1 �� 15,000 - 180,000 

 

�	�*+���	�,*&�%����	%�+	� 
   

������ ����5� 
����/�2� �9�2��

(-�25�) 
����5�5	�8+�: 

��
����� 
��/
�! 

�&	,���	� �	���� 2 �� 200 215 86,000 

�&	�-�	��% 3 +��� 42 - 27,090 

�&	�-�	 - 300 1 !%>�� 3,600 

�&	'HHI	 - 300 1 !%>�� 3,600 

�&	�-�	
��8+&�+>�� 1 ,�++�� 1,000 1 � ̀ 1,000 

�&	�-�	
���� - 2,000 1 !%>�� 24,000 

�&	,���	�5�����!�>��  1 �� 15,000 - 180,000 

�2�7��������8,9+��=�8+�:���
782���
 

1 �� 15,000 - 180,000 

 

 

0	�*������ 7 

�	�+�!���%�&	5$(�&	��	�*+���	�,*&�%��������+�����	��&�� 
     �	�*+���	�,*&�%����	%!+C�   
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0	�*������ 7 (�&�) 
 

�	�+�!���%�&	5$(�&	��	�*+���	�,*&�%����	%58�& 

������ ����5� 
����/�2� �9�2��

(-�25�) 
����5�5	�8+�: ��
����� 
��/�! 

�&	,���	� 4 15,000 260 124,800 

  1 250 - 65,000 
  3 230 - 59,800 
�&	�-�	��% 6.75 +��� 42 - 73,710 

�&	'HHI	 - 1,000 1 !%>�� 12,000 

�&	�-�	
��8+&�+>�� - - - 1,000 

�&	�-�	
���� - 3,000 1 !%>�� 36,000 

%��!��-�!����)( 500,000 �(��+� 7.5  1 � ̀ 37,500 

�&	,���	�5�����!�>��  2 25,000 1 !%>�� 300,000 

�2�7��������8,9+��=�8+�:���
782���
 

1 �� 15,000 1 ����� 180,000 

�2�7�����?�������
	��( 1 �� 10,000 1 ����� 120,000 
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